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 Type-1
1.

If x  ( ) ,2 1
1
3  then value of x

x
3

3
1










 is

Ùeefo x  ( )2 1
1
3 nw, lees x

x
3

3
1










 keâe ceeve keäÙee nesiee?

(a) 0 (b)  2 (c) 2 (d) 3 2
2. If x  3 8, then x

x
2

2
1

  is equal to

Ùeefo x  3 8 nw, lees x
x

2
2
1

 efkeâmekesâ yejeyej nesiee?

(a) 38 (b) 36 (c) 34 (d) 30
3. If x

x
 

9
6, then the value of x

x
2

2
9










 is

Ùeefo x
x
 
9
6 nw, lees x

x
2

2
9










 keâe ceeve %eele keâjW?

(a) 8 (b) 9 (c) 10 (d) 12
4.

If x
x
 

1
3, then the value of

x
x

x x

3

2

1

1



 
 is

Ùeefo x
x
 
1
3 nw, lees

x
x

x x

3

2

1

1



 
keâe ceeve keäÙee nesiee?

(a)
3
2

(b)
5
2

(c)
7
2

(d)
11
2

5. If x
x

4
4

1
119   and x  1, then the value of x

x
3

3
1

  is

Ùeefo x
x

4
4
1

119  Deewj x  1 nw, lees x
x

3
3
1

 keâe ceeve

%eele keâjW~
(a) 6 13 (b) 8 13 (c) 13 13 (d) 10 13

6. If x   2 2 21 3 2 3/ /  then the value of
x x x3 26 18 18    is
Ùeefo x   2 2 21 3 2 3/ / nw, lees x x x3 26 18 18  
keâe ceeve %eele keâjW~
(a) 22 (b) 33 (c) 40 (d) 45

7. If x
x
 

1
2 and x is real, then the value of x

x
17

19
1

  is

Ùeefo x
x
 
1
2 Deewj x JeemleefJekeâ mebKÙeeSW nQ, lees x

x
17

19
1



keâe ceeve keäÙee nesiee?
(a) 1 (b) 0 (c) 2 (d) 2

8. If n  7 4 3, then the value of n
n










1
 is :

Ùeefo n  7 4 3 nw, lees n
n












1 keâe ceeve %eele keâjW~

(a) 2 3 (b) 4 (c) 4 (d) 2 3
9. If x

x
x  

1
2 0,  then value of x

x
2

3
1

  is equal to :

Ùeefo x
x

x  
1
2 0, nw, lees x

x
2

3
1

 keâe ceeve efkeâmekesâ

yejeyej nw
(a) 1 (b) 2 (c) 3 (d) 4

10. If a
a
 

1
3 then the value of a

a
6

6
1

2   will be

Ùeefo a
a
 
1

3 nw, lees a
a

6
6
1

2  keâe ceeve keäÙees nesiee?

(a) 1 (b) 2 (c) 3 3 (d) 5
11. If x is real, x

x
 

1
0 and x

x
3

3
1

0  then the value of

x
x









1 4
 is

Ùeefo x JeemleefJekeâ mebKÙee nw leLee x
x
 
1
0 Deewj

x
x

3
3
1

0  nw, lees x
x








1 4

keâe ceeve %eele keâjW~

(a) 4 (b) 9 (c) 16 (d) 25
12. If x

x
 

1
3, then the value of x

x
5

5
1










 is

Ùeefo x
x
 
1
3 nw, lees x

x
5

5
1










 keâe ceeve %eele keâjW~

(a) 322 (b) 126 (c) 123 (d) 113
13. The min i mum value of ( )( )x x 2 9  is

( )( )x x 2 9 vÙetvelece ceeve keäÙee nesiee?
(a) 

11
4

(b)
49
4

(c) 0 (d) 
49
4

14. If x
x
 

1
3, then the value of x

x
5

5
1










 is

Ùeefo x
x
 
1
3 nw, lees x

x
5

5
1










 keâe ceeve %eele keâjW~

(a) 322 (b) 126 (c) 123 (d) 113
15. If x  1 and x

x
2

2
1

83   then x
x

3
3

1
  is

Ùeefo x  1 Deewj x
x

2
2
1

83  nw, lees x
x

3
3
1


 ?

(a) 764 (b) 750 (c) 756 (d) 760

ALGEBRA (yeerpeieefCele) 1



16.
If a

a







 

1
3

2
, then a

a
3

3
1

  ?

Ùeefo a
a







 
1

3
2

 nw, lees a
a

3
3
1

  ?

(a) 2 3 (b) 2 (c) 3 3 (d) 0
17. If x

x







 

1
4, then the value of x

x
4

4
1

  is

Ùeefo x
x







 
1

4 nw, lees x
x

4
4
1

  keâe ceeve %eele keâjW~

(a) 64 (b) 194 (c) 81 (d) 124
18. If x  1, then the value of

1 1 1 1 1 1
1

99 98 97 96 95 64x x x x x x x
     

Ùeefo x  1
1 1 1 1 1 1

1
99 98 97 96 95 64x x x x x x x

       keâe

ceeve %eele keäÙee nesiee?
(a) 1 (b) 0 (c) 2 (d) 1

19. If x  2 33 , then the value of x
x

3
3

1
  is

Ùeefo x  2 33  nw, lees x
x

3
3
1

  keâe ceeve %eele keâjW~

(a) 8 (b) 9 (c) 2 (d) 4
20. If x

x
 

1
2, then the value of x

x
x

x
2

2
3

3
1 1










 








 is

Ùeefo x
x
 
1
2 nw, lees x

x
x

x
2

2
3

3
1 1










 








 keâe ceeve %eele

keâjW~
(a) 20 (b) 4 (c) 8 (d) 16

21. If x
x

3 3
4  ( )a b3 3 , and 3

1
4

3
x
x
  ( )a b3 3 ,

then a b2 2  is equal to

Ùeefo x
x

a b3 3 33
4  ( ) Deewj 3 1

4
3

x
x
  ( )a b3 3

nw, lees a b2 2  efkeâmekesâ yejeyej nw
(a) 4 (b) 0 (c) 1 (d) 2

22. If x
x

 6
1

, then the value of x
x

4
4

1
2   is

Ùeefo x
x

 6
1 nw, lees x

x
4

4
1

2   keâe ceeve %eele keâjW~

(a) 1448 (b) 1442 (c) 1444 (d) 1446
23. If x  3

1

3
 and y  3

1

3
, then the value of

x
y

y
x

2 2
  is

Ùeefo x  3
1

3
 Deewj y  3

1

3
 nw, lees x

y
y
x

2 2
  keâe

ceeve keäÙee nesiee?
(a) 3 (b) 3 3 (c) 16 3 (d) 2 3

24.
If x

x
 

1
1, then the value of

x
x

x x

4
2

2

1

3 5 3



 

Ùeefo x
x
 
1
1 lees

x
x

x x

4
2

2

1

3 5 3



 
 keâe ceeve %eele keâjW~

(a)
1
4

(b)
1
2

(c)
3
4

(d) 0

25. If x
x

2
2

1
66  , then the value of

x x
x

2 1 2 
 ?

Ùeefo x
x

2
2
1

66  , lees x x
x

2 1 2 
 ?

(a) 8 (b) 10 6, (c) 6 10, (d) 4
26. If x

x
 

2
1, then the value of

x x

x x

2

2
2

1

 

( )
 is

Ùeefo x
x
 
2
1 nw, lees x x

x x

2

2
2

1

 

( )
 keâe ceeve %eele keâjW~

(a) 1 (b) 1 (c) 2 (d) 2
27. If x

x
 

1
2, then the value of x

x
x

x
2

2
3

3
1 1










 








 is

Ùeefo x
x
 
1
2 nw, lees x

x
x

x
2

2
3

3
1 1










 








 keâe ceeve %eele

keâjW~
(a) 20 (b) 4 (c) 8 (d) 16

28. If x
x
 

1
5, then x

x
6

6
1

  is

Ùeefo x
x
 
1
5 nw, lees x

x
6

6
1

  ?

(a) 12098 (b) 12048 (c) 14062 (d) 12092
29.

If a
a







 

1
3

2
, then the value of a

a
3

3
1

  is

Ùeefo a
a







 
1

3
2

 nw, lees a
a

3
3
1

  keâe ceeve %eele keâjW~

(a) 0 (b) 1 (c) 2 (d) 6
30. If x

x
 

1
3, then the value of

3 4 3

1

2

2
x x

x x

 

 
 is

Ùeefo x
x
 
1
3 nw, lees 3 4 3

1

2

2
x x

x x

 

 
 keâe ceeve %eele keâjW~

(a)
4
3

(b)
3
2

(c)
5
2

(d)
5
3

31. If x  1 and x
x
 

1
2

1
12

, then the value of x
x

4
4

1
  is

Ùeefo x  1 Deewj x
x
 
1
2
1
12

 nw, lees x
x

4
4
1

  keâe ceeve %eele

keâjW~
(a)

58975
20736

(b)
59825
20736

(c)
57985
20736

(d)
57895
20736

32. If t t2 4 1 0   , then the value of t
t

3
3
1

  is

Ùeefo t t2 4 1 0    nw, lees t
t

3
3
1

  keâe ceeve %eele keâjW~

(a) 44 (b) 48 (c) 52 (d) 64
33. If

x

x

24

12
1

7

  then the value of

x

x

72

36
1
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Ùeefo x
x

24

12
1
7


  nw, lees x

x

72

36
1  keâe ceeve %eele keâjW~

(a) 343 (b) 433 (c) 432 (d) 322
34. If P  99 then the value of P P P( )2 3 3 

Ùeefo P  99 nw, lees P P p( )2 3 3   keâe ceeve keäÙee nesiee
(a) 989898 (b) 998889 (c) 988899(d) 999999

35. If 4
4

3 0a
a
   , then the value of a

a
3

3
1

3   ?

Ùeefo 4 4
3 0a

a
    nw, lees a

a
3

3
1

3   ?

(a)
7
16

(b)
3

16
(c)

21
64

(d)
21
16

36. If x
x
 

1
2 then the value of x

x
12

12
1

  is :

Ùeefo x
x
 
1
2 nw, lees x

x
12

12
1

  keâe ceeve %eele keâjW~

(a) 4 (b) 4 (c) 2 (d) 0
37. If x

x
 

1
1, then the value of

x x

x x

2

2
3 1

7 1

 

 
 is

Ùeefo x
x
 
1
1 nw, lees x x

x x

2

2
3 1

7 1

 

 
 keâe ceeve %eele keâjW~

(a)
1
2

(b)
3
7

(c) 2 (d) 3

38. If x
x

 




 

1
2, then the value of x

x
7

5
1










 is :

Ùeefo x
x

 




 
1

2 nw, lees x
x

7
5
1










 keâe ceeve %eele keâjW~

(a) 25 (b) 212 (c) 2 (d) 27

39. If
2

2 1

1
42

p

P P 
 , then the value of p

p












1
 is

Ùeefo 2

2 1

1
42

p

P P 
  nw lees p

p











1  keâe ceeve keäÙee nw?

(a) 7 (b) 1 (c)
2
5

(d) 10

40. If x  5, then the value of the ex pres sion x
x

2
2

2
1

   is

Ùeefo x  5 nw, lees JÙebpekeâ x
x

2
2

2
1

   keâe ceeve nw?

(a)
576
25

(b)
24
25

(c)
24
5

(d)
625
24

41. If for non-zero x x x, 2 4 1 0    the value of is
x

x
2

2
1

  ?

Ùeefo x MetvÙeslej kesâ efueS, x x2 4 1 0   , lees x
x

2
2
1

  ?

(a) 4 (b) 10 (c) 12 (d) 18
42. If x

x
 

1
3 then the value of x

x
5

5
1

  is

Ùeefo x
x
 
1
3 lees x

x
5

5
1

  keâe ceeve yeleeFS

(a) 123 (b) 110 (c) 132 (d) 122
43. If a

a
 

1
3 then the value of a

a
52

52
1

  is

Ùeefo a
a
 
1

3 nw lees a
a

52
52
1

  keâe ceeve keäÙee nesiee?

(a) 1 (b) 0 (c) 1 (d) 2
44. If x

x
2

2
1

1   then the value of

x x x x x x102 96 90 84 78 72 5       is

Ùeefo x
x

2
2
1

1   nw lees

x x x x x x102 96 90 84 78 72 5       keâe ceeve keäÙee
nesiee?
(a) 0 (b) 5 (c) 3 (d) 1

45. Find the min i mum value of x which the ex pres sion
x x x3 27 11 5 0   
x keâe vÙetvelece ceeve %eele keâjW pees meceerkeâjCe
x x x3 27 11 5 0     keâes mebleg<š keâjW~
(a) 0 (b) 5 (c) 1 (d) 3

46. If x
x

2
2

1
1  , then the value of x x x18 12 6 1    is

Ùeefo x
x

2
2
1

1  , lees x x x18 12 6 1    keâe ceeve efkeâlevee

nesiee?
(a) 1 (b) 2 (c) 0 (d) 1

47. If for a non-zero x, 3 5 3 02x x   , then the value of
x

x
3

3
1



Ùeefo efkeâmeer iewj MetvÙe x nsleg 3 5 3 02x x    nw lees
x

x
3

3
1

  keâe ceeve nesiee

(a)
10
27

(b) 






10
27

(c)
2
3

(d) 






2
3

 Answer key

1. (c) 2. (c)  3. (c) 4. (c) 5. (d) 6. (c) 7. (c)  8. (b) 9. (b) 10. (b)
11. (b) 12. (c) 13. (d) 14. (c)  15. (c)  16. (d)  17. (b)  18. (c)  19. (d)  20. (b)

 21. (c)  22. (b)  23. (b) 24. (b)  25. (b)  26. (a)  27. (b)  28. (a)  29. (a) 30. (c)
 31. (a) 32. (c)  33. (d)  34. (d)  35. (c)  36. (d)  37. (a)  38. (c)  39. (d) 40. (a)
 41. (d) 42. (a)  43. (a)  44. (b)  45. (c)  46. (c)  47. (a)
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 TYPE 2
1. If

2
4

3
a b
a b



 , then find the value of
a b
a b

 2

Ùeefo 2
4

3
a b
a b



 , lees a b
a b

 2

 keâe ceeve %eele keâjW~

(a)
5
9

(b)
2
7

(c)
10
9

(d)
10
7

2. If x y x y  3 2  Then 2 3 3 4    is equal to
Ùeefo x y x y  3 2  nw, lees 2 3 3 4     efkeâmekesâ yejeyej
nw?
(a) 18 (b) 29 (c) 32 (d) 38

3. Given that 10 100 48 070. ., x y and x yz  2, then the
value of z is close to
10 100 48 0 70. ., x y Deewj x yz  2 efoÙee ieÙee nw, lees x
efkeâmekesâ efvekeâšlece nw?
(a) 1.45 (b) 1.88 (c) 2.9 (d) 3.7

4. If x y x y xy*   2 2 , then the value of 9 11*  is
Ùeefo x y x y xy*   2 2  nw, lees 9 11*  keâe ceeve keäÙee
nesiee?
(a) 93 (b) 103 (c) 113 (d) 121

5. If
2

2
1
2

x y
x y



 , then value of
3
3
x y
x y



 is :

Ùeefo 2
2

1
2

x y
x y



  nw, lees 3
3
x y
x y



 keâe ceeve %eele keâjW?

(a)
1
5

(b)
3
5

(c)
4
5

(d) 1

6.
If 1 5 0 04. . ,x y  then the value of

y x

y xy x

2 2

2 22



 
 is

Ùeefo 1 5 004. .x y  nw, lees y x

y xy x

2 2

2 22



 
 keâe ceeve keäÙee

nesiee?
(a)

730
77

(b)
73
77

(c)
73

770
(d)

74
77

7. If x y
x y

2 2
2 2

1 1
4    , then the value ofx y2 2  is

Ùeefo x y
x y

2 2
2 2
1 1

4     nw, lees x y2 2  keâe ceeve

keäÙee nesiee?
(a) 2 (b) 4 (c) 8 (d) 16

8. If a b b a2 2 2 4 5 0     , then the value of
a b
a b



 is

Ùeefo a b b a2 2 2 4 5 0      nw, lees a b
a b



 keâe ceeve %eele

keâjW~
(a) 3 (b) 3 (c)

1
3

(d) 
1
3

9. If x y x y2 2 4 4 8 0     , then the value of x y  is
Ùeefo x y x y2 2 4 4 8 0      nw, lees x y  keâe ceeve keäÙee
nesiee?
(a) 4 (b) 4 (c) 0 (d) 8

10. If
1 1 1

0 0
x y x y

x y x y

    ( , , ) then the value of

x y3 3  is

Ùeefo 1 1 1
0 0

x y x y
x y x y


    ( , , ) nw, lees

x y3 3  keâe ceeve keäÙee nw?
(a) 0 (b) 1 (c) 1 (d) 2

11. If xy x y( ) ,  1  then the value of
1

3 3
3 3

x y
x y   is :

Ùeefo xy x y( )  1 nw, lees 1
3 3

3 3

x y
x y   keâe ceeve %eele

keâjW~
(a) 0 (b) 1 (c) 3 (d) 2

12. If x y  2, yx  24, then the value of ( )x y2 2  is
Ùeefo x y  2, xy  24 nw, lees ( )x y2 2  keâe ceeve %eele
keâjW~
(a) 25 (b) 36 (c) 63 (d) 52

13. If x y3 3 35   and x y  5, then the value of
1 1
x y


will be :

Ùeefo x y3 3 35   Deewj x y  5 nw, lees 1 1
x y
  keâe ceeve

keäÙee nesiee?
(a)

1
3

(b)
5
6

(c) 6 (d)
2
3

14. If a b3 3 56   and a b  2 then value of a b2 2  will
be :
Ùeefo a b3 3 56   Deewj a b  2 nw, lees a b2 2  keâe ceeve
keäÙee nesiee?
(a) 48 (b) 20 (c) 22 (d) 5

15. If x y x2 2 1 2   , then the value of x y3 5  is
Ùeefo x y x2 2 1 2    nw, lees x y3 5  keâe ceeve %eele keâjW~
(a) 2 (b) 0 (c) 1 (d) 1

16. If a b3 3 9   and a b  3, then the value of
1 1
a b
  is

Ùeefo a b3 3 9   Deewj a b  3 nw, lees 1 1
a b
  keâe ceeve %eele

keâjW~
(a)

1
2

(b)
3
2

(c)
5
2

(d) 1

17. If 5 9 5x y   and 125 729 1203 3x y  , then the value
of the prod uct of x and y is
Ùeefo 5 9 5x y   Deewj 125 729 1203 3x y   nw, lees x
leLee y kesâ iegCeveheâue keâe ceeve keäÙee nesiee~
(a) 45 (b) 1/9 (c) 1/135 (d) 135

18. If m n 5 2, the value of ( )m n3 3125 30  mn  is
Ùeefo m n 5 2 nw, lees ( )m n3 3125 30  mn  keâe ceeve
keäÙee nesiee?
(a) 6 (b) 7 (c) 8 (d) 9
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19. If 999 888 1332x y   and 888 999 555x y 
Then the valu eof x y  is
Ùeefo 999 888 1332x y   Deewj 888 999 555x y 
nw, lees x y  keâe ceeve %eele keâjW~
(a) 888 (b) 1 (c) 555 (d) 999

20. If x y





1

2 3

1

2 3
, , then the value of

8 2 2xy x y( )  is

Ùeefo x y





1

2 3

1

2 3
,  nw, lees 8 2 2xy x y( )  keâe

ceeve keäÙee nesiee?
(a) 112 (b) 194 (c) 290 (d) 196

21. The sum of
1
x y

 and
1
x y

 is

1
x y

 Deewj 1
x y

 keâe Ùeesie nw

(a)
2

2 2
y

x y
(b)

2
2 2
x

x y

(c)




2
2 2
y

x y
(d)

2
2 2
x

y x

22. If x y: : 3 5 and x y  2, then the value of x y  is
:
Ùeefo x y: : 3 5 Deewj x y  2 lees x y  keâe ceeve keäÙee
nesiee?
(a) 8 (b) 2 (c) 3 (d) 5

23. If x   1 2 3 and y   1 2 3, then the value

of
x xy y

x y

2 24 


 is

Ùeefo x   1 2 3 Deewj y   1 2 3, lees
x xy y

x y

2 24 


 keâe ceeve keäÙee nesiee?

(a) 2 2 (b) 2 2 2( ) (c) 1 (d) 6
24. If a b 6 3 then the value of a b ab3 3216 54   is

Ùeefo a b 6 3 nw, lees a b ab3 3216 54   keâe ceeve nesiee?
(a) 9 (b) 1 (c) 27 (d) 64

 Answer Key

1. (c) 2. (b)  3. (c) 4. (b) 5. (b) 6. (b) 7. (a)  8. (c) 9. (c) 10. (a)
11. (c) 12. (d) 13. (b) 14. (b)  15. (d)  16. (b)  17. (c)  18. (b)  19. (b)  20. (b)

 21. (b)  22. (a)  23. (d) 24. (c)
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 type-3
1. If A B C: : : : 2 3 4, then

A
B
B
C
C
A

: :  is equal to

Ùeefo A B C: : : : 2 3 4 nw, lees A
B
B
C
C
A

: :  efkeâmekesâ yejeyej

nw?
(a) 8 9 16: : (b) 8 9 12: :
(c) 8 9 24: : (d) 4 9 16: :

2. If x y z  2  then the value of
x
x z

z
y z



 is

Ùeefo x y z  2  nw, lees x
x z

z
y z



 keâe ceeve %eele keâjW~

(a) 1 (b) 3 (c)
1
2

(d) 2

3. If a b abc3 180  , a b c, ,  are pos i tive in te gers, then the
value of c is
Ùeefo a b abc3 180   nw Deewj a b c, ,  Oeveelcekeâ hetCeeËkeâ nw lees
c keâe ceeve %eele keâjW~
(a) 110 (b) 180 (c) 4 (d) 25

4. If ax bc c a x p2 2   ( ) , then the re la tion among
a b c, ,  would be
Ùeefo ax bx c a x p2 2   ( )  nw, lees a b c, ,  keâe mebyebOe
keäÙee nesiee?
(a) abc  1 (b) b ac2 
(c) b ac2 4 (d) 2b a c 

5. If a b c   0, then the value of
a b c

a bc

2 2 2

2
 


 is

Ùeefo a b c   0 nw, lees a b c

a bc

2 2 2

2
 


 keâe ceeve %eele keâjW~

(a) 0 (b) 1 (c) 2 (d) 3
6. If

a
a

b
b

c
c1 1 1

1





 , then the value of

1
1

1
1

1
1




a b c

 is

Ùeefo a
a

b
b

c
c1 1 1
1






 , nw, lees 1

1
1
1

1
1




a b c

keâe ceeve %eele keâjW~
(a) 1 (b) 2 (c) 3 (d) 4

7. If ( ) ( ) ( )x y z     3 5 4 02 2 2  then the value of
x y z2 2 2

9 25 16
   is

Ùeefo ( ) ( ) ( )x y z     3 5 4 02 2 2  nw, lees
x y z2 2 2

9 25 16
   keâe ceeve keäÙee nesiee?

(a) 12 (b) 9 (c) 3 (d) 1
8. If

4 3 4 3 4 3
0

x
x

y
y

z
z








  then the value of

1 1 1
x y z
   is

Ùeefo 4 3 4 3 4 3
0

x
x

y
y

z
z








  nw, lees 1 1 1

x y z
   keâe

ceeve keäÙee nesiee?
(a) 9 (b) 3 (c) 4 (d) 6

9. If x y z y z x z x y2 2 2     , , , then the value of
1

1
1

1
1

1x y z





Ùeefo x y z y z x z x y2 2 2     , , , nw lees
1
1

1
1

1
1x y z






 keâe ceeve keäÙee nesiee?

(a) 1 (b) 1 (c) 2 (d) 41
10.

If xy yz zx   0, then
1 1 1

2 2 2x yz y zx z xy



















( , , )x y z  0
Ùeefo xy yz zx   0, lees
1 1 1
2 2 2x yz y zx z xy

















 ( , , )x y z  0  efkeâmekesâ

yejeyej nw~
(a) 3 (b) 1 (c) x y z  (d) 0

11. If x y 0 0,  and z  0 and
1 1 1
2 2 2x y z
 

  
1 1 1
xy yz zx

 then the re la tion among x y z, ,  is

Ùeefo x y 0 0,  Deewj z  0
1 1 1
2 2 2x y z
 

  
1 1 1
xy yz zx

 nw, lees x y z, ,  kesâ yeerÛe keâe mebyebOe keäÙee nw?

(a) x y z   0 (b) x y z 

(c)
1 1 1

0
x y z
   (d) x y z 

12. If x a b y b c z c a     , , , then the nu mer i cal
val ues of the al ge braic ex pres sion x y z xyz3 3 3 3  
will be
Ùeefo x a b y b c z c a     , , , nw, lees yeerpeieefCeleerÙe
JÙebpekeâ x y z xyz3 3 3 3    keâe Deebefkeâkeâ ceeve %eele keâjW~
(a) a b c  (b) 0
(c) 4( )a b c  (d) 3abc

13. If a b c a b c2 2 2 2 3     ( )  then the value of
4 3 5a b c   is
Ùeefo a b c a b c2 2 2 2 3     ( )  nw, lees
4 3 5a b c   keâe ceeve %eele keâjW~
(a) 2 (b) 3 (c) 5 (d) 6

14. If ab bc ca   0, then the value of
1 1 1

2 2 2a bc b ac c ab






 is

Ùeefo ab bc ca   0, nw, lees
1 1 1
2 2 2a bc b ac c ab







 keâe ceeve keäÙee nesiee

(a) 2 (b) 1 (c) 0 (d) 1
15. If

b c
a

a c
b

a b
c






 1 and a b c   0 then which

one of the fol low ing re la tions is true?
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Ùeefo b c
a

a c
b

a b
c






 1 Deewj a b c   0 nw, lees

efvecve ceW mes keâewve-mee mebyebOe mener nw?
(a)

1 1 1
c a b
  (b)

1 1 1
a b c
 

(c)
1 1 1
b a c
  (d)

1 1 1
b a c
 

16. If Ùeefo a b c d    4, then find the value of
1

1 1 1
1

1 1 1( )( )( ) ( )( )( )  

  


a b c b c d

1
1 1 1( )( )( )  


c d a

1
1 1 1( )( )( )  d a b

keâe ceeve %eele

keâjW~
(a) 0 (b) 5 (c) 1 (d) 4

17. If 3 2 2 2 2( ) ( )a b c a b c      then the re la tion
be tween a, b and c is
Ùeefo 3 2 2 2 2( ) ( )a b c a b c     nw, lees a b, Deewj c
kesâ yeerÛe keâe mebyebOe nw?
(a) a b c  (b) a b c 
(c) a b c  (d) a b c 

18. If a b c   0, then the value of
( ) ( ) ( )a b c b c a c a b       2 2 2 is
Ùeefo a b c   0 nw, lees ( ) ( )a b c b c a    2 2

  ( )c a b 2 keâe ceeve %eele keâjW~
(a) 0 (b) 8abc
(c) 4 2 2 2( )a b c  (d) 4( )ab bc ca 

19. If a b c   14 then the value of
2 2 22 2 2 2 2 2 4 4 4b c c a a b a b c    
Ùeefo a b c   14 nw, lees 2 2 22 2 2 2 2 2b c c a a b 
  a b c4 4 4 keâe ceeve %eele keâjW~
(a) 28 (b) 0 (c) 14 (d) 7

20. If x y z  332 333 335, , , then the value of
x y z xyz3 3 3 3    is
Ùeefo x y z  332 333 335, , , leye x y z3 3 3 
3xyz keâe ceeve %eele keâjW?
(a) 7000 (b) 8000 (c) 9000 (d) 10000

21. If a b c ab bc ca2 2 2     , then the value of
a c
b


 is

Ùeefo a b c ab bc ca2 2 2     , nw, lees a c
b
 keâe ceeve

keäÙee nesiee?
(a) 0 (b) 2 (c) 1 (d) 3

22. 3 2 2 2 2( ) ( ) ,a b c a b c      then the re la tion
be tween a b,  and c is
Ùeefo 3 2 2 2 2( ) ( ) ,a b c a b c     nw, lees a b, Deewj c
kesâ yeerÛe keäÙee mebyebOe nw?
(a) a b c  (b) a b c 
(c) a b c  (d) a b c 

23. For real a b c, ,  if a b c ab bc ca2 2 2     , the value of
a c
b


 is :

JeemleefJekeâ a b c, , kesâ efueS Ùeefo a b c2 2 2   ab bc

ca, nw lees a c
b
 keâe ceeve nw

(a) 2 (b) 1 (c) 0 (d) 3
24. If

x
x

a
b





1
1

 and
1
1




y
y
b
a

, then the value of
x y
xy

1

 is

Ùeefo x
x

a
b




1
1

Deewj 1
1




y
y
b
a
, lees x y

xy

1

keâe ceeve keäÙee

nesiee?

(a)
a b
ab

2 2
(b)
a b
ab

2 2

2


(c)
a b
ab

2 2

2


(d)
2

2 2
ab

a b
25. If x a b c y b c a z c a b     ( ), ( ), ( ) then the value of

x
a

y
b

z
c






 






 








3 3 3
 is :

Ùeefo x a b c y b c a z c a b     ( ), ( ), ( ) nQ, lees
x
a

y
b

z
c






 






 








3 3 3
keâe ceeve nw

(a)
xyz
abc

(b) 0 (c)
3xyz
abc

(d)
2 xyz
abc

26.
If
x
y
a
a




2
2

, then the value of
x y

x y

2 2

2 2




Ùeefo x
y
a
a



2
2

nw lees , x y

x y

2 2

2 2



keâe ceeve nw

(a)
2

22
a

a 
(b)

4

42
a

a 
(c)

2

42
a

a 
(d)

4

22
a

a 
27.

If x y z  , then
( )x y z

x y z

 

 

2

2 2 2
 is :

Ùeefo x y z  nQ, lees ( )x y z

x y z

 

 

2

2 2 2
nw :

(a) 2 (b) 3 (c) 1 (d) 4
28. If a b c   26 and ab bc ca   109, find the value of

a b c2 2 2 
Ùeefo a b c   26 Deewj ab bc ca   109, lees
a b c2 2 2  keâe ceeve %eele keâjW?
(a) 458 (b) 472 (c) 452 (d) 476

29. a b c   0 then the value of
a b c
ab bc ca

2 2 2 
 

 is

Ùeefo a b c   0 lees a b c
ab bc ca

2 2 2 
 

keâe ceeve efkeâlevee nesiee?

(a) 2 (b) 2 (c) 0 (d) 4

 answer key

1. (c) 2. (a)  3. (b) 4. (c) 5. c() 6. (d) 7. (c)  8. (c) 9. (b) 10. (d)
11. (d) 12. (b) 13. (a) 14. (c)  15. (b)  16. (a)  17. (a)  18. (c)  19. (b)  20. (a)

 21. (b)  22. (d)  23. (a) 24. (d)  25. (c)  26. (b)  27. (b)  28. (a)  29. (b)

ALGEBRA (yeerpeieefCele) 7



 Type 1

1. Which one of the fol low ing is true for 0 90   ?

0 90   kesâ efueS FveceW keâewve melÙe nw?
(a) cos cos  2 (b) cos cos  2

(c) cos cos  2 (d) cos cos  2

 Type 2
2. If  be an acute an gle and 7 3 42 2sin cos   ,then

the value of tan  is
Ùeefo  Skeâ vÙetvekeâesCe nw Deewj 7 3 42 2sin cos   nw lees
tan  keâe ceeve %eele keâjW~
(a) 3 (b)

1
3

(c) 1 (d) 0

3. If tan  
4
3
. then the value of

3 2
3 2

sin cos
sin cos
 
 



 is

(a) 0.5 (b) 0 5. (c) 3.0 (d) 30.
4. The value of

cot cot

tan tan

30 75

15 60

 

 



 is

(a) 0 (b) 1 (c) 3 1 (d) 1
5. The value of is ( cos )

tan
tan

tan
tan

2 1
1
1

1
1

2 




















 keâe

ceeve %eele keâjW~
(a) 4 (b) 1 (c) 3 (d) 2

6. The prod uct cos cos cos cos . . . cos1 2 3 4 100      is
equal to

(a) 1 (b)
1
4

(c) 1 (d) 0

7. The value of
4

1

1

1
3

2 2
2






tan cot

sin
 

 is

(a) 4 (b) 1 (c) 2 (d) 3
8. If r rsin , cos  1 3, then the value of ( tan )3 1 

is

Ùeefo r rsin , cos  1 3 nw, lees ( tan )3 1  keâe
ceeve keäÙee nesiee?
(a) 3 (b)

1
3

(c) 1 (d) 2

9. If x 

cos

sin

1
, then

cos
sin

1 
 is equal to

(a) x 1 (b)
1
x

(c)
1

1x 
(d)

1
1  x

10. If tan  
1

11
 and 0

2
  


, then the value of

cos sec

cos sec

ec

ec

2 2

2 2
 

 




 is

Ùeefo tan  
1

11
Deewj 0

2
  

 nw, lees

cos sec

cos sec

ec

ec

2 2

2 2
 

 




keâe ceeve keäÙee nesiee?

(a)
3
4

(b)
4
5

(c)
5
6

(d)
6
7

11. If tan tanA n B  and sin sinA m B , then the value of
cos2 A is

Ùeefo tan tanA n B Deewj sin sinA m B  lees cos2 A
keâe ceeve keäÙee nesiee?

(a)
m

n

2

2
1

1




(b)
m

n

2

2
1

1




(c)
m

n

2

2
1

1




(d)
m

n

2

2
1

1





 Type 3
12. The value of tan . tan . tan . tan4 43 47 86    is

tan . tan .tan .tan4 43 47 86    keâe ceeve keäÙee nesiee?
(a) 2 (b) 3 (c) 1 (d) 4

13. The value of cot . tan( ) sec( )

cos (sin sin )

  



90 90

25 652 2

 


  

 ec

 3 5 15 30 75 85(tan tan .tan .tan . tan )    

(a) 1 (b) 1 (c) 2 (d) 0
14. If tan tan7 2 1   , then the value of tan 3 is

Ùeefo tan tan7 2 1   nw lees tan3 keâe ceeve %eele keâjW~

(a) 3 (b) 
1
3

(c)
1
3

(d)  3

15. The value of tan tan tan tan10 15 75 80    is

tan tan tan tan10 15 75 80    keâe ceeve nw?
(a) 0 (b) 1 (c) 1 (d) 2

16. tan . tan2 3 1   0 90    then the value of  is

(a) 22 1
2


(b) 18 (c) 24  (d) 30 

17. The value of sin sin cot2 2 222 68 30     is :
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(a) 5/4 (b) 3/4 (c) 3 (d) 4
18. If cos20  m and cos70  n, then the value of

m n2 2  is

Ùeefo cos20  m Deewj cos70   n nw, lees m n2 2 keâe
ceeve yeleeSB~

(a)
1
2

(b) 1 (c)
3
2

(d)
1
2

19. The value of cos cos cos . . . cos1 2 3 180     is

(a)
1
2

(b) 0 (c) 1 (d)
3
2

 Type 4
20. tan cot

tan cot
,( )

 
 





  2 0 90  then the value of sin  is

tan cot
tan cot

,( )
 
 





  2 0 90  nw, lees sin  keâe ceeve %eele

keâjW~

(a)
2
3

(b)
3
2

(c)
1
2

(d) 1

21. If
sin cos
sin cos
 
 



 3 then the value of sin cos4 4   is

(a)
1
5

(b)
3
5

(c)
2
5

(d)
4
5

22. If
sin cos
sin cos
 
 




5
4
, the value of

tan

tan

2

2
1

1








 is

Ùeefo sin cos
sin cos
 
 




5
4

nw, lees tan

tan

2

2
1

1








keâe ceeve keäÙee

nesiee?
(a)

25
16

(b)
41
9

(c)
41
40

(d)
40
41

 Type 5
23. If A  tan11 tan , cos29 2 61 B  cot79 , then;

Ùeefo A  tan11 tan , cos29 2 61 B  cot79  nw lees
(a) A B 2 (b) A B 2
(c) 2A B (d) 2A B 

24. If 2 12 2(cos sin ) ,   is a pos i tive acute an gle, then
the value of  is
Ùeefo 2 12 2(cos sin ) ,   nw Deewj Oeveelcekeâ vÙetvekeâesCe nw,
lees  keâe ceeve %eele keâjW~
(a) 60 (b) 30 (c) 45 (d) 22

1
2

25. If tan( ) cot2 45 3   , where ( ) cot2 45 3    are
acute an gles, then the value of  is
Ùeefo tan( ) cot2 45 3   peneB ( ) cot2 45 3  

keâesCe vÙetvekeâesCe nw, lees  keâe ceeve %eele keâjW~
(a) 5 (b) 9 (c) 12 (d) 15

26. If 2
2

12
2

sin
x

x
x






   , then the value of x

x









1
 is

Ùeefo 2
2

12
2

sin
x

x
x






   nw, lees x

x









1 keâe ceeve %eele

keâjW~
(a) 1 (b) 2 (c) 1 (d) 0

27. If x y ecsin cos45 30  , then
x

y

4

4
 is equal to

Ùeefo x y ecsin cos45 30  nw lees x
y

4

4
efkeâmekesâ yejeyej nw?

(a) 43 (b) 6 3 (c) 23 (d) 83

28. If   60 , then
1
2

1
1
2

1  sin sin  is equal to

(a) cot 
2

(b) sec 
2

(c) sin 
2

(d) cos 
2

29. If x sin tan tan60 30 2   45 60 30   cos cotec
 sec2 45  then x 
(a) 2 (b) 2 (c) 6 (d) 4

30. The nu mer i cal value of 1
1

63
27

2
2 

cot
sec




1

63
27

2
2

sin
sec


  is

(a) 1 (b) 2 (c) 1 (d) 0
31. If  and  are pos i tive acute an gles, sin( )4 1    and

cos( )2
1
2

   , then the value of sin( )  2  is

Ùeefo  Deewj  Oeveelcekeâ vÙetvekeâesCe nw, sin( )4 1   Deewj
cos( )2

1
2

   nw, lees sin( )  2 keâe ceeve %eele keâjW~

(a) 0 (b) 1 (c)
3
2

(d)
3
2

32. If  is a pos i tive acute an gle and 4 1 02cos    , then
the value of tan( ) 15  is equal to

Ùeefo  Oeveelcekeâ vÙetvekeâesCe nw Deewj 4 1 02cos    nw, lees
tan( ) 15  keâe ceeve efkeâmekesâ yejeyej nesiee?

(a) 0 (b) 1 (c) 3 (d)
1

3

33. If sec cosx x  2, then the value of sec cos16 16x x
will be
(a) 1 (b) 2 (c) 3 (d)0
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34. If sec tan  
1

3
, the value of sec . tan  keâe

ceeve nw
(a)

4
3

(b)
2
3

(c)
2
3

(d)
1
3

35. If sin( )  30
3

12
 , then find cos2 

(a)
1
4

(b)
3
4

(c)
3
2

(d)
1
2

 Type 6
36. If sin cos  ec 2, then the value of sin cos5 5  ec  ,

when 0 90    is

Ùeefo sin cos  ec 2 nw, lees sin cos5 5  ec keâe
ceeve %eele keâjW peye 0 90   nes~

(a) 0 (b) 1 (c) 10 (d) 2

 Type 7
37. If sec tan2 2 7  , then the value of  when

0 90   , is

Ùeefo sec tan2 2 7  nw lees  keâe ceeve %eele keâjW peye
0 90   nes~

(a) 60  (b) 30  (c) 0  (d) 90 

 Type -8

38. In cir cu lar mea sure, the value of the an gle 11 15  is

Je=òeerÙe ceehe ceW 11 15 keâesCe keâe ceeve keäÙee nesiee?

(a)


16
(b)


8
(c)


4
(d)


12

39. If  be acute an gle and cos 
15
17

, then the value of

cot( )90    is

Ùeefo  vÙetvekeâesCe nw Deewj cos  
15
17

nw, lees cot( )90    keâe

ceeve keäÙee nesiee?

(a)
2 8
15

(b)
8

15
(c)

2
17

(d)
8 2
17

40. If tan  
3
4
 and  is acute an gle , then cos ec

Ùeefo tan  
3
4

Deewj  vÙetvekeâesCe nw, lees cos ec ?

(a)
4
5

(b)
5
3

(c) 2 (d)
1
2

41. If sin  
3
5
, then the value of

tan cos
cot cos
 
 

 ec

 is equal to

Ùeefo sin  
3
5

nw, lees tan cos
cot cos

 
 

 ec

keâe ceeve keäÙee nesiee?

(a)
29
60

(b)
31
60

(c)
34
60

(d)
37
60

42. A kite is fly ing at the height of 75 m from the ground.
The string makes an an gle ( where cot / )  8 15  with
the level ground. As sum ing that there is no slack in the
string, the legnth of the string is equal to:

Skeâ hebleie peceerve mes 75 ceer keâer TbÛeeF& hej GÌ[ jner nw~ Oeeiee
peceerve mes  keâesCe yeveeleer nw~ (peneB cot / )  8 15 ceeve ues efkeâ
Oeeiee efyeukegâue meerOee nw lees Oeeies keâer uebyeeF& %eele keâjW~
(a) 75 m (b) 65m (c) 40m (d) 85 m

43. If sec tan ( )     3 0 90   then sec tan   is
equal  to

Ùeefo sec tan ( )     3 0 90  nw~ lees
sec tan  efkeâmekesâ yejeyej nw?
(a) un de fined (b)

1
3

(c)
1
2

(d) 3

44. If sec tan   2 5, then value of sin cos   is

Ùeefo sec tan   2 5 nw, lees sin cos  keâe ceeve
nw?
(a)

3
5

(b) 5 (c)
7
5

(d)
1
5

45. If sec tan ( )   P P 0  the sec  is equal to

(a)
1
2

1 0P
P
P






 , (b)

1
2

1 0P
P
P






 ,

(c) 2 1 0p
P
P






 , (d) P

P
P






 

1 0,

46. If  is pos i tive acute an gle and 3 52 2(sec tan )    ,
then the value of cos2 is

Ùeefo  Oeveelcekeâ vÙetve keâesCe nw Deewj 3 52 2(sec tan )  
nw, lees cos2 keâe ceeve keäÙee nesiee?

(a)
1
2

(b)
3
2

(c)
1
2

(d) 1
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47. The cir cu lar mea sure of an an gle of an isos ce les tri an gle

is
5
9

, Cir cu lar mea sure of one of the other an gles must

be

meceefÉyeeng ef$eYegpe kesâ Skeâ Demeceeve keâesCe keâer ceehe 5
9
 jsef[Ùeve nw~

lees Mes<e oes meceeve keâesCeeW ceW mes ØelÙeskeâ keâesCe keâer ceehe yeleeÙes~
(a) 5

18


(b)
5
9


(c)
2
9


(d)
4
9


48. If the sum and dif fer ence of two an gles are 135  and


12
re spec tively, then the value of the an gles in de gree
mea sure are

Ùeefo oes keâesCeeW keâe Ùeesie leLee Deblej ›eâceMe: 135  Deewj 
12

nw,

lees ef[«eer ( ) ceW keâesCeeW keâer ceehe %eele keâjW~

(a) 70 65 , (b) 75 60 ,

(c) 45 90 , (d) 80 55 ,

49. If  


 
7
12

 and tan   3, then the value of

tan  is :

(a)
1
3

(b) 0 (c) 3 (d) 1

50. If sin  
5

13
 and  is acute, what is the value of

(cot tan )  ?

Ùeefo sin  
5

13
Deewj  vÙetve keâesCe nes lees (cot tan ) 

keâe ceeve efkeâlevee nw?
(a)

2
5

(b) 13 2
5

(c)
2

5
(d)

13
2 15

 Answer key

1. (c) 2. (b)  3. (c) 4. (d) 5. (d) 6. (d) 7. (d)  8. (b) 9. (c) 10. (c)
11. (c) 12. (a) 13. (c) 14. (b)  15. (b)  16. (d)  17. (b)  18. (b)  19. (b)  20. (b)

 21. (c)  22. (a)  23. (c) 24. (b)  25. (b)  26. (d)  27. (a)  28. (d)  29. (a) 30. (d)
 31. (d) 32. (b)  33. (b)  34. (c)  35. (b)  36. (d)  37. (a)  38. (a)  39. (b) 40. (b)
 41. (b)  42. (d)  43. (a)  44. (a)  45. (b)  46. (a)  47. (c)  48. (b)  49. (d)  50. (d)
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 Practice Set i

1. The min i mum value of
sin cos sec cos tan cot2 2 2 2 2 2        ec
keâe vÙetvelece ceeve keäÙee nesiee?

(a) 1 (b) 3 (c) 5 (d) 7
2.

The equa tion cos2

4
 
  x y
xy

 is only pos si ble when

meceerkeâjCe cos
( )2

2

4
 

x y
xy

leYeer mebYeJe nw peye

(a) x = – y (b) x > y (c) x = y (d) x < y
3. The min i mum value of 4 2 2tan cot    is equal to

4 2 2tan cot    keâe vÙetvelece ceeve keäÙee nesiee
(a) 1 (b) 2 (c) 12 (d) 13

4. If sin ,
x

x x
2

2 22    then the value of x is

Ùeefo sin ,
x

x x
2

2 22   nw, lees x keâe ceeve %eele keâjW~

(a) 0 (b) 1 (c) –1 (d) None
5. The nu mer i cal value of

1 1
cos cot 









1 1
cos cot 







 is

(a) 0 (b) –1 (c) 1 (d) 2
6. If

sin cos
,

 
x y
  then sin cos   is equal to

Ùeefo sin cos
,

 
x y
 nw lees sin cos  efkeâmekesâ yejeyej nw?

(a) x – y (b) x + y

(c)
x y

x y



2 2
(d)

y x

x y



2 2

7. If x = a sec cos ,  y = b sec sin , tan  z c  then the

value of
x

a

y

b

z

c

2 2

2

2

22
   is;

x a y b z c  sec cos , sec sin tan .     nw, lees
x

a

y

b

z

c

2

2

2

2

2

2
  keâe ceeve keäÙee nesiee?

(a) 1 (b) 4 (c) 9 (d) 0
8. If ( sin )( sin )( sin ) ( sin )1 1 1 1       

( sin )( sin ) ?1 1   
(a)  cos cos cos   (b)  sin sin sin  
(c)  sin cos sec   (d)  sin sin cos  

9. If tan ,2   e  then the value of
sec tan cos2 3   ec  is
Ùeefo tan 2 21   e nw, lees sec tan  3 cosec  keâe
ceeve keäÙee nesiee

(a) ( )2 2
3
2 e (b) ( )2 2

1
2 e

(c) ( )2 2
1
2 e (d) ( )2 2

3
2 e

10. value of sec
sin sin

cos cos
2

2 4

4 2
2

2
 

 

 




 is

(a) 1 (b) 2 (c) –1 (d) 0

11. If x a (sin cos ),   y = b (sin cos )   then the value

of
x

a

y

b

2

2

2

2
  is

(a) 0 (b) 1 (c)  2 (d)  –2
12. Let A, B, C, D be the an gles of a quad ri lat eral. If they are

con cyclic, then the value of cosA + cosB + cosC + cosD
is
ceeve ueW A B C D, , , Skeâ ÛelegYeg&pe kesâ keâesCe nQ~ Ùeefo Jes Ûe›eâerÙe
ÛelegYeg&pe kesâ Meer<e& nQ, lees cos cos cos cosA B C D   keâe
ceeve keäÙee nesiee ?
(a) 0 (b) 1 (c) –1 (d) 2

13. If 2
7
3

sin cos ,    then the value of (tan sec )2 2 

is

Ùeefo 2
7
3

sin cos   nw, lees (tan sec )2 2  keâe ceeve

%eele keâjW~
(a) 0 (b) –1 (c)

3
7

(d)
7
3

14. cos
sin


 n and

cos
cos

,


 m  then the value of cos2  is :

Ùeefo cos
sin


 n Deewj cos

cos


m nw, lees cos2  keâe ceeve keäÙee

nesiee?

(a)
m

n

2

2
1

1




(b)
m

n

2

2
3

4





(c)
m

n

2

2
3

3




(d)

n

m n

2

2 2
15. If cos ,ec x39  the value of

1

51
39

2
2

cos
sin

ec 
 

tan
sin . sec

2
2 2

51
1

51 39


 
 is

Ùeefo cos ,ec 39 x nw lees 1

51
39

2
2

cos
sin

ec 
 

tan
sin sec

2
2 2

51
1

51 39


 

(a) x2 1 (b) 1 2 x (c) x2 1 (d) 1 2 x
16. The value of

cot cot . cos
tan sec

18 72 22
1

72 68
2

2
  

 









 is

(a) 1 (b) 2 (c) 3 (d)
1

3
17. If A, B and C be the an gles of a tri an gle, the in cor rect

re la tion is;
Ùeefo A B, leLee C Skeâ ef$eYegpe kesâ keâesCe nQ, lees efvecve ceW mes ieuele
mebyebOe ÚeefšSB ?
(a) sin cos

A B C





 

2 2
(b) cos sin

A B C





 

2 2

(c) tan sec
A B C





 

2 2
(d) cot tan

A B C





 

2 2
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18. If sin( ) cos( ),60 30      then the value of
tan( )   is (as sume that  and  are both pos i tive
acute an gles with   60  and   30 ).
Ùeefo sin( ) cos( ),60 30      nQ, lees tan( )   keâe
ceeve keäÙee nesiee (ceeve ueW efkeâ  leLee oesveeW Oeveelcekeâ vÙetvekeâesCe nQ
efpeveceW   60  Deewj   30  nw~
(a)

1

3
(b) 0 (c) 3 (d) 1

19. ABCD is a rect an gle of which AC is a di ag o nal. The
value of (tan )2 1 CAD sin2 BAC is
ABCD Skeâ DeeÙele nQ, Deewj AC Gmekeâe efJekeâCe& nQ, lees
(tan )2 1 CAD sin 2 BAC keâe ceeve keäÙee nesiee ?
(a) 2 (b)

1
4

(c) 1 (d) 0

20. If sin cos( ),3 26A A    where 3A is an acute an gle
then the value of A is
Ùeefo sin cos( )3 26A A    nw, peneB 3A Skeâ vÙetvekeâesCe nw,
lees A keâe ceeve %eele keâjW~
(a) 29 (b) 26 (c) 23 (d) 28

21. If    90  then the ex pres sion
tan
tan

sin sin



  2 2  is

(a) sin2  (b) tan2  (c) sin2  (d) sec2 

22. The value of cos
cot

ec 2
2

18
1

72



 is keâe ceeve nw

(a)
1

3
(b)

2
3

(c)
1
2

(d) 1

23. If sin( )A b 
1
2
 and cos( )A B 

1
2
 where A > B > 0

and A + B is an acute an gle, then the value B is

Ùeefo sin ( )A B 
1
2
 Deewj cos( )A B 

1
2
 peneB A B  0

Deewj A B  Skeâ vÙetvekeâesCe nw, lees B keâe ceeve %eele keâjW~
(a)

6

(b)


12
(c)

4

(d)

2

24. If 2 2 2(cos sin    is pos i tive acute an gle), then
cot  is equal to
Ùeefo 2 12 2(cos sin )   (  Skeâ Oeveelcekeâ vÙetvekeâesCe nw,
lees cot  efkeâmekesâ yejeyej nw?
(a)  3 (b)

1

3
(c) 1 (d) 3

25. If sin cos ,   2 ( ),0 90    a  then sin
2

3
 








 ?

(a) sin

2

(b) cos

3

(c) sin

3

(d) cos
2
3


26. If tan  n tan and sin sin ,  m  then cos2  is
Ùeefo tan tan  n  Deewj sin sin , m  nw lees cos2 
keâe ceeve nw

(a)
m
n

2

1
(b)
m

n

2

2
(c)
m

n

2

2
1

1




(d)
m

n

2

2
1

1





27. The value of 3 64 2(sin cos ) (sin cos )x x x x  
 4 6 6(sin cos )x  is
(a) 14 (b) 11 (c) 12 (d) 23

28. ABC is a right an gle tri an gle and right an gle at B and
  A 60  and AB = 20cm, then the ra tio of sides BC and
CA is
ABC Skeâ mecekeâesCe ef$eYegpe nQ Deewj B mecekeâesCe nQ Deewj
  A 60 Deewj AB = 20cm mesceer. nQ lees, BC  leLee CA
Yegpee keâe Devegheele keäÙee nesiee ?
(a) 3 1: (b) 1 3: (c) 3 2: (d) 3 2:

29. Find value of the fol low ing
3 24 4 6 6(sin cos ) (sin cos )       + 12
sin cos2 2  :
(a) 3 (b) 2 (c) 0 (d) 5

30. The value of (cos sin )(sec cos )eca a a a 
(tan cot )a a
(a) 4 (b) 6 (c) 2 (d) 1

31. a, b, c are the length of three sides of a tri an gle ABC. If
a, b, c are re lated by the re la tion a b c2 2 2   ab + bc
+ ca, then the value of (sin sin sin )2 2 2A B C   is
a b c, ,  Skeâ ef$eYegpe ABC keâer leerve YegpeeDeeW keâer uebyeeF& nQ~ Ùeefo
a b c, , dkeâes a b c2 2 2   ab + bc + ca kesâ mebyebOe ceW
pees[ efoÙee peeS lees (sin sin sin )2 2 2A B C   keâe ceeve
keäÙee nesiee ?

(a)
3
4

(b)
3
2

(c)
3 3

2
(d)

9
4

32. If
x x 

 
   

tan

tan
sin cot sec

2

2
2 2 230

1 30
30 4 43 60  Then

value of x is :

(a)
1
4

(b)
1

3
(c)

1
2

(d)
1
5

33. If A = sin cos2 4   for any value of , then the value
of A is
Ùeefo  kesâ efkeâmeer Yeer ceeve kesâ efueS A = sin cos2 4   nQ,
lees A keâe ceeve %eele keâjW ?
(a) 1 1 A (b)

3
4

1 A

(c)
13
16

1 A (d)
3
4

13
16

 A

34. In a right-an gled tri an gle XYZ right-an gled at Y. if XY =
2 6 and XZ – YZ = 2, then secX+tanX is
Skeâ mecekeâesCe ef$eYegpe XYZ ceW Y mecekeâesCe nQ Ùeefo XY  2 6
Deewj XZ YZ  2, nQ lees secX+tanX keâe ceeve keäÙee nesiee ?

(a)
1

6
(b) 6 (c) 2 6 (d)

6
2

35. If 7 24 0
2

sin cos ; ,  


    then the value of

14 75 7tan cos sec     is equal to

Ùeefo 7 24 0
2

sin cos ;  


    nw,lees 14 tan 

75 cos 7 sec keâe ceeve efkeâmekesâ yejeyej nesiee
(a) 3 (b) 4 (c) 1 (d) 2
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36. If sin , 
a
b

 then the value of sec cos   is (where 0

 < 90)

(a)
a

b b a2 2
(b)

b

a b a

2

2 2

(c)
a

b b a

2

2 2
(d)

b a

b a

2 2

2 2




37. 3
5






 ra di ans is equal to

3
5






 jsef[Ùeve efkeâmekesâ yejeyej nw?

(a) 100 (b) 120 (c) 108 (d) 180
38. If cos cos ,x x 2 1 the nu mer i cal value of

(sin sin sin sin )12 10 8 63 3 1   x x x
Ùeefo cos cosx x 2 1 nw, lees sin sin12 103 x
  3 18 6sin sinx x  keâe Debefkeâle ceeve keäÙee nesiee?
(a) –1 (b) 2 (c) 0 (d) 1

39. If x y x ycos sin   2 2  and
cos sin2

2

2

2
 

a b
  =

1
2 2x y

 then the cor rect re la tion is

Ùeefo x y x ycos sin   2 2  Deewj cos2

2


a

 


sin 2

2 2 2
1

b x y
 nw, lees mener mebyebOe keäÙee nesiee?

(a)
x

b

y

a

2

2

2

2
1  (b)

x

a

y

b

2

2

2

2
1 

(c)
x

b

y

a

2

2

2

2
1  (d)

x

a

y

b

2

2

2

2
1 

40. If a b pcos sin    and a sin cos  b q then the
re la tion be tween a, b, P and q is
Ùeefo a b Pcos sin   Deewj a b qsin cos    nw,
lees a b p, ,  leLee q kesâ yeerÛe keâe mebyebOe %eele keâjW~
(a) a b p q2 2 2 2   (b) a b p q2 2 2 2  
(c) a+b=p+q (d) a – b = p – q

41. If sin cos sin( )   2 90 9  then the value of cot  is
Ùeefo sin cos sin ( )    2 90  lees cot  keâe ceeve
keäÙee nw?
(a)  2 1 (b) 2 1 (c) 2 1 (d)  2 1

42. If 0 90  A , then the value of
1
2
 cotA

1 2 














(sec tan )
cos (sec tan )

A A
ecA A A

(a) 0 (b) 2 (c) 1 (d) 1/2
43. Y is the right an gle of the tri an gle XYZ, if XY  2 6 cm

and XZ – YZ = 2 cm, then the value of (sec X + tan X) is

(a) 2 6 (b)
1

2 3
(c)

1

6
(d) 6

44. The max i mum value of 1 + sin cos
x x
4

2
4







  






 

for real val ues of  is :

 kesâ JeemleefJekeâ ceeve kesâ efueS 1
4

2 





 sin cos

x


x
4







  keâe DeefOekeâlece ceeve keäÙee nesiee?

(a) 3 (b) 4 (c) 5 (d) 6
45. If A B      tan( ) tan( ) 150 60 , then the value

of
A B
A B



 is :

Ùeefo A B      tan( ) tan( ), 150 60
A B
A B



 keâe

ceeve keäÙee nesiee?
(a)

sin 
2

(b)
sin 2

2


(c)
cos2

2


(d) 0

46. Find the value of sin sin cos25 65 572 2  ec
 tan2 33
sin sin cos25 65 572 2  ec  tan2 33  keâe ceeve
%eele keâjW~
(a) 1 (b) 2 (c) 3 (d) 0

47. If 6 3 24 4sin cos    then the value of
[ cos sec ] /7 86 6 1 3ec    is :
Ùeefo 6 3 24 4sin cos    lees [ cos7 6ec 
8 6 1 3sec ] /  keâe ceeve nw :
(a) 2 (b) 4 (c) 8 (d) 6

48. 2

1 2
sin

cos ( tan )



 
 sim pli fied to :

2

1 2
sin

cos ( tan )



 
 keâes mejueerke=âle keâjW~

(a) cos (b) cos2 (c) sin 2 (d) sin 
49. If tan tan ,  2 1  then the value of sec sec2 4   is :

Ùeefo tan tan  2 1 nw, lees sec sec2 4   keâe ceeve
keäÙee nesiee?
(a) 1 (b) –1 (c) 2 (d) 0

50. Find the value of 8 10 20 40cos cos cos  
8 10 20 40cos cos cos   keâe ceeve %eele keâjW~
(a) 2 20cot  (b) 4 10tan  (c) 1 (d) cot 10°

 Answer key

1. (d) 2. (c)  3. (c) 4. (b) 5. (c) 6. (c) 7. (a)  8. (a) 9. (d) 10. (a)
11. (d) 12. (a) 13. (b) 14. (d)  15. (c)  16. (a)  17. (c)  18. (c)  19. (c)  20. (a)

 21. (d)  22. (d)  23. (b) 24. (d)  25. (b)  26. (c)  27. (d)  28. (d)  29. (d) 30. (d)
 31. (d) 32. (c)  33. (b)  34. (b)  35. (d)  36. (c)  37. (c)  38. (c)  39. (b) 40. (b)
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 41. (b)  42. (c)  43. (d)  44. (a)  45. (a)  46. (b)  47. (b)  48. (c)  49. (a)  50. (d)
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 Height & Distance
1. The cliff of a moun tain is 180 m high, and the an gles of

de pres sion of two ships on the ei ther sides of cliff are
30° and 60°. What is the dis tance be tween the two
ships?
Skeâ heneÌ[ keâer Ûeóeve keâer TBÛeeF& 180 ceeršj nw Deewj Gme Ûeóeve
kesâ oesveeW Deesj KeÌ[s oes penepeeW keâe DeJeveceve keâesCe 30° SJeb 60°
nw, lees oesveeW penepeeW kesâ yeerÛe keâer otjer keäÙee nesieer?
(a) 400 m (b) 400 3 m
(c) 415 68.  m (d) 398 6.  m

2. A per son ob serves that the an gle of el e va tion at the top
of a pole of height 5 me ter is 30°. Then the dis tance of
the per son from the pole is :
Skeâ JÙeefkeäle heelee nw efkeâ 5 ceeršj TBÛeeF& Jeeues Skeâ Kecyes kesâ Meer<e&
hej GvveÙeve keâesCe 30° nw~ Fme Kecyes mes JÙeefkeäle keâer otjer efkeâleveer
nw~
(a) 5 3 me ter (b)

5

3
 me ter

(c) 3 me ter (d) 10 3 me ter
3. An earthing wire con nected to the top of an elec tric ity

pole has its other end in side the its other end in side the
ground. The foot of the wire is 1.5 m away from the pole
and the wire is mak ing an an gle of 60° with the level of
the ground. De ter mine the length of wire.
Skeâ efyepeueer kesâ KecYes kesâ Meer<e& mes pegÌ[W Yetmeheke&â leej keâe otmeje
efmeje, Yetefcekesâ Deboj nw~ leej keâe efveÛeuee efmeje, KecYes mes 1.5
ceer0 otj nw Deewj leej peceerve mes 60° keâe keâesCe yeveelee nw~ leej keâer
uecyeeF& %eele keâjW~

(a)
3 3

2
(b) 3 m (c) 3 m (d)

3
2

 m

4. From an aero plane just over a river trees on the
op po site bank of the river are found to be 60° and 30°
re spec tively. If the breadth of the river is 400 metres,
then the height of the aero plane above the rive at that
in stant is (As sume 3 1 732 . )
efkeâmeer veoer kesâ Thej efmLele Skeâ nJeeF& penepe mes veoer kesâ oesveeW Deesj
efmLele hesÌ[eW kesâ DeJeveceve keâesCe 60° leLee 30° nw~ Ùeefo veoer keâer
ÛeewÌ[eF& 400 ceer nw, veoer kesâ Thej nJeeF& penepe keâer TBÛeeF& %eele
keâjW~
(a) 173.2 metres (b) 346.4 metres
(c) 519.6 metres (d) 692.8 metres

5. From the peak of a hill which is 300m high, the an gle of
de pres sion of two sides of a bridge ly ing on a ground
are 45° and 30° (both ends of the bridge are on the same
side of the hill). Then the length of the bridge is
efkeâmeer 300 ceer. TBÛeer Ûeesšer mes Skeâ Deesj efmLele hegue keâer oesveeW
YegpeeDeeW kesâ DeJeveceve keâesCe 45° leLee 30° åw~ hegue keâer uecyeeF&
%eele keâjW~
(a) 300 3 1( ) m (b) 300 3 1( )

(c) 300 3 m (d)
300

3
m

6. From the top of a tower of height 180m the an gles of
de pres sion of two ob jects on ei ther sides of the tower
are 30° and 45°. Then the dis tance be tween the ob jects
are
efkeâmeer 180 ceer0 TBÛes šeJej kesâ oesveeW Deesj efmLele efyevogDeeW kesâ
DeJeveceve keâesCe 30° leLee 45 nQ~ oesveeW efyebogDeeW kesâ yeerÛe keâer otjer
%eele keâjW~
(a) 180 3 3( ) (b) 180 3 3( )
(c) 180 3 1( ) (d) 180 3 1( )

7. If a pole of 12 m height caste a shadow of 4 3 m long on
the ground then the sun’s an gle of el e va tion at that
in stant is
12 ceer0 TBÛes KebYes keâer ÚeÙee 4 3 ceer0 uecyeer nw~ metÙe& keâe
GvveÙeve keâesCe %eele keâjW~
(a) 10 me ter (b)

10

3
metre

(c) 10 3 metre (d) 35 3 metre
8. The an gle of el e va tion of lad der lean ing against a house

is 60° and the foot of the lad der is 6.5 metres from the
house. The length of the lad der is
efkeâmeer oerJeej hej efmLele meerÌ{er keâe GvveÙeve keâesCe 60° nw leLee meerÌ{er
keâe heeo oerJeej mes 6.5 ceer otjer hej efmLele nw~ meerÌ{er keâer uecyeeF&
%eele keâjW~
(a)

13

3
(b) 13 metres

(c) 15 metres (d) 3.25 metres
9. From a point 20 m awya from the foot of a tower, the

an gle of el e va tion of the top of the tower is 30°. The
height of the tower is
efkeâmeer šeJej kesâ heeme mes 20 ceer0 otj efmLele efyebog mes šeJej kesâ GÛÛe
efyebog keâe GvveÙeve keâesCe 30° nw~ šeJej keâer TBÛeeF& %eele keâjW~
(a) 10 3 m (b) 20 3 m

(c)
10

3
 m (d)

20

3
 m

10. From the top of a hill 200 m high the an gle of
de pres sion of the top and the bot tom of a tower are
ob served to be 30° and 60°. The height of the tower is
(in m);
efkeâmeer 200 ceer0 TBÛes šeJej mes efkeâmeer DevÙe šeJej kesâ GÛÛe efyebog
leLee efvecve efyebog kesâ DeJeveceve keâesCe 30° leLee 60° nw~b šeJej keâer
TBÛeeF& %eele keâjW~

(a)
400 3

3
(b) 166

2
3

(c) 133
1
3

(d) 200 3

11. From two points on the ground ly ing on a straight line
through the foot of a pil lar, the two an gles of el e va tion
of the top of the pil lar are com ple men tary to each other.
If the dis tance of the two points from the foot of the
pil lar are 9 metres and 16 metres and the two points lie
on the same side of the pil lar. Then the height of the
pil lar is

HEIGHT & DISTANCE (TBÛeeF& Deewj otjer) 15



peceerve hej efmLele oes efyebogDeeW mes KebYes kesâ GÛÛe efyebogDeeW kesâ GvveÙeve
keâesCe Skeâ-otmejs kesâ hetjkeâ nQ~ Ùeefo henues efyebog leLee otmejs efyebog keâer
KebYes kesâ heeo mes otefjÙeeb ›eâceMe: 9 ceer0 leLee 16 ceer nQ~ KebYes keâer
TBÛeeF& %eele keâjW~
(a) 5m (b) 10m (c) 9m (d) 12m

12. The length of the shadow of a ver ti cal tower on level
ground in creases by 10 metres when the al ti tude of the
sun changs from 45° to 30°. Then the height of the
tower is
efkeâmeer šeJej keâer ÚeÙee ceW 10 ceer0 keâer Je=efæ nesleer nw, peye metÙe&
keâe GvveÙeve keâesCe 45° mes 30° nes peelee nw~ šeJej keâer TBÛeeF& %eele
keâjW~
(a) 5 3 metre (b) 10 3 1( )  metre
(c) 5 3 1( )  metre (d) 10 3 me ter

13. A tower stand ing on a hor i zon tal plane sub tends a
cer tain an gle at a point 160 m apart from the foot of the
tower. On ad vanc ing 100 m to wards it, the tower is
found to sub tend and an gle twice as be fore. The height
of the tower is
efkeâmeer šeJej kesâ heeo mes 160 ceer0 otj efmLele efyebog mes šeJej kesâ
kegâÚ efyebog keâe GvveÙeve keâesCe šeJej kesâ heeo keâer Deesj 100 ceer0
otjer Ûeueves hej oes iegvee nes peelee nw~ šeJej keâer TBÛeeF& %eele keâjW~
(a) 80 m (b) 100 m (c) 160 m (d) 200 m

14. A ver ti cal stick 12 cm long casts a shadow 8 cm long on
the ground. At the same time, a tower casts a shadow 40
m long on the ground. The height of the tower is
Skeâ 12 mes0ceer0 TBÛeer ÚÌ[er keâer ÚeÙee 8 mes0ceer nw~ Gmeer meceÙe
Skeâ DevÙe šeJej keâer ÚeÙee 40 ceer0 nw~ šeJej keâer TBÛeeF& %eele
keâjW~
(a) 72 m (b) 60 m (c) 65 m (d) 70 m

15. A pole stands ver ti cally in side a sca lene tri an gu lar park
ABC. If the an gle of el e va tion of the top of the pole from
each cor ner of the park is same, then in ABC, the foot
of the pole is at the
efkeâmeer efJe<eceyeeng ef$eYegpeekeâej heeke&â  ABC kesâ leerveeW efyebogDeeW kesâ
heeke&â kesâ ceOÙe efmLele KebYes keâe GvveÙeve keâesCe mecee nw~ leye KebYes kesâ
heeo keâe efyebog %eele keâjW~
(a) cen troid (b) circumcentre
(c) incentre (d) orthocentre

16. The an gle of el e va tion of the top of a tower from the
point P and Q at dis tance of 'a' and 'b' re spec tively from
the base of the tower and in the same straight line with
it are com ple men tary. The height of the tower is
efkeâmeer šeJej kesâ efvecve efyebog mes a leLee b otjer hej efmLele efyebog P leLee
Q mes šeJej kesâ GÛÛe efyebvog kesâ GvveÙeve keâesCe Skeâ-otmejs kesâ hetjkeâ
nQ~ šeJej keâer TBÛeeF& %eele keâjW~
(a) ab (b)

a
b

(c) ab (d) a b2 2

17. There are two tem ples, one on each bank of a river just
op po site to each other. One tem ple is 54m high. From
the top of this tem ple, the an gles of de pres sion of the

top and the foot of the other tem ple are 30° and 60°
re spec tively. The length of the tem ple is :
Sve veoer kesâ oesveeW Deesj oeW cebefoj efmLele nQ~ Skeâ cebefoj 54 ceer0
TBÛee nw~ Fme cebefoj kesâ GÛÛe efyebog mes otmejs cebefoj kesâ GÛÛe leLee
efvecve efyebogDeeW kesâ DeJeveceve keâesCe 30° leLee 60° nQ cebefoj keâer
TBÛeeF& %eele keâjW~
(a) 18 m (b) 36 m (c) 36 3m (d) 18 3m

18. The shadow of a tower is 3 times its height. Then the
an gle of el e va tion of the top of the tower is
efkeâmeer KebYes keâer ÚeÙee Gmekeâer GBâÛeeF& mes 3 iegvee nw~ lees KebYes kesâ
GÛÛe efyebog keâe GvveÙeve keâesCe %eele keâjW~
(a) 45° (b) 30° (c) 60° (d) 90°

19. The shadow of the tower be comes 60 me ters lon ger
when the al ti tude of the sun changes from 45° to 30°
then the height of the tower is
Skeâ še@Jej keâer hejÚeF& 60 ceer. yeÌ{ peeleer nw Ùeefo metÙe& keâe GvveÙeve
keâesCe 45° mes 30° nes peelee nw~ KebYes keâer GBâÛeeF& %eele keâjW~
(a) 20 3 1( ) m (b) 24 3 1( ) m
(c) 30 3 1( ) m (d) 30 3 1( ) m

20. A man stand ing at a point P is watch ing the top of a
tower, which makes an an gle of el e va tion of 30°. The
man walks some dis tance to wards the tower and then
his an gle of elvation of the top of the tower is 60°. If the
height of tower is 30m, then the dis tance he moves is
efyebog P hej efmLele Skeâ JÙeefkeäle efkeâmeer KebYes kesâ GÛÛe efyebog keâes osKelee
nw leLee Gmekesâ GÛÛe efyebog keâe GvveÙeve keâesCe 30° nw~ Skeâ JÙeefkeäle
KebYes keâer Deesj kegâÚ otjer leÙe keâjlee nw leLee Gmekesâ GÛÛe efyebog keâe
GvveÙeve keâesCe 60° nes peelee nw~ JÙeefkeäle kesâ Éeje leÙe otjer %eele
keâjW~
(a) 22 m (b) 22 3 m (c) 20 m (d) 20 3 m

21. Two post are x metres apart and the height of one is
dou ble that of the other. If from the mid-point of the line
join ing their feet and ob server finds the an gu lar
el e va tions of their tops to be com ple men tary, then the
height (in mteres) of the shorter post is
oes KebYes x ceer otjer hej efmLele nQ leLee Skeâ KebYes keâer TBÛeeF& otmejs
keâer Dehes#ee oesiegveer nw~ Ùeefo Gvekesâ ceOÙe Skeâ efyebog mes Gvekesâ GÛÛe
efyebogDeeW kesâ GvveÙeve keâesCe Skeâ-otmejs kesâ hetjkeâ neW, leye Úesšs KebYes
keâer TBÛeeF& %eele keâjW~
(a)

x

2 2
(b)
x
4

(c) x 2 (d)
x
2

22. One files a kite with a thread 150 metre long. If the
thread of the kite makes an an gle of 60° with the
hor i zon tal line, then the height of the kite from the
ground (as sum ing the thread to be in a straight line) is
Skeâ cekeäKeer ves efkeâmeer helebie kesâ Oeeies keâes 150 ceer. uecyeeF& mes keâeš
efoÙee~ helebie keâe Yetefce mes GvveÙeve keâesCe 60° nw~ leye helebie efkeâ
Yetefce mes TBÛeeF& yeleeSW (ceevee efkeâ Oeeiee levee ngDee nw)
(a) 50 me ter (b) 75 3 me ter
(c) 25 3 me ter (d) 80 me ter
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23. There are two ver ti cal posts, one each side of a road,
just op po site to each other. One post is 108 metre high.
From the top of this post the an gle of de pres sion of the
top and foot of the other post are 30° and 60°
re spec tively. The height of the other post (in metre) is
efkeâmeer jemles kesâ oesveeW Deesj oes KebYes efmLele nQ~ Skeâ KebYes keâer TBÛeeF&
108 ceeršj nw~ Fme KebYes kesâ GÛÛe efyebog mes otmejs KebYes kesâ GÛÛe
efyebog leLee efvecve efyebog kesâ DeJeveJeceve keâesCe 30° leLee 60° nw~ otmejs
KebYes keâer uecyeeF& %eele keâjW~
(a) 36 (b) 72 (c) 108 (d) 110

24. Two poles of equal height are stand ing op po site to each
other on ei ther side of a road which is 100 m wide.
From a point be tween them on road, an gle of el e va tion
of their tops are 30° and 60°. The height of each pole (in
me ter) is
efkeâmeer jemles kesâ oesveeW Deesj oes yejeyej uebyeeF& kesâ KecYes efmLele nQ
jemleW kesâ ceOÙe efmLele Skeâ efyebog mes KecYeW kesâ GvveÙeve keâesCe 30°
leLee 60° nes peeles nQ
(a) 25 3 (b) 20 3 (c) 28 3 (d) 30 3 m

25. The an gle of el e va tion of the top of a build ing from the
top and bot tom of a tree are x and y re spec tively. If the
height of the tree is h metre, then (in metre) the height
of the build ing is

efkeâmeer hesÌ[ kesâ GÛÛe leLee efvecve efyebog mes efkeâmeer Fceejle kesâ GÛÛe efyebog
kesâ yeves GvveÙeve keâesCe x leLee y nQ~ Ùeefo hesÌ[ keâer TBÛeeF& h ceeršj
nes, lees Fceejle keâer TBÛeeF& yeleeSb
(a)

h x
x y
cot

cot cot
(b)

h y
x y
cot

cot cot

(c)
h x
x y
cot

cot cot
(d)

h y
x y
cot

cot cot

26. At a point on a hor i zon tal line through the base of a
mon u ment the an gle of el e va tion of the top of the

mon u ment is found to be such that its tan gent is
1
5
. On

walk ing 138 meteres to wards the mon u ment the se cant

of the an gle of el e va tion is found to be
193
12

. The height

of the mon u ment (in metre) is
efkeâmeer mceejkeâ mes kegâÚ otjer hej efmLele Skeâ efyebog mes mceejkeâ kesâ GÛÛe
efyeogb tan gent

1
5
 nw~ mceejkeâ keâer Deesj 138 ceer0 Ûeueves hej

mceejkeâ kesâ GÛÛe efyebog keâer se cant
193
12

 nw~ mceejkeâ keâer

TBÛeeF& %eele keâerefpeS~
(a) 42 (b) 49 (c) 35 (d) 56

 answer key

1. (c) 2. (a)  3. (a) 4. (a) 5. (a) 6. (d) 7. (b)  8. (b) 9. (d) 10. (c)
11. (d) 12. (c) 13. (a) 14. (b)  15. (b)  16. (a)  17. (b)  18. (b)  19. (c)  20. (d)

 21. (a)  22. (b)  23. (b) 24. (a)  25. (c)  26. (a)
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 practice set-1
1. If the mid point of a straight line in ter cept be tween the

axes is (1, 1), then the equa tion of the line is given by
Ùeefo Skeâ jsKee pees oesveeW De#eeW kesâ yeerÛe ceW Skeâ Devle KeC[ keâešleer
nes Je Devle KeC[ keâe ceOÙe efyevot (1, 1) nes lees jsKee nesieer
(a) 2 1( )x y  (b) x y  1
(c) x y  2 (d) x y  1

2. The straight lines x y x y    0 3 4 0, , x y 3  4 9
forms a tri an gle which is
meerOeer jsKeeSb x y x y    0 3 4 0, , x y 3  4 9 Skeâ
ef$eYegpe yeveeleer nw, pees efkeâ nw
(a) Isos ce les (b) Equi lat eral
(c) Right An gled (d) none

3. The equa tion of a line pass ing through ( , )4 5  and
per pen dic u lar to the line 3 4 5 0x y    is given by
Jen jsKee pees efkeâ efyevot ( , )4 5 mes iegpejleer nw leLee jsKee
3 4 5 0x y   kesâ uecyeJele nw Jen nesieer
(a) 4 3 31 0x y   (b) 4 3 31 0x y  
(c) 4 3 31 0x y   (d) 4 3 31 0x y  

4. The straight line pass ing through the point of
in ter sec tion of 4 3 1x y   and 2 5 3 0x y    and
equally in clined to the axes is :
Jen jsKee pees efkeâ jsKeeDeeW 4 3 1x y  leLee 2 5 3 0x y  
kesâ ØeefleÛÚso efyevot mes iegpejleer nw, Jen nesieer
(a) x y  1 (b) 2 2x y 
(c) x y (d) x y  2

5. The Co-or di nates of the foot of the per pen dic u lar drawn
from the point (2, 3) to the straight line x y  11 are
efyevot ( , )2 3 mes jsKee x y  11 hej [eues ieÙes uecye kesâ leue efyevog
nesieW
(a) ( , )47 (b) ( , )6 5 (c) ( , )7 4 (d) ( , )5 6

6. If the lines x y x y   6 2,  and 3 14x ky   are
con cur rent then the value of k is
Ùeefo jsKeeSW x y x y   6 2, leLee 3 14x ky  Skeâ
otmejs keâes Skeâ ner efyevot hej ØeefleÛÚso keâjleer nw, leye k keâe ceeve
nesiee
(a) 1 (b) 2 (c) 1 (d) 2

7. The area of the tri an gle formed by the lines
y x y x  , 2 and x  2 is given by
jsKeeDeeW y x y x  , 2, leLee x  2 mes yeveeÙeW ieÙes ef$eYegpe keâe
#ew$eheâue nesiee
(a)

1
2

(b) 1 (c) 2 (d) none

8. The equa tion of the straight line pass ing through the
point of in ter sec tion x y  2 3 0 and 2 4 0x y x  
per pen dic u lar to the line 2 2 5x y   is
Jen meerOeer jsKee peesefkeâ jsKeeDeeW x y  2 3 0 leLee
2 45 0x y   kesâ ØeefleÛÚso efyevot mes iegpejleer nw leLee jsKee
2 2 5x y  kesâ uecyeJele nw Jen nesieer
(a) 2 3 5 0x y   (b) x y  2 0
(c) 2 2 0x y   (d) none of these

9. The lines 3 4 6 0x y   , 6 5 9 0x y    and
3 3 5 0x y    meet at the point
Jen Skeâ efyevog efpeme hej jsKeeSb 3 4 6 0x y  
6 5 9 0x y   leLee 3 3 5 0x y   efceueleer nw, nesieer
(a) ( / , ) 2 3 1 (b) ( / , )1 3 2
(c) ( , )2 3 (d) ( / , / ) 1 3 5 4

10. The dis tance be tween the line 9 4 31x y   and
9 4 13 0x y    is
jsKeeDeeW 9 4 31x y  leLee 9 4 13 0x y   kesâ yeerÛe keâer
otjer nesieer
(a) 1 (b) 2 (c) 3 (d) 4

11. The equa tion of  the line pass ing through (p sec a, 0)
and (0, p cosec a) is
Jen jsKee pees efkeâ efyebot ( sec , )p a0 leLee ( , cos )0 p aec mes
ieglejleer nw, nesieer
(a) x a y a psin cos  (b) x a y psec cos ec
(c) x a y a pcos sin  (d) x a y a pcos secec  

12. The line join ing ( , )1 2  and (2,7) is di vided by the line
3 9x y   in the ra tio
jsKee 3 9x y  oes efyevotDeeW ( , )1 2 leLee ( , )2 7 keâes efceueeves
Jeeueer jsKee keâes Devegheele ceW efJeYeeefpele keâjleer nw?
(a) 3 4:  Ex ter nally (b) 3 : 4 in ter nally
(c) 4 : 3 Ex ter nally (d) none

13. The an gle be tween the lines 2 3 0x y    and
x y  2 0 is
jsKeeDeeW 2 3 0x y   leLee x y  2 0 kesâ yeerÛe keâe keâesCe
nesiee
(a) tan /1 1 3 (b) tan ( ) 1 3
(c) tan1 3 (d) tan1 4

14. The area of the par al lel o gram formed by the lines
4 3 7 3 4 7y x y x    , , 4 3 21y x  , 3 4 14y x  
is
jsKeeDeeW 4 3 7 3 4 7y x y y    , , 4 3 21y x  ,
3 4 14y x   mes yeveeÙes ieÙes meceevlej ÛelegYeg&pe keâe #es$eheâue
nesiee
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(a) 7 sq units (b) 14 sq units

(c) 21 sq units (d) none of these

15. The im age of the point (3, 8) in the line x y 3 7 is

jsKee x y 3 7 kesâ meehes#e efyevot (3, 8) keâe Øeefleefyecye nesiee
(a) ( , )1 2 (b) ( , )1 2 (c) ( , )1 4 (d) ( , ) 1 4

16. The co-or di nates of the foot of the per pen dic u lar from
or i gin to the line 3 4 25x y   are

efyevot ( , )0 0  mes jsKee 3 4 25x y   hej [eues ieÙes uecye kesâ leue
efyevot neW ies
(a) ( , )3 4 (b) ( , )4 3
(c) ( / , /; )3 4 3 4 (d) ( , )4 3

17. If A B C( , ), ( , ), ( , )1 2 3 2 3 6  then an gle A is
Ùeefo A B C( , ), ( , ), ( . )12 3 2 3 6  nw leye keâesCe A nesiee
(a) 45 (b) tan ( ) 1 2
(c) tan ( / ) 1 1 2 (d) tan ( / ) 1 1 2

 anskwer key

1. (*) 2. (a)  3. (c) 4. (c) 5. (d) 6. (a) 7. (b)  8. (d) 9. (a) 10. (e)
11. (b) 12. (d) 13. (d) 14. (d)  15. (d)  16. (d)  17. (b)
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 Practice set-2
1. If the dis tance be tween point A a( , )0  and point P x y( , ) is

a x  then
Ùeefo A a( , )0  mes efyevog P x y( , ) keâer otjer a x  nes lees y2  ?

(a) 2ax (b) 4ax (c) 6ax (d) 8ax
2. If point ( , )x y  is at equal dis tance from point

( , )a b b a   and point ( , )a b b a   then bx  ?
Ùeefo efyevog ( , )x y  efyevogDeeW ( , )a b b a   leLee ( , )a b a b 
mes meceeve otjer hej nw lees bx  ?
(a) a y2 (b) ay 2 (c) ay (d) a y2 2

3. P a( , )4  and Q a( , )2 4  are two points, and co or di nate
of mid point of PQ is ( , )1 4 , then find the value of a.
P a( , )4  leLee Q a( , )2 4  oes efyevog nw leLee PQ kesâ ceOÙe efyevog
kesâ efveoxMeebkeâ ( , )1 4  nQ lees a keâe ceeve %eele keâerefpeS
(a) 0 (b) 2 (c) 2 (d) 3

4. If point P Q a( , ), ( , )2 3 5  and R( , )67  are col lin ear point
find the value of a.
Ùeefo efyevog P Q a( , ), ( , )2 3 5  leLee R ( , )6 7  mebjsKeerÙe nw lees a keâe
ceeve nw
(a) 5/2 (b) 4 3/ (c) 6 (d) 5

5. The equa tion of the straight line pass ing through the
point ( , ) 6 5  par al lel to x-axis is
x-De#e kesâ meceevlej leLee efyevog ( , ) 6 5  mes iegpejves Jeeueer jsKee keâe
meceerkeâjCe nw
(a) y  5 (b) x  6
(c) y x 5 (d) y x  6 5

6. The equa tion of straight line pass ing through the point
y  ( , )2 5  and par al lel to y-axis is
y-De#e kesâ meceevlej leLee efyevog ( , )2 5  mes iegpejves Jeeueer jsKee keâe
meceerkeâjCe nw
(a) x  2 (b) y  5 (c) y x 2 (d) x y 5

7. In PQR co or di nate of ver tex P and Q are P ( , )1 0  and
Q( , )5 2  and co-or di nate of cen troid is ( , )4 0
ef$eYegpe PQR kesâ oes Meer<e& P ( , )10  leLee Q( , )5 2  nw leLee
Fmekeâe kesâvõkeâ ( , )4 0  nw lees R kesâ efveoXMeebkeâ nw
(a) ( , )8 2 (b) ( , )8 2 (c) ( , )8 2 (d) ( , ) 8 2

8. In what ra tio x-axis di vide the line seg ment which
join ing the point A ( , )3 5  and point B( , )5 4
A( , )3 5  leLee B ( , )5 4  keâes efceueeves Jeeues jsKeeKeC[ keâes x De#e
efkeâme Devegheele ceW yeešBlee nw~
(a) 4 : 5 (b) 5 : 4 (c) 5 : 7 (d) 6 : 5

9. The equa tion of the line pass ing throug the point ( , )41
and gra di ent is 5, is

efyevog ( , )4 1  mes iegpejves Jeeueer leLee ØeJeCelee 5 Jeeueer jsKee keâe
meceerkeâjCe nw
(a) y x 5 21 (b) y x 5 21
(c) 5 21y x  (d) 5 21y x 

10. If the line x y  3 8 0 and ax y  12 5 0 are
par al lel, then the value of a is
a kesâ efkeâme ceeve kesâ efueS jsKeeSb x y  3 8 0 leLee
ax y  12 5 0 meceevlej nw
(a) 0 (b) 1 (c) 4 (d) 4

11. Find the an gle be tween the lines 2 12 9 0y x    and
3 7 0  x

oes jsKeeSb meceerkeâjCe ›eâceMe: 2 12 9 0y x    leLee
3 7 0y x    nQ kesâ yeerÛe keâe keâesCe %eele keâerefpeS

(a) 30° (b) 45° (c) 60° (d) 22
1
2

12. P Q( , ), ( , )3 5 4 5  and R ( , )4 6  are three points. Find the
an gle be tween PQ and PR
Ùeefo P Q( , ), ( , )3 5 4 5  leLee R ( , )4 6  leerve efyevog nQ lees PQ leLee
PR kesâ yeerÛe keâe keâesCe nw
(a) 30° (b) 45° (c) 60° (d) 90°

13. P Q( , ), ( , )2 3 37  and R( , ) 1 3  are the ver tex of a PQR.
Find the equa tion of me dian PM.
Skeâ PQR efpemekeâes Meer<e& P Q( , ), ( , )2 3 3 7  leLee R ( , ) 1 3
nw~ ceeefOÙekeâe PM keâe meceerkeâjCe %eele keâerefpeS
(a) x y  10 0 (b) x y  4 10 0
(c) x y  4 10 0 (d) none of these

14. The equa tion of the straight line pass ing through the
point (1, 1) and per pen dic u lar to line 3 4 5 0x y    is
efyevog (1, 1) mes iegpejves Jeeueer leLee jsKee 3 4 5 0x y    kesâ
uecyeJele jsKee keâe meceerkeâjCe nw
(a) 3 4 7 0x y   (b) 3 4 0x y k  
(c) 4 3 1 0x y   (d) 4 3 1 0x y  

15. The equa tions of sides PQ QR RS, ,  and SP of a
quad ri lat eral are x y x x y    2 3 1 3 4, , , and
5 12 0x y    re spec tively. Find the an gle be tween the
di ag o nal PR and QS.
Skeâ ÛelegYeg&pe keâer YegpeeDeeW PQ QR RS, ,  leLee SP kesâ meceerkeâjCe
›eâceMe: x y x x y    2 3 1 3 4, , , 5 12 0x y    nw
lees efJekeâCeeX PR leLee QS kesâ yeerÛe kesâ keâesCe %eele keâerefpeS
(a) 30° (b) 45° (c) 60° (d) 90°

 answer key

1. (b) 2. (c)  3. (b) 4. (c) 5. (a) 6. (a) 7. (b)  8. (a) 9. (a) 10. (c)
11. (a) 12. (b) 13. (c) 14. (c)  15. (d)
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 (Line and Angle)

1. Two line seg ments PQ and RS at X in such a way that
XP XR . If   PSX RQX, then one must have

oes jsKee Keb[ nQ leLee RS Skeâ otmejs keâes X hej Fme lejn heefjÛÚso
keâjles nw efkeâ XP XR Ùeefo   PSX RQX lees nces efceuesiee
(a) PR QS (b) PS RQ
(c)   XSQ XRP (d) ar PXR ar QXS( ) ( ) 

2. In a ABC AB AC BC ,
2 2 2
   and BC AB 2 , then

ABC is :

Skeâ a ABC AB AC BC ,
2 2 2
  Deewj BC AB 2 nw,

lees ABC efkeâlevee nesiee?
(a) 30  (b) 45  (c) 60  (d) 90 

3. In tri an gle PQR, point A B,  and C are taken on PQ. PR
and QR re spec tively such that QC AC  and CR CB  If
 QPR 40 . Then ACB is equal to :

efkeâmeer ef$eYegpe PQR ceW, PQ. PR leLee QR hej efyebog A B, leLee C
Fme Øekeâej nw efkeâ QC AC leLee CR CB nw~ leovegmeej Ùeefo
 QPR 40  nes, lees ACB efkeâlevee nesiee?
(a) 140  (b) 40  (d) 70 

4. The in ter nal bi sec tors of ACB of ABC meet  each
other at O . If  BOC 110 , then BAC is equal to

ABC kesâ BAC leLee ACB kesâ Deebleefjkeâ efÉYeepekeâ hejmhej
O hej efceueles nw~ leovegmeej Ùeefo  BOC 110  nes, lees BAC
efkeâlevee nesiee?
(a) 40  (b) 55  (c) 90  (d) 110 

5. AC is the di am e ter of a circumcircle of ABC Chord ED
is par al lel to the di am e ter AC. If  CBE 50 , then the
mea sure of DEC is

AC Skeâ ABC kesâ heefjJe=òe keâe JÙeeme nw~ GmeceW peerJee ED,
JÙeeme AC kesâ meceeblej nw~ leovegmeej Ùeefo  CBE 50 nes, lees
DEC keâe ceeve keäÙee nesiee?
(a) 50  (b) 90  (c) 60  (d) 40 

6. O is the incentre of ABC and  BOC 110 . Find
BAC.

ABC keâe Deble:kesâvõ O nw Deewj  BOC 110 nw~ leovegmeej
BAC efkeâlevee nesiee?
(a) 40  (b) 55  (c) 50  (d) 55 

7. In ABC,   B C60 40  . If AD and AE be
re spec tively the in ter nal bi sec tor of A and
per pen dic u lar on BC, then the mea sure of DAE is

ABC ceW   B C60 40  nw~ Ùeefo AD Deewj AE ›eâceMe:
A keâe Deebleefjkeâ efÉYeepekeâ leLee BC hej uebyee nes, lees DAE
keâe ceehe efkeâlevee nesiee?
(a) 50  (b) 10  (c) 40  (d) 60 

8. A cir cle (with cen tre at O) is touch ing two in ter sect ing
lines AX and BY. The two points of con tact A and B
sub tend an an gle of 65   at any point C on the
cir cum fer ence of the cir cle. if P is the point of
in ter sec tion of the two lines, then the mea sure ofAPO
is

Skeâ Je=òe (efpemekeâe keWâõ O) hejmhej keâešves Jeeueer jsKeeDeeW AX
leLee BY keâes mheMe& keâj jne nw~ Gme Je=òe keâer heefjefOe kesâ efkeâmeer efyebog
C hej, A leLee B,65 keâe keâesCe yeveeles nw~ leovegmeej Ùeefo P Gòeâ
oesveeW mheMe& jsKeeDeeW keâe ØeefleÚsove efyebog nes, lees APO keâe ceeve
efkeâlevee nesiee?
(a) 25  (b) 65  (c) 90  (d) 40 

9. In ter nal bi sec tors of B and C of ABC in ter sect at O.
If  BOC 102 , then the value of BAC is

ABC ceW B leLee C kesâ Deebleefjkeâ efÉYeepekeâ O hej Skeâ-otmejs
keâes keâešles nw~ leovegmeej, Ùeefo  BOC 102  nes, lees BAC
efkeâlevee nesiee?
(a) 12  (b) 24  (c) 48  (d) 60 

10. ABCD is a cy clic quadrialteral andO is the cen tre of the
cir cle. If  COD 140  and  BAC 40 , then the value
of BCD is equal to

ABCD Skeâ Ûe›eâerÙe ÛelegYeg&pe nw Deewj O Je=òe keâe keWâõ nw~ Ùeefo
 COD 140 Deewj  BAC 40  , lees BCD keâe ceehe nw
(a) 70  (b) 90  (c) 60  (d) 80 

11. A chord of a cir cle is equal to its ra dius. The an gle
sub tended by this chord at a point on the cir cum fer ence
in the ma jor seg ment is

Skeâ Je=òe keâer peerJee Gmekeâer ef$epÙee kesâ yejeyej nw~ Gme peerJee Éeje
Keb[ ceW Je=òe keâer heefjefOe kesâ efkeâmeer efyevog hej yeveeS keâesCe keâe ceehe
keäÙee nesiee?
(a) 60  (b) 120  (c) 90  (d) 30 

12. The an gle be tween the ex ter nal bi sec tors of two an gles
of a tri an gle is 60  . Then the third an gle of the tri an gle
is

Skeâ ef$eYegpe kesâ oes keâesCeeW kesâ yeeÜe efÉYeepekeâeW kesâ yeerÛe yevee keâesCe
60  nw~ leovegmeej, Gme ef$eYegpe keâe leermeje keâesCe efkeâlevee nesiee?
(a) 40  (b) 50  (c) 60  (d) 80 
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13. If the in ter nal bi sec tors of the ABC and ACB of ABC
meet atO and also BAC 80  , then BOC is equal to

Ùeefo ABC kesâ ABC leLee ACB kesâ Deebleefjkeâ efÉYeepekeâ O
hej efceueles neW Deewj  BAC 80 nes, lees BOC efkeâmekesâ yejeyej
nesiee?
(a) 50  (b) 160  (c) 40  (d) 130 

14. In ter nal bi sec tors of an gles B andC of a tri an gle ABC
meet atO. If  BAC 80 , then the value of BOC is

Skeâ ef$eYegpe ABC kesâ B leLee C kesâ Deebleefjkeâ efÉYeebpekeâ O hej
efceueles nw~ leovegmeej, Ùeefo  BAC 80  nes, lees BOC keâe
ceeve keäÙee nesiee?
(a) 120  (b) 140  (c) 110  (d) 130 

15. If G be the cen troid of a tri an gle ABC such that
AG BC , then the mag ni tude of BGC is

Ùeefo G Skeâ ef$eYegpe ABC keâe Ssmee keWâõkeâ nes, efpemeceW AG BC
nes, lees BGC keâe ceeve efkeâlevee nesiee?
(a) 60  (b) 90  (c) 120  (d) 135 

16. O is the cen tre and arc ABC sub tends an an gle of 130 

atO. AB is etended to P. Then PBC is

O Skeâ Je=òe keâe keWâõ nw Deewj Ûeehe ABC, O hej 130  keâe keâesCe
yeveeleer nw leovegmeej Ùeefo AB keâe P lekeâ efJemleej keâj efoÙee peelee
lees PBC efkeâlevee nesiee?
(a) 75  (b) 70  (c) 65  (d) 80 

17. In a ABC and D A B C   : : : :2 3 4 one line CD AB||  is
find the value ACD

ABC ceW D A B C   : : : :2 3 4 nw~ GmeceW Skeâ jsKee
CD AB||  kesâ nw~ leovegmeej ACD efkeâlevee nesiee?
(a) 40  (b) 60  (c) 80  (d) 20 

18. In tirangle ABC BAC ABC, ,   75 45  . BC is

pro duced to D. If  ACD x  , then
x
3

% of 60  is

ef$eYegpe ABC BAC ABC, ,   75 45  ,BC lekeâ yeÌ{eÙee

ieÙee nw~ Ùeefo BC lees 60   keâe x
3

% nw~

(a) 30  (b) 48  (c) 15  (d) 24 

19. In a ABC AB AC,   and BA is pro duced to D such that
AC AD . Then the BCD is

ABC AB AC,   leLee BA keâes D  lekeâ Ssmes yeÌ{eÙee peelee nw efkeâ
AC AD  nes ~ lees BCD nesiee
(a) 100  (b) 60  (c) 80  (d) 90 

20. In ABC,   A B 65 ,   B C 140 , then findB

Skeâ ABC ceW    A B 65  ,   B C 140  nw lees
GmeceW B %eele keâerefpeS~
(a) 40  (b) 25  (c) 35  (d)20 

21. In a tri an gle ABC,     A C AD BC90 55 , ;  . What
is the value of BAD?

ef$eYegpe     A C AD BC90 55 , ;  keâe ceeve efkeâlevee
nesiee?
(a) 35  (b) 60  (c) 45  (d) 55 

22. If O be the circumcentre of a tri an gle PQR and
   QOR OPR110 25 , , then the mea sure of PRQ
is

Ùeefo Skeâ ef$eYegpe PQR keâe heefjkeWâõ O nw Deewj
   QOR OPR110 25 ,  lees PRQ keâe ceeve nw
(a) 65  (b) 50  (c) 55  (d) 60 

23. In the fol low ing fig ure, AB be di am e ter of a cir cle whose
cen tre is O. If    AOE DAO150 51 , then the
mea sure of CBE is

efvecve Deeke=âefle ceW AB Skeâ O keWâõ Jeeues Je=òe keâe JÙeeme nw~
leovegmeej, Ùeefo    AOE DAO150 51 ,  nes, lees CBE
keâe ceehe efkeâlevee nesiee?

(a) 115  (b) 110  (c) 105  (d) 120 

24. In the given fig ure line k and I are par al lel. The value of
a b   is fig ures

veerÛes efoS ieS efÛe$e ceW, jsKeeSb k Deewj I meceeblej nw~a b   keâe
ceeve nw

(a) 45  (b) 100  (c) 180  (d) 360 

25. If  the orthocentre and the cen troid of a tri an gle are the
same then the tri an gle is :
Ùeefo efkeâmeer ef$eYegpe keâe uebyekeWâõ leLee keWâõkeâ Skeâ meceeve nes, lees Jen
ef$eYegpe efkeâme Øekeâej keâe nesiee?
(a) sca lene (b) right an gled
(c) equi lat eral (d) ob tuse an gled

26. The in ra dius of an equi lat eral tri an gle is of length 3 cm.
Then the length of each of its me di ans is
Skeâ meceefÉyeeng ef$eYegpe keâer Deebleefjkeâ ef$epÙee 3 mesceer nw~ leovegmeej
Gme ef$eYegpe keâer ØelÙeskeâ ceeefOÙekeâe keâer uecyeeF& efkeâleveer nesieer?
(a) 12cm (b) 9/2 cm (c) 4 cm (d) 9 cm

27. In a tri an gle, if three al ti tudes are equal, then the
tri an gle is
Skeâ ef$eYegpe ceW Ùeefo, leerve Meer<e&uebye yejeyej nes, lees ef$eYegpe nesleer nw
(a) ob tuse (b) equi lat eral(c) right (d) isos ce les
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28. If area of an equi lat eral tri an gle is a and height b, then
value of b a2 /  is :

Ùeefo Skeâ meceyeeng ef$eYegpe keâe #es$eheâue a leLee TbÛeeF& b nes, lees
b a2 /  keâe ceeve keäÙee nesiee?
(a) 3 (b) 1/3 (c) 3 (d) 1 3/

29. The side QR of an equi lat eral tri an gle PQR is pro duced
to the point S in such a way thatQR RS  and P is joined
to S. Then the mea sure of PSR is

Skeâ meceyeeng ef$eYegpe PQR ceW Yegpee QRkeâes efyebog S lekeâ Fme
Øekeâej yeÌ{eÙee ieÙee nw efkeâ QR RS  nes peeS Deewj P keâes S mes
efceuee efoÙee ieÙee~ leovegmeej PSR keâe ceehe efkeâlevee nes peeSiee?
(a) 30  (b) 15  (c) 60  (d) 45 

30. ABC is an isos ce les a tri an gle and AB AC a  2  unit
BC a  unit. Draw AD BC , and find the length of AD.

ABC, Skeâ meceefÉyeeng ef$eYegpe nw~ GmeceW AB AC a  2  Skeâ
keâ Deewj BC a  Skeâkeâ nw~ leovegmeej, GmeceW AD keâer uebyeeF& %eele
keâerefpeS~

(a) 15a unit (b)
15
2
a unit

(c) 17a unit (d)
17
2
a unit C PB 1 2/

31. If ABC is an isos ce les tri an gle with  C 90  and
AC  5 cm, then AB is

Ùeefo ABC  C 90   leLee AC  5 mesceer Jeeuee, Skeâ
meceefÉyeeng ef$eYegpe nes, lees AB keâer uebyeeF& efkeâleveer nesieer?
(a) 5 cm (b) 10 cm (c) 5 2 (d) 2.5

32. ABC is an isos ce les tri an gle with AB AC . A cir cle
through B touch ing AC at the mid dle point in ter sects AB
at P. Then AP AB:  is

ABC Skeâ meceefÉyeeng ef$eYegpe nw, efpemeceW AB AC  nw~ GmeceW AC
keâes ceOÙe efyebog hej mheMe& keâjlee nw,B mes iegpejlee Skeâ Je=òe AB keâes
P hej keâešlee nw leovegmeej,AP AB:  efkeâlevee nesiee?
(a) 4 : 1 (b) 2 : 3 (c) 3 : 5 (d) 1 : 4

33. ABC is an isos ce les tri an gle such that AB AC  and
 B 35 . AD is the me dian to the base BC. Then BAD
is

ABC Skeâ meceefÉyeeng ef$eYegpe nw efpemeceW AB AC   Deewj
 B 35  nw~ GmeceW AD DeeOeej BC keâer ceeefOÙekeâe nw~
leovegmeej BAD efkeâlevee nesiee?
(a) 70  (b) 35  (c) 110  (d) 55 

34. ABC is an isos ce les tri an gle with AB AC . The side BA
is pro duced to D such that AB AD  if  ABC 30 , then
BCD is equal to

ABC Skeâ meceefÉyeeng ef$eYegpe nw, efpemeceW AB AC  nw~ GmeceW
Yegpee BA keâes D lekeâ yeÌ{eÙee ieÙee nw~ leeefkeâ AB AD  nes peeS~
leovegmeej Ùeefo  ABC 30  nes, lees BCD efkeâmekesâ yejeyej
nesiee?
(a) 45  (b) 90  (c) 30  (d) 60 

35. In side a tri an gle ABC , a straight line par al lel to BC
in ter sects AB and AC at the points P andQ re spec tively .
If AB PB 3 , then PQ BC:  is

Skeâ ef$eYegpe ABC ceW BC kesâ meceeblej Skeâ mejue jsKee AB leLee
AC keâes ›eâceMe: P leLee Q efyebogDeeW hej keâešleer nw~ leovegmeej Ùeefo
AB PB 3  nes, lees PQ BC:  efkeâlevee nesiee?
(a) 1 : 3 (b) 3 : 4 (c) 1 : 2 (d) 2 : 3

36. For a tri an gle base is 6 3 cm and two base an gles are

30 and 60  . Then height of the tirangle is

Skeâ ef$eYegpe keâe DeeOeej 6 3 mesceer nw Deewj Gmekesâ oesveeW
DeeOeej-keâesCe 30  leLee 60  nQ leovegmeej Gme ef$eYegpe keâer TBÛeeF&
efkeâleveer nw?
(a) 3 3 cm (b) 4.5 cm (c) 4 3 cm (d) 2 3 cm

37. In a tri an gle ABC,  BAC 90  and AD is per pen dic u lar
to BC. If AD  6 cm and BD  4 cm, then the length of
BC is

Skeâ ef$eYegpe ABC ceW,  BAC 90  Deewj AD BC  kesâ uebyeJele
nw~ Ùeefo AD  6 mesceer Deewj BD  4  mesceer, lees BC keâer uebyeeF&
nw
(a) 8 cm (b) 10 cm (c) 9 cm (d) 13 cm

38. In a right an gled tri an gle , the prod uct of two sides is
equal to half of the square of the third side i.e.,
hy pot e nuse. One of the acute an gles must be

Skeâ mecekeâesCe ef$eYegpe ceW, oes YegpeeDeeW keâe iegCeveheâue leermejer Yegpee
(DeLee&led keâCe&) kesâ Jeie& keâe DeeOee nw~ leovegmeej Gmekeâe Skeâ vÙetve
keâesCe efkeâlevee nesvee ÛeeefnS?
(a) 60  (b) 30  (c) 45  (d) 15 

39. In ABC A,  90  and AD BC  where D lies on BC. If
BC  8 cm , AC  6 cm, then  ABD ACD: ?

ABC A,  90  leLee AD BC  nw~ ÙeneB D Yegpee BC hej
efmLele nw~ leovegmeej Ùeefo BC  8 mesceer AC  6 mesceer nes, lees
 ABD ACD:  efkeâlevee nesiee?
(a) 4 : 3 (b) 25 : 16 (c) 16 : 9 (d) 25 : 9

40. The ar eas of two sim i lar tri an gles ABC and DEF are 20
cm 2 and 45 cm 2 re spec tively. If AB  5 cm, then DE is
equal to :

oes mece™he ef$eYegpeeW ABC leLee DEF  kesâ #es$eheâue ›eâceMe: 20
mesceer2 leLee 45 mesceer2 nw~ leovegmeej, Ùeefo AB  5 mesceer nes, lees
DE efkeâmekesâ yejeyej nesieer?
(a) 6.5 cm (b) 7.5 cm (c) 8.5 cm (d)5.5 cm

41. If ABC is sim i lar to DEF such that BC  3 cm, EF  4
cm and area of ABC  54 cm 2 , then the area of DEF
is

Ùeefo DEFABC, kesâ mece™he nes Deewj BC  3 mesceer, EF  4
mesceer leLee ABC  54 cm 2 nes, lees DEF keâe #es$eheâue
efkeâlevee nesiee?
(a) 66 cm 2 (b) 78 cm 2 (c) 96 cm 2 (d) 54 cm2
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42. Two tirangles ABC and DEF are sim i lar to each other in
which AB  10 cm , DE  8 cm . Then the ra tio of the
ar eas of tri an gles ABC and DEF is

oes ef$eYegpe ABC leLee DEF mece™he nw efpeveceW AB  10 mesceer,
DE  8 mesceer~ ef$eYegpe ABC Deewj DEF kesâ #es$eheâue keâe Devegheele
nw~
(a) 4 : 5 (b) 25 : 16 (c) 64 : 125(d) 4 : 7

43. In ABC, the in ter nal bi sec tors of ABC andACB meet
at I and  BAC 50 . The mea sure of BIC is

ABC ceW ABC leLee ACB kesâ Deebleefjkeâ efÉYeepekeâ I hej
efceueles nQ Deewj GmeceW  BAC 50 nw~ leovegmeej BIC keâe ceehe
efkeâlevee nesiee?
(a) 105  (b) 115  (c) 125  (d) 130 

44. The ex te rior an gles ob tained on pro duc ing the base BC

of a tri an gle ABC in both ways are 120   and 105  , then
the ver ti cal A of the tri an gle is of measure

Skeâ ef$eYegpe ABC kesâ DeeOeej BC keâes oesveeW Deesj yeÌ{eves hej Gme
yeves yee¢e keâesCe ›eâceMe: 120  leLee 105  nw~ leovegmeej, ef$eYegpe
kesâ Meer<e& keâesCe A keâe ceehe efkeâlevee nesiee?
(a) 36  (b) 40  (c) 45  (d) 55 

45. If in tri an gle ABC, Base BC is in crease in two side, what
is the value of outer tri an gle B and C

Ùeefo efkeâmeer ef$eYegpe ABC ceW, DeeOeej BC keâes oesveeW Deesj yeÌ{e efoÙee
peeS, lees B leLee C hej yeeÜe keâesCeeW keâe Ùeesieheâue nesiee
(a)   A (b)   A (c)


2
 A (d)  

A
2

  Answer key

1. (b) 2. (b)  3. (d) 4. (a) 5. (d) 6. (a) 7. (b)  8. (b) 9. (b) 10. (a)
11. (d) 12. (c) 13. (d) 14. (d)  15. (b)  16. (c)  17. (b)  18. (d)  19. (d)  20. (b)

 21. (d)  22. (d)  23. (c) 24. (a)  25. (c)  26. (d)  27. (b)  28. (c)  29. (a) 30. (b)
 31. (c) 32. (d)  33. (d)  34. (b)  35. (d)  36. (b)  37. (d)  38. (c)  39. (c) 40. (b)
 41. (c)  42. (b)  43. (b)  44. (c)  45. (b)

24 Ge om e try (pÙeeefceefle)



 Circle and tangent

1. Two equal cir cles of ra dius 4 cm in ter sect each other
such each passes through the cen tre of the other. The
length of the com mon chord is

4 mesceer ef$epÙee Jeeues oes Skeâ meceeve Je=òe Skeâ-otmejs keâes Fme lejn
keâešles nQ efkeâ ØelÙeskeâ Je=òe otmejs kesâ keWâõ hej mes Yeer iegpejlee nw~
leovegmeej Gvekeâer GYeÙeefve‰ peerJee keâer uebyeeF& efkeâleveer nw?
(a) 2 3 cm (b) 4 3 cm (c) 2 2 (d) 8 cm

2. The length of the  chord of a cir cle is 8 cm and
per pen dic u lar dis tance be tween cen tre and the chord is
3 cm. Then the ra dius of the cir cle is equal to :

Skeâ Je=òe keâer peerJee keâer uebyeeF& 8 mesceer nw Deewj Gmekesâ keWâõ leLee
peerJee keâer uebyeJele otjer 3 mesceer nw~ leovegmeej Gme Je=òe keâer ef$epÙee
efkeâleveer nw?
(a) 4 cm (b) 5 cm (c) 6 cm (d) 8 cm

3. The length of a chord of a cir cle is equal to the ra dius of
the cir cle. The an gle which this chord sub tends in the
ma jor seg ment of the cir cle is equal to

Skeâ Je=òe keâer peerJee keâer uebyeeF& Je=òe keâer ef$epÙee kesâ yejeyej nw~ Fme
peerJee Éeje Je=òe kesâ oerIe& Keb[ ceW yeveeÙee peeves Jeeuee keâesCe nw:
(a) 30  (b) 45  (c) 60  (d) 90 

4. AB  8 cm and CD  6 cm are two prallel chords on the
same side of the cen tre of a cir cle. The dis tance be tween
them is 1 cm. The ra dius of the cir cle is

AB  8 mesceer leLee CD  6 mesceer uecyeer oes Ssmeer meceeveblej peerJeeSb
nw pees efkeâmeer Je=òe kesâ kesâvõ kesâ Skeâ Deesj ner nw~ Gvekesâ yeerÛe keâer otjer
1 mesceer nw~ leovegmeej Gme Je=òe keâer ef$epÙee efkeâleveer nw?
(a) 5 cm (b) 4 cm (c) 3 cm (d) 2 cm

5. The length of two chords AB and AC of a cir cle are 8 cm
and 6 cm and  BAC 90 , then the ra dius of cir cle is

Skeâ Je=òe keâer oes peerJeeSb AB Deewj AC ›eâceMe: 8 mesceer leLee 6
mesceer uecyeer nw Deewj  BAC 90  nw~ leovegmeej Gme Je=òe keâer
ef$epÙee efkeâleveer nw?
(a) 25 cm (b) 20 cm (c) 4 cm (d) 5 cm

6. The dis tance be tween two par al lel chords of length 8
cm each in a cir cle of di am e ter 10 cm is

10 mesceer JÙeeme Jeeues Skeâ Je=òe ceW ØelÙeskeâ 8 mesceer uebyeer oes
meceeveeblej peerJeeDeeW kesâ yeerÛe keâer otjer efkeâleveer nesieer?
(a) 6 cm (b) 7 cm (c) 8 cm (d) 5.5 cm

7. One chord of a cir cle is known to be 10.1 cm. The ra dius
of this cir cle must be

Skeâ Je=òe keâer Skeâ peerJee 10.1 mesceer nw~ leovegmeej Je=òe keâer ef$epÙee
efkeâleveer nesveer ÛeeefnS?
(a) 5 cm
(b) greater than 5 cm
(c) greater than or equal to 5 cm
(d) less than 5 cm

8. Chords AB and CD of a cir cle in ter sect ex ter nally at P. If
AB  6 cm, CD  3 cm and PD  5 cm, then the length of
PB is

Skeâ Je=òe keâer Skeâ peerJeeS AB leLee CD Skeâ-otmejs keâes Je=òe kesâ
yeenj P Ùeefo AB  6 mesceer CD  3mesceer leLee PD  5 mesceer nes
lees PB keâer uebyeeF& efkeâleveer nesieer?
(a) 5 cm (b) 6.25 cm (c) 6 cm (d) 4 cm

9. Two par al lel chords are drawn in a cir cle of di am e ter 30
cm. The length of one chord is 24 cm and the dis tance
be tween the two chords is 21 cm. The length of the
other chord is

30 mesceer, JÙeeme Jeeues Skeâ Je=òe ceW oes meceeblej peerJeeSb yeveeF& ieF&
nw~ GveceW Skeâ peerJee 24 mesceer uecyeer nw Deewj oesveeW peerJeeDeeW kesâ yeerÛe
keâer otjer 21 mesceer nw~ leovegmeej otmejer peerJee keâer uecyeeF& keäÙee
nesieer?
(a) 10 cm (b) 18 cm (c) 12 cm (d) 16 cm

10. AB andCD are two par al lel chords on the op po site sides
of the cen tre of the cir cle. If AB  10 cm.CD  24 cm and
the ra dius of the cir cle is 13 cm, the dis tance be tween
the chords is

AB leLee CD oes meceeblej peerJeeSb nw, pees Je=òe kesâ keWâõ kesâ efJehejerle
efoMeeDeeW ceW nw~ Ùeefo AB  10 mesceer CD  24 mesceer Deewj Je=òe
keâer ef$epÙee 13 mesceer, nes lees Gve peerJeeDeeW kesâ yeerÛe keâer otjer efkeâleveer
nesieer?
(a) 17 cm (b) 15 cm (c) 16 cm (d)18 cm

11. A chord of length 8 cm is at a dis tance 3 cm from the
cen tre of the cir cle. The length of the ra dius of the cir cle
is

8 mesceer uebyeer Skeâ peerJee, Deheves Je=òe kesâ kesâvõ mes 3 mesceer keâer otjer
hej nw~ leovegmeej Gme Je=òe keâer ef$epÙee efkeâleveer nw?
(a) 73 cm (b) 55 cm (c) 5 cm (d) 10 cm

12. N is the foot of the per pen dic u lar from a point P of a
cir cle with ra dius 7 cm, on a di am e ter AB of the cir cle. If
the length of the chord PB is 12 cm, the dis tance of the
point from N from the point B is

Je=òe kesâ Skeâ JÙeeme AB hej, 7 mesceer ef$epÙee Jeeues Je=òe kesâ efyevog P
mes uebye keâe heeo N nw~ Ùeefo peerJee PB keâer uebyeeF& 12 mesceer nw, lees
efyevog B mes efyevog N keâer otjer nw
(a) 6

5
7

 cm (b) 12
2
7

 cm (c) 3
5
7

 cm (d) 10
2
7

 cm

13. If a chord of a cir cle is equal to the ra dius of the cir cle,
then the an gle sub tended by the chord at a point on the
mi nor arc is

Ùeefo Skeâ Je=òe keâer peerJee Gmekeâer ef$epÙee kesâ yejeyej nes, lees Úesšer
Ûeehe hej Gme peerJee Éeje yeveeÙee ieÙee keâesCe efkeâlevee nesiee?
(a) 150  (b) 60  (c) 120  (d) 30 
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14. A chord 12 cm long is drawn in a cir cle of di am e ter 20
cm. The dis tance of the chord from the cen tre is

20 mesceer JÙeeme Jeeues Skeâ Je=òe ceW 12 mesceer uebyeer Skeâ peerJee KeerÛeer
ieF&~ peerJee keâer keWâõ mes otjer nw
(a) 8 cm (b) 6 cm (c) 10 cm (d) 16 cm

15. The length of the com mon chord of two in ter sect ing
cir cles is 24 cm. if the di am e ters of the cir cles are 30 cm
and 26 cm, then the dis tance be tween the cen ters in cm
is

oes ØeefleÛÚsoer Je=òeeW keâer GYeÙeefve‰ peerJee keâer uebyeeF& 24 mesceer nw~
leovegmeej, Ùeefo Gve Je=òeeW kesâ JÙeeme 30 mesceer leLee 26 mesceer neW lees
Gvekesâ keWâões kesâ yeerÛe keâer otjer (mesceer ceW) efkeâleveer nw?
(a) 13 (b) 14 (c) 15 (d) 16

16. From a point P, two tan gents PA and PB are drawn to a
cir cle with cen tre O. If OP is equal to di am e ter of the
cir cle, then APB is

Skeâ efyevog P mes O keWâõ Jeeues Skeâ Je=òe hej oes mheMe& jsKeeSb PA
Deewj PB KeeRÛeer ieF& nw~ Ùeefo OP Je=òe kesâ JÙeeme kesâ yejeyej nw lees
APB nw~
(a) 45  (b) 90  (c) 30  (d) 60 

17. The ra dii of two con cen tric cir cles are 13 cm and 8 cm.
AB is a di am e ter of the big ger cir cle and BD is a tan gent
to the smaller cir cle touch ing it at D and the big ger
cir cle at E. point A is joined to D. The length of AD is

oes mebkesâvõer Je=òeeW keâer ef$epÙeeSB 13 mesceer leLee 8 mesceer nw~ AB yeÌ[s
Je=òe keâe JÙeeme nw Deewj BD keâe mheMe& jsKee nw~ Deewj Úesšs Je=òe keâes
D hej mheMe& keâjleer nw Deewj yeÌ[s Je=òe keâes E hej ~ efyevog A keâes D mes
peesÌ[ efoÙee ieÙee nw~ leovegmeej AD keâer uebyeeF& efkeâleveer nesieer?
(a) 20 cm (b) 19 cm (c) 18 cm (d) 17 cm

18. The length of the tan gent drawn to a cir cle of ra dius 4
cm from a point 5 cm away from the cen tre of the cir cle
is

4 mesceer ef$epÙee Jeeues Skeâ Je=òe hej Gmekesâ keWâõ mes 5 mesceer otjer kesâ
Skeâ efyebog mes KeeRÛeer ieF& mheMe& jsKee keâer uebyeeF& efkeâleveer nesieer?
(a) 3 cm (b) 4 2 cm (c) 5 2 cm (d) 3 2 cm

19. Two cir cles touch each other ex ter nally at point A and
PQ is a di rect com mon tan gent which touches the cir cles
at P andQ re spec tively. Then  PAQ

oes Je=òe Skeâ-otmejs keâes yeenj mes A efyevog hej mheMe& keâjles nw Deewj
PQ Skeâ meerOeer GYeÙeefve‰ mheMe&-jsKee nw pees Je=òeeW keâes ›eâceMe: P
leLee Q hej mheMe& keâjleer nw~ leovegmeej  PAQ efkeâleves kesâ yejeyej
nesiee?
(a) 45  (b) 90  (c) 80  (d) 100 

20. PR is tan gent to a cir cle, with cen treO and ra dius 4 cm,

at point Q. If   POR OR90 5 ,  cm and Op 
20
3

 cm,

then, in cm the length of PR is

O keWâõ Deewj 4 mesceer ef$epÙee Jeeues Skeâ Je=òe kesâ Q efyebog hej mheMe&
PR

Skeâ mheMe& jsKee nw~ leovegmeej Ùeefo   POR OR90 5 ,

mesceer leLee Op  20
3

mesceer nes, lees PR keâer uebyeeF& efkeâleves mesceer

nesieer?
(a) 3 (b)

16
3

(c)
23
3

(d)
25
3

21. The tan gent at two points at two points A and B on the
cir cle with cen tre O in ter sect at P; if in quadrialteral
PAOB AOB APB, ; :   5 1, then mea sure of APB is

O kesâvoÇJeeues Je=òe hej oes efyebogDeeW A leLee B hej mheMe& jsKeeSb P hej
ØeefleÛÚso keâjleer nw~ Ùeefo ÛelegYeg&pe
PAOB AOB APB, ; :   5 1 lees APB keâe ceehe nw:
(a) 30  (b) 60  (c) 45  (d) 15 

22. The radion of two cir cles are 5 cm and 3 cm, the
dis tance be tween their cen ters is 24 cm. Then the
length of the trans verse com mon tan gents is

oes Je=òeeW keâer ef$epÙeeSB 5 mesceer leLee 3 mesceer nw leLee Gvekesâ keWâõeW kesâ
yeerÛe keâer otjer 24 mesceer nw~ leovegmeej Gvekeâer DevegØemLe GYeÙeefve‰
mheMe& jsKee keâer uebyeeF& efkeâleveer nesieer?
(a)16 cm (b) 15 2 cm (c) 16 2 (d) 15 cm

23. C1 and C 2 are two con cen tric cir cles with cen ters at O .
Their ra dii are 12 cm. And 3 cm. Re spec tively. B and C
are the points of con tact of two tan gents drawn to
C 2from a point A ly ing on the cir cleC1. Then the area of
the quad ri lat eral ABOC is

C1 Deewj C2 hej kesâões kesâ meeLe oes mekesâõer Je=òe nw~Gvekeâer ef$epÙeeSB
›eâceMe: 12 mesceer Deewj 3 mesceer nw~ Je=òe C1 hej Skeâ efyebog Ames Je=òe
C2 hej KeerÛeer ieF& oes mheMe&-jsKeeDeeW kesâ mheMe& efyebog B Deewj Cnw~
lees ÛelegYeg&pe ABOC keâe #es$eheâue nw~

(a)
9 15

2
 sq. cm (b) 12 15 sq. cm

(c) 9 15 sq. cm (d) 6 15 sq. cm

24. P andQ are two points on a cir cle with cen tre atO. R is a
point on the mi nor arc of the cir cle, be tween the point P
and Q. The tan gents to the cir cle at the points P and Q
meet each other at the point S. If   PSQ PRQ20 ?

P Deewj Q Skeâ Je=òe, efpemekeâe keWâõ O nw, hej efmLele oes efyebog nw~ P
Deewj Q kesâ yeerÛe Gme Je=òe keâer Úesšer Ûeehe hej Skeâ efyebog R nw~ Gme
Je=òe keâer P Deewj Q efyebogDeeW keâer mheMe& jsKeeSB Skeâ-otmejs mes efyebog S
hej efceueleer nw~ leovegmeej, Ùeefo    PSQ PRQ20  ?

efkeâmekesâ yejeyej nesiee?
(a) 80  (b) 200  (c) 160  (d) 100 

25. Two cir cles in ter sect at A and B P.  is a point on pro duced
BA. PT and PQ are tan gents to the cir cles. The re la tion of
PT and PQ is

oes Je=òe A Deewj B hej ØeefleÛÚso keâjles nw~ yeÌ{eS ngS BA hej P
Skeâ efyebog nw~ PT Deewj PQ keâe mecyevOe nw
(a) PT P 2 (b) PT PQ
(c) PT PQ (d) PT PQ
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26. Two circumcentre of a tri an gle ABC is O. If  BAC 85
and  BCA 75 , then the value of OAC is

Skeâ ef$eYegpe ABC keâe heefjkesâvõ O nw~ Ùeefo  BAC 85 Deewj
 BCA 75 nes, lees OAC keâe ceeve efkeâlevee nesiee?
(a) 40  (b) 60  (c) 70  (d) 90 

27. O is the incentre of ABC and  A 30 , then BOC is

O efyevog ef$eYegpe ABC keâe Deble kesâvõ nw Deewj  A 30  nw~
leovegmeej BOC efkeâlevee nesiee ?
(a) 100  (b) 105  (c) 110  (d) 90 

28. LetO be the in-cen tre of a tri an gle ABC and D be a point
on the side BC of ABC, such that OD BC . If
 BOD 15 , then  ABC

ceevee efkeâ O ef$eYegpe ABC keâe Deble kesâvõ nw Deewj D,ABC keâer
Yegpee BC hej Skeâ efyebog nw efpememes OD BC Ùeefo
 BOD 15  lees  ABC
(a) 75  (b) 45  (c) 150  (d) 90 

29. I is the incentre of ABC ABC,  60  and ACB 50 .
Then BIC is

ABC keâe Deble kesâvõ I nw,  ABC 60  Deewj
 ACB 50  , lees BIC nw
(a) 55  (b) 125  (c) 70  (d) 65 

30. If the incentre of an equi lat eral tri an gle lies in side the
tri an gle and its ra dius is 3 cm,  then the side of
equi lat eral tri an gle is

Ùeefo efkeâmeer meceyeeng ef$eYegpe keâe Deble: kesâvõ Gme ef$eYegpe kesâ Deboj
nes, Deewj ef$epÙee 3 mesceer nes, lees Gme meceyeeng ef$eYegpe keâer Yegpee
efkeâleveer uebyeer nesieer?
(a) 9 3 cm (b) 6 3 cm (c) 3 3 cm (d)6 cm

31. I is the incentre of a tri an gle ABC. If  ABC 65and
 ACB 55 , then the value of BIC is

I Skeâ ef$eYegpe ABC keâe Dele: keWâõ nw~ leovegmeej Ùeefo
 ABC 65  leLee  ACB 55 nes, lees BIC keâe ceeve
efkeâlevee nesiee?
(a) 130  (b) 120  (c) 140  (d) 110 

32. I a tri an gle ABC, incentre is O and  BOC 110 , then
the mea sure of BAC is :

Ùeefo ABC ef$eYegpe kesâ DebleJe=òe keâe kesâvõ O nes Deewj
 BOC 110  nes, lees BAC keâe ceeve efkeâlevee nesiee?
(a) 20  (b) 40  (c) 55  (d) 110 

33. The equi dis tant point from the ver ti ces of a tri an gle is
called its :

efkeâmeer ef$eYegpe kesâ Meer<e& efyebogDeeW mes Skeâ meceeve otjer hej efmLele efyebog
keâes keäÙee keânles nw?
(a) cen troid (b) Incentre
(c) Circucentere (d) Orthocentre

34. If in a tri an gle, the circumcentre, incentre, cen troid and
orthocenter co in cide, then the tri an gle is

Ùeefo Skeâ ef$eYegpe heefjkeWâõ Deble: kesâõ keWâõkeâ leLee uebyekesâõ Skeâ ner
mLeeve hej neW, lees Jen ef$eYegpe kewâmee nesiee?
(a) Acute an gled (b) Isos ce les

(c) Right an gled (d) Equi lat eral

35. The length of ra dius of a circumcircle of a tri an gle
hav ing sides 3 cm, 4 cm and 5 cm is:

3 mesceer, 4 mesceer leLee 5 mesceer uebyeer YegpeeDeeW Jeeues Skeâ ef$eYegpe kesâ
heefjJe=òe keâer ef$epÙee efkeâleveer nesieer?
(a) 2 cm (b) 2.5 cm (c) 3 cm (d) 1.5 cm

36. A chord of length 24 cm is at a dis tance of 5 cm from the
cen tre of a cir cle. The length of the chord of the same
cir cle which is at a dis tance of 12 cm from the cen tre is

24 mesceer uebyeer Skeâ peerJee Je=òe kesâ ceOÙe efyebog mes 5 mesceer keâer otjer
hej nw~ Gmeer Je=òe keâer pees peerJee ceOÙe efyebog mes 12 mesceer keâer otjer hej
nw Gmekeâer uecyeeF& efkeâleveer nQ~
(a) 17 cm (b) 12 cm (c) 10 cm (d) 11 cm

37. If the ABC is right an gled at B. Find its circumradius if
the sides AB and BC are 15 cm and 20 cm re spec tively.

Ùeefo ABC hej mecekeâesCeerÙe nw Deewj Ùeefo Gmekeâer AB leLee BC
YegpeeSB ›eâceMe: 15 mesceer Deewj 20 mesceer nw lees Gmekeâer heefjef$epÙee
keäÙee nesieer?
(a) 25 cm (b) 20 cm (c) 15 cm (d) 12.5 cm

38. If the circumradius of an equi lat eral tri an gle ABC be 8
cm then the heigh of the tri an gle is

Ùeefo meceyeeng ef$eYegpe ABC keâer heefjef$epÙee 8 mesceer nes, lees ef$eYegpe
keâer TBÛeeF& nw
(a) 16 cm (b) 6 cm (c) 8 cm (d) 12 cm

39. Tri an gle PQR cir cum scribes a cir cle with cen tre O and
ra dius r cm such that  PQR 90 . If PQ  3 cm,QR  4
cm, then the value of r is

ef$eYegpe PQR Skeâ Je=òe, efpemekeâe kesâõ O nw leLee ef$epÙee r mesceer nw,
keâes heefjiele keâjlee nw GmeceW  PQR 90  nw~ leovegmeej Ùeefo
PQ  3 mesceer leLee QR  4 mesceer nes lees r keâe ceeve keäÙee nesiee?
(a) 2 (b) 1.5 (c) 2.5 (d) 1

40. The ra dius of two con cen tric cir cles are 17 cm and 10
cm. A straight line ABCD in ter sects the larger cir cle at
the point A and D and in ter sects the smaller cir cle at the
points B and C. If BC  12cm, then the length of AD (in
cm) is:

oes mekesâvõer Je=òeeW keâer ef$epÙeeSB 17 mesceer leLee 10 mesceer nw~ Skeâ
mejue jsKee ABCD yeÌ[s Je=òe keâes A leLee D efyebogDeeW hej Deewj Úesšs
Je=òe keâes B leLee C efyebogDeeW hej keâešleer nw~ leovegmeej Ùeefo
BC  12 mesceer nes lees AD keâer uebyeeF& efkeâleves mesceer nesieer?
(a) 20 (b) 24 (c) 30 (d)34

41. P andQ are cen tres of two cir cles with ra dii 9 cm and 2
cm re spec tively, where PQ  17 cm. R is the cen tre of
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an other cir cle of ra dius x cm, which touches each of the
above two cir cles ex ter nally. If  PRQ 90 , then the
value of x is

P leLee Q oes Ssmes Je=òeeW kesâ kesâõ nw, efpevekeâer ef$epÙeeSB ›eâceMe: 9
mesceer leLee 2 mesceer nw Deewj PQ  17 mesceer nw~ R Skeâ DevÙe Je=òe
keâe kesâõ nw, efpemekeâer ef$epÙee x mesceer nw Deewj pees GheÙeg&òeâ oesveeW Je=òeeW
keâes yeenj mes mheMe& keâjlee nw~ leovegmeej, Ùeefo  PRQ 90  nes,
lees x keâe ceeve efkeâlevee nesiee~
(a) 4 cm (b) 6 cm (c) 7 cm (d) 8 cm

42. ABCD is a cy clic tra pe zium such that AD BC||  , if
 ABC 70 , then the value of BCD is

ABCD Skeâ Ûe›eâerÙe meceuebye nw efpemeceW AD BC|| Ùeefo
 ABC 70  lees BCD keâe ceehe nw
(a) 60  (b) 70  (c) 40  (d) 80 

43. If an ex te rior an gle of a cy cle quardrilateral 50   , then
the in te rior op po site an gle is:

Ùeefo Skeâ Ûe›eâerÙe ÛelegYeg&pe keâe yeeÜe keâesCe 50  nes, lees Gmekeâe
Deebleefjkeâ meccegKe keâesCe efkeâlevee nesiee?
(a) 130  (b) 40  (c) 50  (d) 90 

 Answer key

1. (b) 2. (b)  3. (a) 4. (a) 5. (d) 6. (a) 7. (b)  8. (*) 9. (b) 10. (a)
11. (c) 12. (d) 13. (b) 14. (a)  15. (b)  16. (d)  17. (b)  18. (a)  19. (b)  20. (d)

 21. (a)  22. (*)  23. (a) 24. (d)  25. (d)  26. (c)  27. (b)  28. (c)  29. (b) 30. (b)
 31. (b) 32. (*)  33. (c)  34. (d)  35. (b)  36. (c)  37. (d)  38. (d)  39. (c) 40. (b)
 41. (b)  42. (b)  43. (c)
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 Polygon
1. Find the sum of the in te rior an gles of a hep ta gon

(7-sided)
mehlegYegpe kesâ meYeer Deevleefjkeâ keâesCeeW keâe Ùeesie neslee nw~
(a) 900º (b) 600º
(c) 500º (d) None of these

2. Find the in te rior an gle of a reg u lar oc ta gon.
meceDe<šYegpe kesâ Deevleefjkeâ keâesCe %eele keâjeW~
(a) 900º (b) 180º
(c) 135º (d) None of these

3. The sum of the in te rior an gles of a poly gon is 1620º.
The num ber of sides of the poly gon are:
efkeâmeer yengYegpe kesâ Deevleefjkeâ keâesCe keâe Ùeesieheâue 1620° nw leye
yengYegpe keâer YegpeeSb nesieer~
(a) 9 (b) 11 (c) 15 (d) 12

4. How many sides a reg u lar poly gon has, with its in te rior
an gle eight times, to its ex te rior an gle?
efkeâmeer efveÙeefcele yengYegpe ceW efkeâleveer YegpeeSb nesleer nw Gmekeâer
Deevleefjkeâ keâesCe yeenjer keâesCe mes 8 iegvee nw~
(a) 16 (b) 24 (c) 18 (d) 20

5. If each in te rior an gle is dou ble of each ex te rior an gle of
a reg u lar poly gon with nsides, then the value of n is?
Ùeefo n Yegpee Jeeues efkeâmeer meceyengYegpe keâe ØelÙeskeâ Deevleefjkeâ keâesCe
Jee¢e keâesCe keâe ogiegvee nw lees n keâe ceeve nw?
(a) 8 (b) 10 (c) 5 (d) 6

6. If the in te rior an gles of a five sided poly gon are in the
ra tio 2:3:3:5:5 then the mea sure of the small est an gle is
efkeâmeer hebÛeYegpe kesâ Deevleefjkeâ keâesCeeW Devegheele ›eâceMe: 2 : 3 : 3 :
5 : 5 nw meyemes Úesše keâesCe %eele keâjes
(a) 20 (b) 30 (c) 60 (d) 90

7. A 6 sided reg u lar poly gon (hexa gon) is in scribed in a
cir cle of ra dius 10 cm, find the length of one side of the
hexa gon.
Ùeefo Skeâ mece<e<šYegpe keâes 10 mesceer ef$epÙee Jeeues Je=lele kesâ Devoj
yeveeÙee ieÙee, lees mece<e<šYegpe keâer Yegpee keâer uecyeeF& %eele keâjeW
(a) 11 (b) 12
(c) 10 (d) None of these

8. A cir cle of ra dius 6 cm is in scribed in a 5 sided reg u lar
poly gon (pen ta gon), find the length of one side of the
pen ta gon.(ap prox i mate your an swer to two dec i mal
places).
6 mesceer ef$epÙee Jeeues efkeâmeer Je=òe keâes Skeâ mecehebÛeYegpe kesâ Devoj
yeveeÙee ieÙee, mecehebÛeYegpe keâer Yegpee keâer uecyeeF& %eele keâjes?
(a) 6.2 cm (b) 8.8 cm (c) 4.5 cm (d) 8.7

9. Find the area of a dodecagon of side 6 mm.
(ap prox i mate your an swer to one dec i mal place).

6 efceueerefcešj uecyeeF& keâer 12 Yegpee Jeeues yengYegpe keâe #es$eheâue
%eele keâjes
(a) 403.1 mm 2 (b) 40.31 mm 2

(c) 403.23 mm 2 (d) 403.2 mm 2

10. A poly gon has 25 sides, the lengths of which start ing
from the small est side are in AP.If the per im e ter of the
poly gon is 2100 cmand the length of the larg est side is
20 times that of the small est, then the length of the
small est side and the com mon dif fer ence of the AP
efkeâmeer yengYegpe ceW 25 YegpeeSB nw efpemekeâer uecyeeF Úesšer Yegpee mes
ØeejcYe keâjkesâ meceevlej ßesCeer ceW nw~ Ùeefo yengYegpe keâe heefjceehe
2100 mesceer leLee meyemes yeÌ[er Yegpee keâer uecyeeF& meyemes Úesšer Yegpee
keâer 20 iegveer nw lees meyemes Úesšer Yegpee keâer uecyeeF& leLee meceevlej
ßesCeer keâe meJee&vlej %eele keâjes?
(a) 8 cm and 6

1
3
  cm re spec tively

(b) 8 cm and 5
1
3
 cm re spec tively

(c) 6 cm and 6
1
3
 cm re spec tively.

(d) None of the above
11. How many sides does a reg u lar poly gon have those

in te rior an gle and ex te rior an gle are in ra tio 2:1
efkeâmeer meceyeengYegpe kesâ Deevleefjkeâ leLee JeenÙe keâesCeeW keâe Devegheele
2 1: nw lees meceyengYegpe keâer YegpeeDeeW keâer mebKÙee %eele keâjeW~
(a) 3 (b) 5
(c) 6 (d) None of these

12. If a cir cle is drawn such that is touches each side of a
poly gon (not nec es sar ily reg u lar) of per im e ter 2P and
area A, then the ra dius of cir cle drawn is equal to
Ùeefo Skeâ KeeRÛes ieS Je=òe pees efkeâ yengYegpe keâer ØelÙeskeâ Yegpee keâes Útlee
nw (pe™jer veneR ØelÙeskeâ yeej) Ùeefo heefjefOe 2P Deewj #es$eheâue A nes
lees pees ef$epÙee KeeRÛeer ieF& nw yejeyej nesieer
(a) P/A (b) A/P (c) 2A/P (d) A/2P

13. If 5/6 is the mea sure of each in te rior an gle of a reg u lar
con vex poly gon, then it must be a
Ùeefo 5 6/ Skeâ efveÙeefcele yengYegpe keâer Deevleefjkeâ ceehe nw leye Ùen
nesiee?
(a) oc ta gon (b) hexa gon
(c) dodecagon (d) decagon

14. Find the sum of all in te rior an gle of six, eight and ten
sided poly gon.
efkeâmeer yengYegpe keâe Deevleefjkeâ keâesCe Ùeesie %eele keâerefpeS efpemekeâer
YegpeeSb Ú: Dee" leLee ome nw
(a) 1444º (b) 1080º
(c) 1440º (d) None of these

  Answer Key

1. (a) 2. (c)  3. (b) 4. (c) 5. (d) 6. (c) 7. (c)  8. (d) 9. (a) 10. (a)
11. (c) 12. (b) 13. (b) 14. (d)

Ge om e try (pÙeeefceefle) 29



 Quadrilateral
1. Q is a point in the in te rior of a rect an gle ABCD. If QA=3

cm, QB=4 cm and QC=5 cm, then the length of QD in
cen ti me ter is
Q, Skeâ DeeÙele ABCD kesâ Debleie&le Skeâ efyebog nw~ Ùeefo QA  3
mesceer, QB  4 mesceer, leLee QC  5 mesceer nes, lees QD keâer uebyeeF&
efkeâleves mesceer nesieer?
(a) 3 2 (b) 5 2 (c) 34 (d) 41

2. ABCD is a square. M is the mid point of AB and N is the
mid point of BC. DM and AN are joined and they meet
at O. Then which of the fol low ing is cor rect ?
ABCD Skeâ Jeie& nw~ M AB, Yegpee keâe ceOÙe-efyevog nw Deewj
N BC, Yegpee keâe ceOÙe-efyevog nw~ DM leLee AN keâes peesÌ[ keâj
veF& YegpeeS yevee oer peeleer nw, pees O hej efceueleer nw leovegmeej efvecve cebs
mes keâewve-mee mener nw?
(a) QA:OM=1:2 (b) AN:MD
(c) ADM = ANB (c) AMD = BAN

3. If the sum of the in te rior an gles of a reg u lar poly gon be
1080º, the num ber of sides of the poly gon is
Ùeefo Skeâ mece yengYegpe kesâ Deebleefjkeâ keâesCeeW keâe Ùeesieheâue 1080°
nes, lees Gme yengYegpe ceW efkeâleveer YegpeeSB nesieer?
(a) 6 (b) 8 (c) 10 (d) 12

4. The num ber of sides in two reg u lar poly gons are in the
ra tio 5:4 and the dif fer ence be tween each in te rior an gle
of the poly gons is 6º. Then the num ber of sides are
oes mece yengYegpeeW ceW YegpeeDeeW keâer mebKÙee 5 4: kesâ Devegheele cebs nw
Deewj yengYegpeeW kesâ nj Deble: keâesCe ceW Deblej 6° åw~ lees YegpeeDeeW keâer
mebKÙee nw
(a) 15,12 (b) 5,4 (c) 10,8 (d) 20,16

5. If the in te rior an gle of a reg u lar poly gon is dou ble the
mea sure of ex te rior, an gle, then the num ber of sides of
the poly gon is
Ùeefo Skeâ mece yengYegpe kesâ Deebleefjkeâ keâesCeeW keâe Ùeesieheâue 1080°
nes, lees Gme yengYegpe ceW efkeâleveer YegpeeSB nesieer?
(a) 6 (b) 8 (c) 10 (d) 12

6. The sum of in te rior an gles of a reg u lar poly gon is
1440º. The num ber of sides of the poly gon is
Skeâ mece yengYegpe kesâ Deebleefjkeâ keâesCeeW keâe Ùeesieheâue 1440° nw~
leodvegmeej Gme yengYegpe ceW efkeâleveer YegpeeSB nw?
(a) 10 (b) 12 (c) 6 (d) 8

7. If each in te rior an gle of a reg u lar poly gon is 150º, the
num ber of sides of the poly gon is
Ùeefo Skeâ mece yengYegpe keâe ØelÙeskeâ Deebleefjkeâ keâesCe 150° nes, lees
Gmekeâer YegpeeDeeW keâer mebKÙee efkeâleveer nesieer
(a) 8 (b) 10 (c) 15 (d) None

8. The ra tio be tween the num ber of sides of two reg u lar
poly gons is 1:2 and the ra tio be tween their in te rior
an gles  is 2:3. The num ber of sides of these poly gons is
re spec tively

oes mece yengYegpeeW keâer YegpeeDeeW keâer mebKÙeeDeeW kesâ yeerÛe keâe Devegheele
1 2: nw Deesj Gvekesâ Deebleefjkeâ keâesCeeW kesâ yeerÛe keâe Devegheele 2 : 3
nw leovegmeej Gve oesveeW yengYegpeeW keâer YegpeeDeeW keâer mebKÙee ›eâceMe:
efkeâleveer nw?
(a) 6,12 (b) 5,10 (c) 4,8 (d) 7,14

9. The sum of all in te rior an gles of a reg u lar poly gon is
twice the sum of all its ex te rior an gles. The num ber of
sides of the poly gon is
Skeâ mece yengYegpe kesâ meYeer Deebleefjkeâ keâesCeeW keâe Ùeesie, Gmekesâ meYeer
yee¢e keâesCeeW kesâ Ùeesie keâe ogiegvee nw~ leovegmeej, Gme yengYegpe keâer
YegpeeSB efkeâleveer nw
(a) 10 (b) 8 (c) 12 (d) 6

10. Mea sure of each in te rior an gle of a reg u lar poly gon can
never be
Jen ceehe keâewvemee nw, pees efkeâme mece yengYegpe kesâ ØelÙeskeâ Deebleefjkeâ
keâesCe keâe ceehe mener veneR nes mekeâlee?
(a) 150º (b) 105º (c) 108º (d) 144º

11. Ra tio of the num ber of sides of two reg u lar poly gons is
5:6 and the  ra tio of their each in te rior an gles is  24:25.
Then the num ber of sides of these two poly gons are
oes mece yengYegpeeW cebs YegpeeDeeW keâer mebKÙee keâe Devegheele 5 6: nw Deewj
ØelÙeskeâ Deebleefjkeâ keâesCeeW keâe Devegheele 24 25: nw~ leovegmeej Gve
yengYepeeW keâer YegpeeDeeW keâer mebKÙee JeemleJe ceW efkeâleveer nw
(a) 20,24 (b) 15,18 (c) 10,12 (d) 5,6

12. Each in ter nal an gle of reg u lar poly gon is two times its
ex ter nal  an gle. Then the num ber of sides of the
poly gon is
Skeâ mece yengYegpe keâe ØelÙeskeâ Yeerlejer keâesCe ye¢e keâesCe mes ogiegvee nw,
lees yengYegpe ceW YegpeeDeeW keâer mebKÙee nw
(a) 8 (b) 6 (c) 5 (d) 7

13. The length of the di ag o nal BD of the par al lel o gram
ABCD  is 18 cm. If P and Q are the cen troid of the  ABC
and ADC re spec tively then the length of the line
seg ment PQ is
Skeâ meceeblej ÛelegYeg&pe ABCD kesâ efJekeâCe& BD keâer uebyeeF& 18 mesceer
nw~ 18 mesceer nw~ Ùeefo P Deewj Q ›eâceMe: Gmekesâ  ABC leLee
 ADC kesâ kesâvõkeâ neW, lees PQ jsKee-KeC[ keâer uecyeeF& efkeâleveer
nesieer?
(a) 4 cm (b) 6 cm (c) 9 cm (d) 12cm

14. In a quad ri lat eral ABCD, with un equal sides if the
di ag o nals AC and BD in ter sect at right an gles, then
Demeceeve YegpeeDeeW Jeeues ÛelegYe&gpe ABCD ceW Ùeefo efJekeâCe& AC leLee
BD mecekeâesCe hej ØeefleÛÚso keâjles nQ, lees
(a) AB BC CD DA2 2 2 2  
(b) AB CD BC DA2 2 2 2  
(c) AB AD BC CD2 2 2 2  
(d) AB BC CD DA2 2 2 22  ( )

  Answer key
1. (a) 2. (c)  3. (c) 4. (a) 5. (a) 6. (a) 7. (d)  8. (c) 9. (d) 10. (b)

11. (c) 12. (b) 13. (b) 14. (b)
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 Miscellaneous
1. In ABC ABC BCA, ,     70 40 , O is the point of

in ter sec tion of the per pen dic u lar bi sec tors of the sides
then the an gle BOC is
ABC ceW, ABC ABC BCA, ,     70 40 leLee efyevog
O, Je=òe kesâ Yegpee—DeOe&keâeW keâe ØeefleÛÚsefole efyevog nw~ leye BOC
nw~
(a) 100° (b) 120° (c) 130° (d) 140°

2.  'O' is the cen tre of the cir cle, AB is a chord of cir cle,
OM AB . If AB  20 cm, OM  2 11cm, then ra dius of
the cir cle is
O Je=òe keâe keWâõ nQ, AB Je=òe keâer peerJee nw, OM AB nw, Ùeefo
AB  20 OM  2 11 mesceer nw, leye Je=òe keâer ef$epÙee %eele keâjW~
(a) 15 cm (b) 12 cm (c) 10 cm (d) 11 cm

3.  The three equal cir cles touch each other ex ter nally. If
the cen tres of these cir cles are A, B, C then ABC is :
leerve yejeyej Skeâ Je=òe Skeâ—otmejs keâes mheMe& keâjles nQ~ Ùeefo Fve Je=òeeW
kesâ kesâvõ A B, leLee C nes, leye ABC nQ~
(a) a right an gle tri an gle
(b) an equi lat eral tri an gle
(c) an isos ce les tri an gle
(d) a sca lene tri an gle

4. For a tri an gle circumcentre lies on one of its. The
tri an gle is
efkeâmeer ef$eYegpe keâe heefjkesâvõ Gmekeâer Yegpee hej efmLele nw~ ef$eYegpe nQ~
(a) right an gled (b) obtused an gled
(c) isos ce les (d) equi lat eral

5. Each of the cir cles if equal ra dii with cen tres A and B
pass through the cen tre of one an other cir cle they cut at
C and D then DBC is equal to
oes yejeyej ef$epÙeeDeeW Jeeues leLee A SJeb B kesâvõ Jeeues Je=òe
Skeâ—otmejs keâes efyevog C leLee D hej ØeefleÛÚsefole keâjles nQ~ leLee Skeâ
otmejs kesâ kesâvõ mes iegpejles nQ~ DBC keâe ceeve %eele keâjW~
(a) 60° (b) 100° (c) 120° (d) 140°

6.  The an gle subtened by a chord at its cen tre is 60°, then
ra tio be tween chord and ra dius is
efkeâmeer peerJee Éeje, Je=òe kesâ kesâvõ hej Deebleefjkeâ keâesCe 60 nw~
peerJee leLee ef$epÙee keâe Devegheele %eele keâjW~
(a) 1 : 2 (b) 1 : 1 (c) 2 1: (d) 2 : 1

7. ABCD is a cy clic quad ri lat eral and AD is a di am e ter. If
  DAC 55 , then value of ABC is

Skeâ Ûe›eâerÙe ÛelegYeg&pe ABCD nw leLee AD JÙeeme nw~ Ùeefo
  DAC 55 nes, leye ABC nw~
(a) 55° (b) 35° (c) 145° (d) 125°

8.  If ABCD be a cy clic quad ri lat eral in which   A x4 ,

       B x C y D y7 5, , , then x : y is

ABCD Skeâ Ûe›eâerÙe ÛelegYeg&pe nw, efpemeceW   A x4 ,
     B x C y7 5, leLee   D y nw, leye x y: nesiee~
(a) 3 : 4 (b) 4 : 3 (c) 5 : 4 (d) 4 : 5

9.  In a cy clic quad ri lat eral        A C B D ?
efkeâmeer Ûe›eâerÙe ÛelegYeg&pe ceW        A C B D ?
(a) 270° (b) 360° (c) 90° (d) 110°

10. ABCD is a cy clic quad ri lat eral. The side AB is ex tended
to E in such a way that BE = BC, If   ADC 70 ,
  BAD 95 , then DCE is equal to
ABCD Skeâ Ûe›eâerÙe ÛelegYeg&pe nw~ Yegpee AB keâes E lekeâ Fme Øekeâej
ye{eÙee ieÙee efkeâ BE BC nes~ Ùeefo   ADC 70 ,
  BAD 95 nw, leye DCE keâe ceeve %eele keâjW~
(a) 140° (b) 120° (c) 165° (d)110°

11. If the ra tio of an exnertnal an gle and in in ter nal an gle of
a reg u lar poly gon is 1 : 17, then the num ber of sides of
the reg u lar poly gon is
efkeâmeer yengYegpe keâe yeeùÙe leLee Deebleefjkeâ keâesCeeW keâe Devegheele 1 17:
nw~ leye yengYegpe keâer YeggpeeSW %eele keâjW~
(a) 20 (b) 18 (c) 36 (d) 12

12.  In a reg u lar poly gon, if one of its in ter nal an gle is
greater than the ex ter nal an gle by 132, then the
num ber of sides of the poly gon is
efkeâmeer yenYegpe keâe Deebleefjkeâ keâesCe, Gmekesâ yeeÜÙe keâesCe mes 132
DeefOekeâ nw~ yengYegpe keâer YegpeeSW %eele keâjeW~
(a) 14 (b) 12 (c) 15 (d) 16

13. An in te rior an gle of a reg u lar poly gon is 5 times its
ex te rior an gle. Then the num ber of sides of the poly gon
is
efkeâmeer yengYegpe keâe DebleŠ keâesCe, Gmekesâ yeeÜÙe keâesCe mes 5 iegvee nw~
yengYegpe keâer YegpeeSW %eele keâjW~
(a) 14 (b) 16 (c) 12 (d) 18

14.  Among the an gles 30 36 45  , , , 50 on an gles can not
be an ex te rior an gle of a reg u lar poly gon. The an gle is
efkeâmeer yengYegpe kesâ keâesCe 30 36 45  , , leLee 50 ceW mes keâewve mee
Skeâ keâesCe yeeÜÙe keâesCe veneR nes mekeâlee nw~ nw~
(a) 30° (b) 36° (c) 45° (d) 50°

15.  If the op po site side of a quad ri lat eral and also its
di ag o nals are equal, then each of the an gles of the
quad ri lat eral is
efkeâmeer ÛelegYeg&pe keâer efJehejerle YegpeeSW leLee efJekeâCe& yejeyej nQ~ leye
ÛelegYeg&pe keâe ØelÙeskeâ keâesCe nw~
(a) 90° (b) 120° (c) 100° (d) 60°

16.  In  A C, two points D and E are taken on the lines AB
and BC re spec tively in such a way that AC is par al lel to
DE. Then  A C and DBE  are
 A C ceW, efyevog D leLee E, Yegpee AB leLee BC hej Fme Øekeâej
nQ, efkeâ Yegpee C DE, kesâ meceeveevlej nQ~ leye ef$eYegpe  A C Deewj
DBE nw~
(a) sim i lar only If D lies out side the line seg ment AB
(b) con gru ent only If D lies out side the line seg ment

AB
(c) al ways sim i lar (d) al ways con gru ent
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17. In PQR, S and T are point on sides PR and PQ
re spec tively such that   PQR PAT, If PT = 5 cm, PS
= 3 cm and TQ = 3 cm, then length of SR is
PQR ceW, Yegpee PR leLee PQ ceW oes efyevog S leLee T nQ, efkeâ
  PQR PAT~ leye PT cm PS cm 5 3,   leLee
TQ cm 3 nQ, leye SR keâer uecyeeF& %eele keâjW~
(a) 5 cm (b) 6 cm (c)

31
3

 cm (d)
41
3

 cm

18. If the sides of a right an gled tri an gle are three
con sec u tive in te gers, then the length of the small est
side is
leerve ›eâceeiele mebKÙeeSW, efkeâmeer mecekeâesCe ef$eYegpe keâer YegpeeSW nQ~
meyemes Úesšer Yegpee %eele keâjW~
(a) 3 units  (b) 2 units (c) 4 units (d) 5 units

19.  ABC is a right an gled tri an gle with AB = 6 cm and BC =
8 cm. A cir cle with cen tre O has been in scribed in side
ABC. The ra dius of the cir cle is
efkeâmeer mecekeâesCe ef$eYegpe ABC ceW AB  6 mesceer. leLee BC8
mesceer. nw~ O kesâvõ Jeeuee Je=òe, ABC kesâ Devoj KeeRÛee peelee nw~
Je=òe keâer ef$epÙee %eele keâjW~
(a) 1 cm (b) 2 cm (c) 3 cm (d) 4 cm

20.  If each an gle of a tri an gle is less than the sum of the
other two, then the tri an gle is
Ùeefo efkeâmeer ef$eYegpe keâe ØelÙeskeâ keâesCe, DevÙe oes keâesCeeW kesâ Ùeesie mes
keâce ns, leye ef$eYegpe nw~
(a) ob tuse an gled (b) Acute or equi lat eral
(c) acute an gled (d) equi lat eral

21. The mea sure of the sides of tri an gle are
( ),( )x x2 21 1   and 2x cm, then the tri an gle would be

efkeâmeer ef$eYegpe keâer YegpeeSW ( ),( )x x2 21 1   leLee 2x cm  nQ,
leye ef$eYegpe nw~
(a) equi lat eral (b) acute — an gled
(c) right — an gled (d) isos ce les

22.  A man goes 24 m due west and then 10 m due north.
Then the dis tance of him from the straight point is
Skeâ JÙeefòeâ heefMÛece ceW 24m leLee Gòej efoMee ceW 10m peelee nw~
Gmekeâer ØeejefcYekeâ efyevog mes Jele&ceeve otjer %eele keâjW~
(a) 17 m (b) 26 m (c) 28 m (d) 34 m

23.  In ABC C,  is an ob tuse an gle. The bisector0 of the
ex te rior an gles at A and B meet BC and AC pro duced at
D and E re spec tively. If AB = AD = BE, then  ACB
ABC ceW, C DeefOekeâ keâesCe nw~ keâesCe A Deewj B kesâ yeeÜÙe
meceefÉYeepekeâ, Yegpee BC leLee AC keâes efyevog D leLee E hej efceueles
nQ~ Ùeefo AB AD BE   nw, leye  ACB ?
(a) 105° (b) 108º (c) 110° (d) 135º

24.  If two an gles of a tri an gle are 21° and 38°' then the
tri an gle is
Ùeefo efkeâmeer ef$eYegpe kesâ oes keâesCe 21 leLee 38 nw, leye ef$eYegpe nQ-
(a) Right — an gled tri an gle
(b) Acute—an gle tri an gle

(c) Ob tuse — an gled tri an gle
(d) Isos ce les tri an gle

25.  If an gle bi sec tor of a tri an gle bi sects the op po site side,
then what type of tri an gle is it ?
efkeâmeer ef$eYegpe keâe keâesCe meceefÉYeepekeâ meeceves Jeeueer Yegpee keâes oes
yejeyej YeeieeW ceW yeeBšlee nw, lees Fme Øekeâej keâe ef$eYegpe nesiee~
(a) Right an gled (b) Equi lat eral
(c) Isos ce les or equi lat eral (d) Isoscels

26. If  FGH is isos ce les and FG < 3 cm, GH = 8 cm, then
the folowing the true re la tion is :
FGH Skeâ meceefÉyeeng ef$eYegpe nw leLee FG cm GH cm, ,3 8
nw, leye mener keâLeve %eele keâjW~
(a) GH = FH (b) GF = GH
(c) FH > GH (d) GH < GF

27. If the three me di ans of a tri an gle are same, then the
tri an gle is
Ùeefo efkeâmeer ef$eYegpe keâer ceeefOÙekeâeDeeW keâer uecyeeF& yejeyej nw, leye
ef$eYegpe nesiee~
(a) equi lat eral (b) isos ce les
(c) right — an gled (d) ob tuse — an gle

28. The ra dius of the cir cle of the equi lat eral tri an gle
hav ing each side 6 cm is
6 cm Yegpee Jeeues meceyeeng ef$eYegpe kesâ Devle Je=òe keâer ef$epÙee %eele
keâjW~
(a) 2 3 cm (b) 3 cm
(c) 6 3 cm (d) 2 cm

29.  G is the cen troid of the equi lat eral ABC. If AB = 10 cm
then length of AG is
G, meceyeeng ef$eYegpe ABC keâe kesâvõkeâ nw~ Ùeefo AB cm 10
leye AG keâer uecyeeF& %eele keâjW~

(a)
5 3

3
 cm (b)

10 3
3

 cm

(c) 5 3 cm (d) 10 3 cm
30. ABC is an equi lat eral tri an gle and CD is the in ter nal

bi sec tor of C. If DC is pro duced to E such that AC =
CE, then CAE is equal to
ABC Skeâ meceyeeng ef$eYegpe nw leLee CD keâesCe C keâe Deebleefjkeâ
efÉYeepekeâ nw~ Ùeefo DC keâes E lekeâ ye{eÙee ieÙee efkeâ AC CE  leye
CAE keâe ceeve nw~
(a) 45° (b) 75° (c) 30° (d) 15°

31.  Let ABC be an equi lat eral tri an gle and AX, BY, CZ be the
altiude. Then the right state ment out of the four given
re sponses is
ABC Skeâ meceyeeng ef$eYegpe nw leLee AX BY CZ, ,  Meer<e&uecye nQ~
ÛeejeW efJekeâuheeW ceW mes mener efJekeâuhe %eele keâjW~
(a) AX = BY = CZ (b) AX  BY = CZ
(c) AX = BY  CZ (d) AX  BY  CZ

32. If ABC< is an equi lat eral tri an gle and P, Q, R
re spec tively de note the mid dle points of AB, BC, CA
then
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ABC Skeâ meceyeeng ef$eYegpe nw leLee efyevog P Q R, ,  Yegpee
AB BC CA, ,  kesâ ceOÙe efyevog nQ, leye
(a) PQR must be an equi lat eral tri an gle
(b) PQ + QR = PQR+AB
(c) PQ + QR = PR + 2AB
(d) PQR must, be a right an gled

33.  In a tri an gle, if orthcentre, circumcentre, incentre and
cen troid, then the tri an gle must be
efkeâmeer ef$eYegpe ceW, Ùeefo kesâvõ, heefjkesâvõ, DeleŠ kesâvõ leLee kesâvõkeâ
meceeve nw, leye ef$eYegpe nw~
(a) ob tuse an gled (b) isos ce les
(c) equi lat eral (d) right an gled

34.  In a tri an gle ABC, me dian is AD and cen troid is O, AO =
10 cm. The length of oD (in cm) is
ABC ceW, AD ceeefOÙekeâe leLee O kesâvõkeâ leLee AO cm 10
nw~ OD keâer uecyeeF& %eele keâjW~
(a) 6 (b) 4 (c) 5 (d) 3.3

35.  Two sup ple men tary an gles are in the ra tio 2 ; 3. The
an gles are
oes mechetjkeâ keâesCeeW keâe Devegheele 2 3:  nw~ leye keâesCeeW keâe ceeve nw~
(a) 33 57 , (b) 66 114 ,
(c) 72 108 , (d) 36 54 ,

36.  If AD is the me dian of the tri an gle ABC and G be the
cen troid, then the ra tio of AG : AD is
ABC keâer ceeefOÙekeâe AD nw leLee efyevog G ABC,   keâe kesâvõkeâ
nw, leye AG AD:  keâe Devegheele nw~
(a) 1 : 3 (b) 2 : 1 (c) 3 : 2 (d) 2 : 3

37.  In a ABC, AB = BC,   B x  and    A x( ) ,2 20
then B is
ABC ceW, AB BC B x   ,  leLee    A x( )2 20  nw,
leye B nw~
(a) 54° (b) 30° (c) 40° (d) 44°

38.  The an gles of a tri an gle are in the ra tio 2 : 3 : 7. The
mea sure of the small est an gle is
efkeâmeer ef$eYegpe kesâ keâesCeeW keâe Devegheele 2 3 7: :  nw~ meyemes Úesšs keâesCe
keâe ceeve %eele keâjW~
(a) 30° (b) 60° (c) 45° (d) 90°

39.  An gle be tween the in ter nal bi sec tors of two an gles of a
tri an gles B and C is 120°, then A is
efkeâmeer ef$eYegpe kesâ keâesCe B leLee C keâe meceefÉYeepekeâ Éeje yevee
keâesCe 120 nw~ leye A keâe ceeve %eele keâjW~
(a) 20° (b) 30° (c) 60° (d) 90°

40.  The an gle in a semi—cir cle is
DeOe&Je=òe ceW yevee keâesCe neslee nw~
(a) a re flex an gle (b) an ob tuse an gle
(c) an acute an gle (d) a right an gle

41. For a tri an gle ABC, D, E, F are the mid—points of its
sides. if ABC = 24 sq units then DEF is
ABC ceW, D E,  leLee F YegpeeDeeW kesâ ceOÙe efyebog nw~ Ùeefo
ABC24 Jeie& Ùetefveš nes, leye DEF  ?
(a) 4 sq. units (b) 6 sq. units
(c) 8 sq. units (d) 12 sq. units

42.  If I be incentre of ABC and   B 70  and   C 50 ,
then the mag ni tude of BIC is
efyebog I ABC,  keâe DevleŠ kesâvõ leLee   B 70  leLee
  C 50  nQ~ leye BIC keâe ceeve %eele keâjW~
(a) 130° (b) 60° (c) 120° (d) 105°

43.  For a tri an gle ABC, D and E are two points on AB and

AC such that AD 
1
4
 AB, AE 

1
4
 AC. If BC = 12 cm, then

DE is
ABC ceW, AB leLee AC hej oes efyevog D leLee E Fme Øekeâej nQ,
efkeâ AD AB AE AC 

1
4

1
4

, ~ Ùeefo BC cm 12  nw, leye

DE nQ~
(a) 5 cm (b) 4 cm (c) 3 cm (d) 6 cm

44.  In ABC DE AC D, || ,  and E are two points on AB and CB
re spec tively. If AB = 10 cm and AD = 4 cm, then BE : CE
is
ABC ceW, DE AC|| , D leLee E, Yegpee AB leLee BC hej oes
efyevog nw~ Ùeefo AB cm 10  leLee AD cm 4  nw, leye BE CE:
nw~
(a) 2 : 3 (b) 2 : 5 (c) 5 : 2 (d) 3 : 2

45.  In side a tri an gle ABC, a straight line par al lel to BC
in ter sects AB and AC at the point p and q re spec tively. If
AB = 3 PB, then PQ : BC is
ABC ceW, BC  kesâ meceeveevlej jsKee AB leLee AC keâes efyevog P
leLee Q hej ØeefleÛÚsefole keâjleer nw~ Ùeefo AB PB 3  nw, leye
PQ CE:  nQ~
(a) 1 : 3 (b) 3 : 4 (c) 1 : 2 (d) 2 : 3

46.  In ABC, the in ter nal bi sec tors of ABC meet at I and
  BAC 50 . The mea sure of BIC is
ABC ceW, ABC  leLee ACB kesâ Deevleefjkeâ DeefOekeâ efyevog I
hej efceueles nQ leLee   BAC 50 ~ BIC keâe ceeve %eele keâjW~
(a) 105° (b) 115° (c) 125° (d) 130°

 Anskwer Key

1. (d) 2. (d)  3. (a) 4. (b) 5. (c) 6. (d) 7. (d)  8. (a) 9. (d) 10. (b)
11. (a) 12. (c) 13. (c) 14. (b)  15. (d)  16. (d)  17. (d)  18. (c)  19. (b)  20. (d)

 21. (b)  22. (a)  23. (d) 24. (d)  25. (b)  26. (d)  27. (d)  28. (c)  29. (d) 30. (d)
 31. (c) 32. (d)  33. (c)  34. (d)  35. (c)  36. (c)  37. (a)  38. (b)  39. (d) 40. (d)
 41. (c)  42. (c)  43. (b)  44. (d)  45. (c)  46. (a)
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 practice set-1
1. The per im e ters of two squares are 40 cm and 32 cm.

The per im e ter of a third square whose area is the
dif fer ence of the ar eas of the two squares is
oes JeieeX kesâ heefjceehe 40 mesceer Deewj 32 mesceer nw~ Gme leermejs Jeie&
keâe heefjceehe, efpemekeâe #es$eheâue Fve oesveeW JeieeX kesâ #es$eheâueeW keâe
Deblej nw, efvecve nw
(a) 24 cm (b) 42 cm (c) 40 cm (d) 20 cm

2. The per im e ters of five squares are 24 cm, 32 cm, 40 cm,
76 cm and 80 cm re spec tively. The per im e ter of an other
square equal in area to sum of the ar eas of these squares
is
heeBÛe JeieeX kesâ heefjceehe ›eâceMe: 24 mesceer, 32 mesceer, 40 mesceer 76
mesceer 80 mesceer nw~ Gme Jeie& keâe heefjceehe, efpemekeâe #es$eheâue Fve
heeBÛeeW JeieeX kesâ #es$eheâueeW kesâ Ùeesie kesâ yejeyej nw~
(a) 31 cm (b) 62 cm (c) 124 cm (d) 961 cm

3. The ra tio of the area of a square to that of the square
drawn on its di ag o nal is :
efkeâmeer Jeie& kesâ #es$eheâue keâe Gmekesâ efJekeâCe& hej KeerÛes ieS Jeie& kesâ
#es$eheâue mes Devegheele nesiee
(a) 1:1 (b) 1:2 (c) 1:3 (d) 1: 4

4. The per im e ters of two squares are 40 cm and 24 cm.
The per im e ter of a third square, whose area is equal to
the dif fer ence of the ar eas of these squares, is
oes Jeieex kesâ heefjceehe 40 mesceer leLee 24 mesceer nw~ Gme leermejs Jeie&,
efpemekeâe #es$eheâue Fve oes Jeieexb kesâ #es$eheâueeW kesâ Devlej kesâ yejeyej
nw, keâe heefjceehe nesiee
(a) 34 cm (b) 32 cm (c) 38 cm (d) 30 cm

5. The length of a rect an gu lar gar den is 12 metres and its
breadth is 5 metres. Find the length of the di ag o nal of a
square gar den hav ing the same area as that of the
rect an gu lar gar den.
A efkeâmeer DeeÙeleekeâej cewoeve keâes Gmekesâ efJekeâCe& kesâ DevegefoMe 52
ceer/efceveš keâer Ûeeue mes Ûeuekeâj 15 meskeâC[ ceW heej keâjlee nw leLee
B Fve Kesle keâes Gmekeâer YegpeeDeeW kesâ DevegefoMe 68 ceer/efceveš keâer
Ûeeue mes Ûeuekeâj Gleves ner meceÙe ceW heej keâjlee nw~ Fme Kesle keâe
#es$eheâue nw
(a) 2 30 m (b) 13 m (c) 13m (d) 15 m

6. A took 15 sec. To cross a rect an gu lar field di ag o nally
walk ing at the rate of 52m /min. and B took the same
time to cross the same field along its sides walk ing at
the rate of 68m/min. The area of the field is
A efkeâmeer DeeÙeleekeâej cewoeve keâes Gmekesâ efJekeâCe& kesâ DevegefoMe 52
ceer/efceveš keâer Ûeeue mes Ûeuekeâj 15 meskeâC[ ceW heej keâjlee nw leLee
B Fme Kesle keâes Gmekeâer YegpeeDeeW kesâ DevegefoMe 68 ceer/efceveš keâer

Ûeeue mes Ûeuekeâj Gleves ner meceÙe ceW heej keâjlee nw~ Fme Kesle keâe
#es$eheâue nw
(a) 30 m 2 (b) 40 m 2 (c) 50 m 2 (d) 60m 2

7. A street of width 10 metres sur rounds from out side a
rect an gu lar gar den whose mea sure ment is
200m×180m. The area of the path (in square metres) is

10 ceer0 ÛeewÌ[eF& keâer Skeâ ieueer 200 ceer0 180 ceer0 ceW ceehe
Jeeues Skeâ DeeÙeleekeâej GÅeeve keâes yenej mes Iesjleer nw~ heLe keâe
#es$eheâue (Jeie& ceer ceW) nw
(a) 8000 (b) 7000 (c) 7500 (d) 8200

8. The sides of a tri an gle are 3 cm, 4 cm and 5 cm. The
area (in cm ) of the tri an gle formed by join ing the mid
points of this tri an gle is
efkeâmeer ef$eYegpe keâer YegpeeSB 3 mesceer0 4 mes Deewj 5 mesceer0 nw~ Fme
ef$eYegpe keâe #es$eheâue mes2 ceW nw~
(a) 6 (b) 3 (c) 3/2 (d)3/4

9. In an isos ce les tri an gle, the mea sure of each of equal
sides is 10 cm and the an gle be tween them is 45º. The
area of the tri an gle is
efkeâmeer mecekeâesCe ef$eYegpe Skeâ vÙetvekeâesCe otmejs keâe ogiegvee nw~ Ùeefo
Fmekesâ keâCe& keâer uecyeeF& 10 mes0 nw, lees Fmekeâe #es$eheâue nesiee
(a) 25 cm 2 (b)

2
2

2 cm 2

(c) 25 2 cm 2 (d) 25 3 cm 2

10. Through each ver tex of a tri an gle, a line par al lel to the
op po site side is drawn. The ra tio of the per im e ter of  the
new tri an gle, thus formed, with that of the orig i nal
tri an gle is
efkeâmeer ef$eYegpe kesâ ØelÙeskeâ Meer<e& efyevog mes Gmekeâer meccegKe Yegpee kesâ
meceevlej Skeâ jsKee KeerÛeer peeleer nw~ Fme Øekeâej yeves veÙes ef$eYegpe keâer
heefjceehe keâe ØeejbefYekeâ ef$eYegpe keâer heefjceehe mes Devegheele nesiee~
(a) 3:2 (b) 4:1 (c) 1:2 (d) 2:3

11. What is the area of the tri an gle whose sides are 9 cm, 10
cm and 11 cm?
Gme ef$eYegpe keâe #es$eheâue efkeâlevee nesiee, efpemekeâer YegpeeSB 9 mesceer,
10 mesceer leLee 11 mes. uebyeer nes?
(a) 30 cm 2 (b) 60 cm 2 (c) 30 2 cm 2 (d) 60 2cm

12. What is the area of a tri an gle hav ing per im e ter 32 cm.
One side 11 cm and dif fer ence of other two sides 5 cm?
Gme ef$eYegpe keâe #es$eheâue efkeâlevee nw efpemekeâe heefjceehe 32 mesceer nw,
Skeâ Yegpee 11 mes0 leLee Mes<e oesveeW YegpeeDeeW keâe Deblej 5 mes0 nw?
(a) 8 30 cm 2 (b) 5 35 cm 2

(c) 60 30 cm 2 (d) 8 2 cm 2
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13. The height of an equi lat eral tri an gle is 15 cm. The area
of the tri an gle is
Skeâ meceyeeng ef$eYegpe keâer TbÛeeF& 15 mes0 nw~ leovegmeej, Gmekeâe
#es$eheâue efkeâlevee nesiee
(a) 50 3 sq.cm (b) 70 3 sq. cm
(c) 75 3  sq. cm (d) 150 3 sq. cm

14. Three sides of a tri an gu lar field are of length 15 m 20m
and 25 long re spec tively. Find the cost of sow ing seeds
in the field at the rate of 5 ru pees per sq. m
Skeâ ef$eYegpeekeâj Kesle keâer leerve YegpeeDeeW keâes uebyeeF& ›eâceMe: 15 ceer
20 ceer leLee 25 ceer0 nw~ leovegmeej GmeceW 5 ®0 Øeefle Jeie& ceer0
keâer oj hej yeerpe yeesves keâer ueeiele keâer ieCevee keâerefpeS~
(a) 300 (b) 600 (c) 750 (d) 150

15. The per im e ter  of a rhom bus is 40 cm and the mea sure
of an an gle is 60º, then the area of it is :
Skeâ meceÛelegYeg&pe keâe heefjceehe 40 mesceer0 nw Deewj Skeâ keâesCe keâe
ceehe 60° nw, lees Gmekeâe #es$eheâue nw
(a) 10 3 cm 2 (b) 50 3 cm 2

(c) 160 3 cm 2 (d) 100cm 2

16. The ad ja cent sides of a par al lel o gram are 36 cm and 27
cm in length. If the dis tance be tween the shorter sides is
12 cm, then the dis tance be tween the lon ger sides is
Skeâ meceevlej ÛelegYeg&pe keâer efvekeâšJeleea YegpeeSB 36 mesceer, leLee 27
mesceer nw~ leovegmeej Ùeefo Gme ÛelegYeg&pe keâer Úesšer YegpeeDeeW keâer otjer
12 mesceer nes, lees yeÌ[er YegpeeDeeW keâer otjer efkeâleveer nesieer?
(a) 10 cm (b) 12 cm (c) 16 cm (d) 9 cm

17. Sides of a par al lel o gram are in the ra tio 5:4. Its area is
1000 sq. units. Al ti tude on the greater side
Skeâ meceeblej ÛelegYeg&pe keâer YegpeeDeeW keâe Devegheele 5 4:  nQ Gmekeâe
#es$eheâue 1000 Jeie& FkeâeF& nw~ yeÌ[er Yegpee hej legbieuee 20 FkeâeF&
nw~ Úesšer Yegpee hej legbieuee nw~
(a) 30 units (b) 25 units (c) 10 units (d) 15 units

18. Two ad ja cent sides of a par al lel o gram of length 15 cm
and 18 cm. If the dis tance be tween two smaller sides is
12 cm, then the dis tance be tween two big ger sides is
Skeâ meceeblej ÛelegYeg&pe keâer oes Deemevve YegpeeDeeW keâer uecyeeF& 15 mes0
Deewj 18 mes nw~ Ùeefo oes Úesšer YegpeeDeeW kesâ yeerÛe keâer otjer 12 mesceer
nw, lees yeÌ[er YegpeeDeeW kesâ yeerÛe otjer nw~
(a) 8 cm (b) 10 cm (c) 12 cm (d) 15 cm

19. A par al lel o gram ABCD has sides AB=24 cm and AD=16
cm. The dis tance be tween the sides AB and DC is 10 cm.
Find the dis tance be tween the sides AD and BC
Skeâ meceeblej ÛelegYeg&pe ABCD keâer Skeâ Yegpee AB  24 mes0 Deewj
otmejer Yegpee mes0 nw~ leovegmeej AD leLee BC YegpeeDeeW kesâ yeerÛe keâer
otjer efkeâleveer nesieer?
(a) 16 cm (b) 18 cm (c) 15 cm (d) 26 cm

20. If di ag o nal of a cube is 12 cm, then its vol ume in cu bic
cm is
Ùeefo Skeâ Ieve keâe efJekeâCe& 12 mes nw, lees Gmekeâe DeeÙeleve (Ieve
mesceer0) keäÙee nw?
(a) 8 (b) 12 (c) 24 (d) 3 2

21. If the vol ume of two cubes are in the ra tio 27:64, then
the ra tio of their to tal sur face ar eas is
Ùeefo oes IeveeW kesâ DeeÙeleveeW keâe Devegheele 27 64:  nw, lees Gmekesâ
mechetCe& he=<"erÙe #es$eheâueeW keâe Devegheele nw—
(a) 27 : 64 (b) 3 : 4 (c) 9 : 16 (d) 3 : 8

22. Find the length of the lon gest root that can be placed in
a hall of 10 m length, 6m breadth and 4 m height?
Gme meyemes uecyeer ÚÌ[ keâer uecyeeF& %eele keâerefpeS~ pees 10 ceer
uecyeeF& 6 ceer0 ÛeewÌ[eF& Deewj 4 ceer TBÛeeF& Jeeues Skeâ ne@ue ceW jKeer
pee mekeâleer nw~
(a) 2 38 m (b) 4 38 m
(c) 2 19 m (d) 19 m

23. The vol ume of a cuboid is twice the vol ume of a cube. If
the di men sions of the cuboid are 9 cm, 8 cm and 6 cm,
the to tal sur face area of the cube is
Skeâ IeveeYe keâe DeeÙeleve Skeâ Ieve kesâ DeeÙeleve keâe ogiegvee nw~ Ùeefo
IeveeYe keâer efJeceeSB 9 mes0, 8 mesceer Deewj 6 mes0 ceer nw, lees Ieve keâe
mechetCe& he=<"erÙe #es$eheâue nw
(a) 72cm 2 (b) 216 cm 2 (c) 432cm 2  (d) 108 cm 2

24. The length, breadth and height of a room is 5m, 4 m
and 3 m re spec tively. Find the length of the larg est
bam boo that can be kept in side the room.
Skeâ keâcejs keâer uecyeeF&, ÛeewÌ[eF& Deewj TBÛeeF& ›eâceMe: 5 ceer0 4 ceer
Deewj 3 ceer nw~ Gme meyemes yeÌ[er yeeBme keâer ÚÌ[er keâer uecyeeF& %eele
keâerefpeS pees Fme keâcejs ceW hetCe&leÙee jKeer pee mekeâleer nw
(a) 5m (b) 60m (c) 7m (d) 5 2 m

25. A wooden box mea sures 20 cm by 12 cm by 10 cm.
Thick ness of wood is 1 cm. Vol ume of wood to make the
box (in cu bic cm) is
uekeâÌ[er kesâ Skeâ yekeämes keâer ceehe 20 mesceer 12 mesceer 10 mesceer nw~
uekeâÌ[er keâer ceesšeF& 1 mesceer0 nQ Fme yekeämes keâes yeveeves ceW ueieer
uekeâÌ[er keâe DeeÙeleve (Ieve mesceer ceW) nw
(a) 960 (b) 519 (c) 2400 (d) 1120

26. A cube of edge 5 cm is cut into cubes each of edge of 1
cm. The ra tio of the to tal sur face area of one of the
small cubes to that of the large cube is equal to
5 mes0ceer0 efkeâveejs Jeeues Skeâ Ieve keâes 1 mes ceer efkeâveejs Jeeues IeveeW
ceW keâeše peelee nw~ Úesšs Ieve kesâ mechetCe& he=<" keâe yeÌ[s Ieve kesâ mechetCe&
he=<" mes Devegheele nesiee
(a) 1:125 (b) 1:5 (c) 1:625 (d) 1:25

27. A cuboidal wa ter tank con tains 216 litres of wa ter. Its
depth is 1/3 of its length and breadth is 1/2 of 1/3 of
the dif fer ence be tween length and depth. The length of
the tank is
Skeâ IeveeYeekeâej heeveer keâer šbkeâer ceW 216 ueer0 heeveer nw~ Gmekeâer
ienjeF& Gmekeâer uecyeeF& keâe 1

3
 nw Deewj ÛeewÌ[eF& Gmekeâer uecyeeF& Deewj

ienjeF& kesâ Deble kesâ 1/3 keâer 1/3 nw~ šbkeâer keâer uecyeeF& nesieer
(a) 72 dm (b) 18 dm (c) 6 dm (d) 2dm

28. The vol ume of cuboid is twice that of a cube. If the
di men sions of the cuboid are 9 cm, 8 cm and 6 cm, the
to tal sur face area of the cube is
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Skeâ IeveeYe keâe DeeÙeleve Skeâ Ieve kesâ DeeÙeleve keâe ogiegvee nw~ Ùeefo
IeveeYe keâer efJeceeSB 9 mes 8 mes Deewj 6 mes nes, lees Ieve keâe mechetCe&
he=<"erÙe #es$eheâue nesiee
(a) 72 cm 2 (b) 216 cm 2 (c) 432 cm 2 (d) 108 cm 2

29. If the length of the di ag o nal of a cube is 8 3 cm, then its
sur face area is
Ùeefo efkeâmeer Ieve kesâ efJekeâCe& keâer uebyeeF& 8 3 mes0 nw, lees Gmekeâe
he=<"erÙe #es$eheâue nw
(a) 192cm 2 (b) 512 cm 2

(c) 768 cm 2 (d) 384 cm 2

30. The length of lon gest pole that can be placed in a 12  m
long. 8 m broad and 9 m high room, is
12 ceer uebyes, 8 ceer0 ÛeewÌ[s leLee 9 ceer0 TBÛes efkeâmeer keâcejs ceW
jKeves ÙeesiÙe meyemes uebyes KecYes keâer uebyeeF& efkeâleveer nes mekeâleer nw?
(a) 12m (b) 17m (c)19 m (d) 21m

31. Di ag o nal of a cube is 6 3 cm. Ra tio of its to tal sur face
area and vol ume (nu mer i cally) is
Skeâ Ieve keâe efJekeâCe& 6 3 mes nw~ leovegmeej, Gmekesâ kegâue he=<"erÙe
#es$eheâue leLee DeeÙeleve keâe (mebKÙeelcekeâ) Devegheele efkeâlevee nw?
(a) 2:3 (b) 1:6 (c) 1:1 (d) 1:2

32. The vol ume of a cu bical box is 3.375 cu bic metres. The
length of edge of the box is
Skeâ Ieveekeâej yekeämes keâe DeeÙeleve 3.375 Ieve ceer nw~ leovegmeej,
Gme yekeämes keâer uecyeeF& efkeâleveer nw?
(a) 75 m (b) 1.5 m (c) 1.125 m (d)2.5 m

33. The vol ume of air in a room is 204m 3 . The height of
the room is 6m. What is the floor area of the room ?
efkeâmeer keâcejs ceW JeeÙeg keâer DeeÙeleve 204 Ieve ceer nw~ keâcejs keâer
TBÛeeF& 6 ceer nw~ keâcejs kesâ heâMe& keâe #es$eheâue keäÙee nQ?
(a) 32m 2 (b) 46m 2 (c) 44m 2 (d) 34 m 2

34. A right cy lin dri cal ves sel is full with wa ter. How many
right cones hav ing the same di am e ter and height as that

of the right cones hav ing the same di am e ter and height
as that of the right cyl in der will be needed to store that

wa ter ? (Take  
22
7

 )

Skeâ meceuebye yesueveekeâej yejleve, heeveer mes Yeje ngDee nw~ Gmeer heeveer
keâes jKeves kesâ efueS, Gme yejleve kesâ yejeyej JÙeeme leLee TBÛeeF& Jeeues
efkeâleves uebye MegbkeâDeeW keâer DeeJeMÙekeâlee nesieer  








22
7

 ceevekeâj

(a) 4 (b) 2 (c) 3 (d) 5
35. The area of the curved sur face and the area of the base

of a right cir cu lar cyl in der are a square cm and b square
cm re spec tively. The height of the cyl in der is
Skeâ uebyeJe=òeerÙe yesueve kesâ Je›eâerÙe he=‰ Deewj Gmekesâ DeeOeej keâe
#es$eheâue ›eâceMe: a Jeie& mesceer leLee b Jeie& mesceer nw~ leovegmeej
Gmekeâer TBÛeeF& efkeâleveer nesieer

(a)
2a

b
 cm (b)

a b

2 
(c)

a

b2 
 cm (d)

a

b



2
 cm

36. The di am e ter of a cyl in der is 7 cm and its height is 16
cm. Us ing the value of   22 7/  ,the lat eral sur face area
of the cyl in der is

Skeâ yesue keâe JÙeeme 7 mes Deewj Gmekeâer T@ÛeeF& 16 mes nw~   22
7

keâe ceeve GheÙeesie keâjles ngS, Gme yesueve kesâ heeMJeeaÙe heâuekeâ keâe
#es$eheâue efkeâlevee nesiee?
(a) 352cm 2 (b) 350cm 2 (c) 355cm 2  (d) 348 cm 2

37. A solid cyl in der has to tal sur face area  of 462 sq. cm. Its
curved sur face area is 1/3rd of the to tal sur face area.
Then the ra dius of the cyl in der is
Skeâ "esme yesueve keâer kegâue melen keâe #es$eheâue 462 mesceer2 nQ~
Gmekeâer Je›eâerÙe melen keâe #es$eheâue, kegâue melen kesâ #es$eheâue keâe
1/3 nw~ leovegmeej Gme yesueve keâer ef$epÙee efkeâleveer nw?
(a) 7 cm (b) 3.5 cm (c) 9 cm (d) 11 cm

  Answer key

1. (a) 2. (c)  3. (b) 4. (b) 5. (a) 6. (d) 7. (a)  8. (c) 9. (c) 10. (c)
11. (c) 12. (a) 13. (c) 14. (c)  15. (a)  16. (a)  17. (b)  18. (b)  19. (d)  20. (a)

 21. (c) 22. (a)  23. (a)  24. (d)  25. (d)  26. (b) 27. (b)  28. (d) 29. (b)  30. (c)
 31. (c)  32. (b)  33. (d)  34. (c)  35. (c)  36. (a) 37. (a)
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 practice set-2
1. The circumcentre of a tri an gle is al ways the point of

in ter sec tion of the
efkeâmeer ef$eYegpe keâe heefjkesâvõ ncesMee ØeefleÛÚso efyevog neslee nw
(a) me di ans
(b) Per pen dic u lars bi sec tors
(c) al ti tude bi sec tor
(d) per pen dic u lars dropped from the ver ti ces on the

op po site sides of the tri an gle
2. The Qutab Minar casts a shadow 150 m long at the

same time when the Vikash Minar casts a shadow of 120
m long on the ground. If the height of theVikas Minar is
80 m, then the height of the Qutab Minar is
peye kegâlegyeceerveej keâer hejÚeF& keâer uecyeeF& 150 ceeršj nw Gmeer meceÙe
Skeâ efJekeâeme ceerveej 120 ceeršj uecyeeF& keâer hejÚeF& yeveleer nw~
Ùeefo efJekeâeme ceerveej keâer TBÛeeF& 80 ceeršj nes lees, kegâlegyeceerveej keâer
GBÛeeF& %eele keâjes
(a) 180 m (b) 100m (c) 150 m (d) 120 m

3. The num ber of tan gents that can be drawn to two non
in ter sect ing cir cles is
oes hejmhej ØeefleÛÚso veneR keâjves Jeeues Je=òeeW hej efkeâleveer mheMe& jsKeeSb
KeeRÛeer pee mekeâleer nw
(a) 4 (b) 3 (c) 2 (d) 1

4. An an gle is equal to 1/3rd of its supplemnt. Find its
mea sure
Ùeefo keâesF& keâesCe Deheves hetjkeâ keâesCe keâe 1/3 nw, lees Gme keâesCe keâe
ceeve nesiee
(a) 60º (b) 80º (c) 90º (d) 45º

5. A man goes 10 m due east and then 24 m due north.
Find the dis tance from the start ing point
Skeâ Deeoceer Skeâ mLeeve mes Ûeuevee ØeejcYe keâjlee nw~ Jen henues 10
ceeršj hetJe& ceW leLee efheâj 24 ceeršj Gòej ceW Ûeuelee nw ØeejefcYekeâ
efyevog mes Gmekeâer otjer %eele keâjes
(a) 26m (b) 24m (c) 28 m (d) 30m

6. The sum of the in te rior an gles of a poly gon is 1620º.
The num ber of sides of the poly gon are
efkeâmeer yengYegpe kesâ Deevleefjkeâ keâesCeeW keâe Ùeesie 1620° nw yengYegpe
keâer YegpeeDeeW keâer mebKÙee %eele keâjeW~
(a) 9 (b) 11 (c) 15 (d) 12

7. How many sides a reg u lar poly gon has with its in te rior
an gle eight times its ex te rior an gle
efkeâmeer meceyengYegpe keâe Deevleefjkeâ keâesCe Gmekesâ Jee¢e keâesCe keâe Dee"
iegvee nQ~ lees meceyengYegpe keâer YegpeeDeeW keâer mebKÙee %eele keâjes
(a) 16 (b) 24 (c) 18 (d) 20

8. If

6

 is the mea sure of each in te rior an gle of a reg u lar

con vex poly gon, then it must be a

Ùeefo efkeâmeer meceyengYegpe keâe ØelÙeskeâ Deevleefjkeâ keâesCe 
6

 nw lees

Gmekeâer YegpeeDeeW keâer mebKÙee nesieer
(a) oc ta gon (b) hexa gon

(c) dodecagon (d) pen ta gon
9. In a quad ri lat eral ABCD,   B 90  and AD AB2 2

BC 2  CD CD2 2,  then  ACD is equal to
ÛelegYeg&pe ABCD ceW,   B 90  Deewj
AD AB BC CD2 2 2 2   , lees  ACD keâe ceeve nw
(a) 90º (b) 60º
(c) 30º (d) none of these

10. In a tri an gle ABC, A=xº, B=yº and C= (y+20)º,
then the tri an gle is
ABC ceW      A x B y, , Deewj    C y( ) ,20  lees
ef$eYegpe nw
(a) right an gled (b) ob tuse an gled
(c) Equi lat eral (d) None of these

11. The per im e ters of two sim i lar tri an gle ABC and PQR are
36 cm and 24 cm re spec tively. If PQ=10 cm, then the
lengthof AB is
oes mece™he ef$eYegpeeW ceW ABC leLee PQR kesâ heefjceehe ›eâceMe: 36
mesceer leLee 24 mesceer nw~ Ùeefo PQ  10 mesceer lees AB keâer uecyeeF&
%eele keâjes
(a) 16 m (b) 12 m (c) 14 m (d) 15

12. In the fol low ing fig ure, find  ADC
efoÙes ieS efÛe$e ceW  ADC %eele keâjeW

(a) 55 (b) 27.5 (c) 60 (d) 30

13. Two isos ce les tri an gles have equal ver ti cal an gles and
their ar eas are in the ra tio 9:16. The ra tio of their
cor re spond ing heights is
oes meceefÉyeeng ef$eYegpeeW kesâ Meer<e& keâesCe meceeve nQ leLee Fvekesâ #es$eheâueeW
keâe Devegheele 9 16:  nw Fvekeâer TBÛeeF& keâe Devegheele nw
(a) 3 : 4 (b) 4 : 3 (c) 2 : 1 (d) 1 : 2

14. A 25m long lad der is placed against a ver ti cal wall
in side a room such that the foot of the  lad der is 7m
from the foot of the wall. If the top of the laddder slides
4m downwords, then the foot of the lad der willslide by
(a) 2m (b) 4m (c) 8m (d) 16m

15. The area of a field in the shape of a tra pe zium mea sures
1440 m. The per pen dic u lar dis tance be tween its
par al lel sides is 24 m. If the ra tio of the par al lel sides is
5:3, the length of the lon ger par al lel sides is
meceuecye Deekeâej kesâ efkeâmeer cewoeve keâe #es$eheâue 1440 ceeršj2 nw
Fmekeâer meceevlej YegpeeDeeW kesâ yeerÛe keâer uecyeJele otjer 24 ceeršj nw~
Ùeefo Fmekeâer meceevlej YegpeeDeeW keâer uecyeeF&ÙeeW keâe Devegheele 5 3:
nw~
(a) 45m (b) 60m (c) 75m (d) 120m
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16. Sup pose it is 3 o’clock. Af ter 20 min utes the anlge
be tween the smaller and big ger hands will be
ceevee Deye leerve yepes nQ lees 20 efceveš yeeo Úesšer megFË leLee yeÌ[er megFË
kesâ yeerÛe keâesCe %eele keâjes
(a) 20º (b) 30º (c) 110º (d) 120º

17. The ra dius o the circumcircle of an equi lat eral tri an gle
of side 12 cm is
12 mesceer Yegpee Jeeues meceyeeng ef$eYegpe keâer heefjJe=òe keâer ef$epÙee nw
(a)

4
3

3 cm (b) 4 3 cm (c) 4 2 cm (d)
4
2

2 cm

18. If the per im e ter of an isos ce les right tri an gle is
( )6 33 2 f   m, then the area of the tri an gle is
efkeâmeer meceefÉyeeng, mecekeâesCe ef$eYegpe keâe heefjceehe ( )6 33 2 f
ceeršj nw ef$eYegpe keâe #es$eheâue %eele keâjes
(a) 4.5 m 2 (b) 4.3 m 2 (c) 9 m 2 (d) 81 m 2

19. The two sides of a right tri an gle con tain ing the right
an gle mea sure 3 cm and 4 cm. The ra dius of the incircle
of the tri an gle is
efkeâmeer mecekeâesCe ef$eYegpe keâer oes YegpeeDeeW 3 mesceer leLee 4 mesceer keâe
keâesCe 90° nw~ ef$eYegpe keâer Devle Je=òe keâer ef$epÙee %eele keâjes
(a) 3.5 (b) 1.75 cm (c) 1 cm (d) 0.875 cm

20. If P and Q are the mid points of the sides CA and CB
re spec tively of a tri an gle ABC, right an gled at C. Then
the value of 4 ( )AQ BP2 2  is equal to
ef$eYegpe ceW YegpeDee CA leLee CB kesâ ceOÙe efyevog ›eâceMe: P leLee Q
nw leLee C mecekeâesCe nw~ lees 4 2 2( )AQ BP  keâe ceeve %eele
keâjeW
(a) 4 2BC (b) 5 2AB (c) 2 2AC (d) 2 2BC

21. In the fig ure be low, if the per im e ter of ABC is p, then
the per im e ter of the reg u lar hexa gon is
efoÙes ieS efÛe$e ceW, Ùeefo ef$eYegpe ABC keâe heefjceehe P nw lees
mece<e<"Yegpe keâe heefjceehe %eele keâjes~

(a)
3

2

p
(b)

2
3
p

(c)
3
2
p

(d)
2

3

p

22. With the ver ti ces of a ABC as cen tres, three cir cles are
de scribed each touch ing the other two ex ter nally. If the
sides of the tri an gle are 4,6 and 8 cm re spec tively, then
the sum of the ra dii of the three cir cles equals

ef$eYegpe ABC kesâ Meer<e& leerveeW Je=òeeW kesâ kesâvõ nw pees leerveeW Deeheme ceW
JeenÙe mheMe& keâjles nQ Ùeefo ef$eYegpe keâer leerveeW Yegpee ›eâceMe: 4, 6
Deewj 8 mesceer nw lees leerveeW Je=òeeW keâer ef$epÙeeDeeW keâe Ùeesie %eele
keâerefpeS~
(a) 10 (b)14 (c) 12 (d) 9

23. In the fig ure given be low, O is the  cen tre of the cir cle. If
OBC=37º, the BAC is equal to
efoÙes ieÙes efÛe$e ceW O Je=òe keâe kesâvõ nw~ Ùeefo   OBC 37 .
BAC ceeve nw efoÙes ieÙes efÛe$e ceW PQ CD 4 3, , PA  8,
mesceer nes lees AB keâe ceeve nesiee

(a) 74º (b) 106º (c) 53º (d) 37º
24. If, in the fol low ing fig ure, PA=8 cm, PD=4 cm, CD=3

cm, then AB is equal to
efoÙes ieÙes efÛe$e cebs PA PQ CD  8 4 3, ,  mesceer nes lees AB keâe
ceeve nesiee

(a) 3.0 cm (b) 3.5 cm (c) 4.0 cm (d) 4.5 cm
25. Two cir cles of unit ra dius tocuh each other and each of

them touches in ter nally a cir cle of ra dius two, as shown
in the fol low ing fig ure. The ra dius of the cir cle which
touches all the three cir cles is
F&keâeF& ef$epÙee Jeeues oes Je=òe Skeâ otmejs keâes mheMe& keâjles nQ~ leLee oes
F&keâeF ef$epÙee Jeeuee Skeâ Fve oesveeW Je=òeeW keâes Deevleefjkeâ mheMe& keâjlee
nw~ pewmee efkeâ efÛe$e ceW efoKeeÙee ieÙee nw~ Fve leerveeW Je=òeeW keâes mheMe&
keâjves Jeeues Je=òe keâer ef$epÙee %eele keâjes~

(a) 5 (b) 3/2
(c) 2/3 (d) none of these

  Answer key

1. (b) 2. (b)  3. (a) 4. (d) 5. (a) 6. (b) 7. (c)  8. (c) 9. (a) 10. (a)
11. (d) 12. (b) 13. (a) 14. (c)  15. (c)  16. (a)  17. (b)  18. (a)  19. (c)  20. (b)

 21. (d)  22. (d)  23. (c) 24. (d)  25. (c)
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 Practice set-1
1. There is a pyr a mid on a base which is a reg u lar hexa gon of

side 2a cm. If ev ery slant edge of this pyr a mid is of length
5
2
a

cm , then the vol ume of of this pyr a mid is

efkeâmeer 2a mesceer Yegpee Jeeues <ešdYegpe keâes DeeOeej ceeveles ngS Skeâ
efhejeefce[ nw~ Ùeefo efhejeefce[ keâer efleÙe&keâ TBÛeeF& 5

2
a mesceer nw,

efhejeefce[ keâe DeeÙeleve %eele keâjW?
(a) 3 3a  cm3 (b) 3 2 2a  cm3

(c) 3 3 3a cm3 (d) 6 3a cm3

2. The base of a right pyr a mid is a square of side 40 cm long. If
the vol ume of the pyr a mid is 8000 cm3 then its height is :

efkeâmeer efhejeefce[ keâe DeeOeej 40 mesceer Yegpee Jeeuee Jeie& nw~ Ùeefo
efkeâmeer efhejeefce[ keâe DeeÙeleve 8000 mesceer3 nw~ efhejeefce[ keâer TBÛeeF&
%eele keâjW?
(a) 5 cm (b) 10 cm (c) 15 cm (d) 20 cm

3. Each edge of a reg u lar tet ra he dron is 3 cm , then its vol ume is

efkeâmeer meceÛeleg<heâuekeâ keâer ØelÙeskeâ Yegpee 3 mesceer nw~ DeeÙeleve %eele
keâjW?
(a)

9 2
4

 c.c (b) 27 3 c.c. (c)
4 2

9
 c.c.(d) 9 3 c.c.

4. The per im e ter of the tri an gu lar base of a right prism is 15 cm
and ra dius of the incircle of the tri an gu lar base is 3 cm if the
vol ume of the prism be 270 cm3 then the height of the prism
is

efkeâmeer 15 mesceer heefjceehe Jeeues ef$eYegpe efpemekeâer Devle: Je=òe keâer
ef$epÙee 3 mesceer nw, keâes DeeOeej ceeveles ngS Skeâ efØepce nQ~ Ùeefo efØepce
keâe DeeÙeleve 270 mesceer3 nw, leye efØepce keâer TBÛeeF& %eele keâjeW?
(a) 6 cm (b) 7.5 cm (c) 10 cm (d) 12 cm

5. The base of a right prism is an equi lat eral tri an gle of area 173
cm2 and the vol ume of the prism is 10380 cm3. The area of
the lat eral suface of the prism is (Use 3 1 73 . )

efkeâmeer meceyeeng ef$eYegpe DeeOeej Jeeues efØepce keâe DeeOeej keâe #es$eheâue
173 mesceer2 nw leLee efØepce keâe DeeÙeleve 10380 mesceer2 nw~ efØepce
keâe efleÙe&keâ he=‰ #es$eheâue %eele keâjW?
(a) 1200 cm2 (b) 2400 cm2

(c) 3600 cm2 (d) 4380 cm2

6. The  base of a right pyamid is a square of side 16 cm long. If its
height be 15 cm, then the area of the lat eral sur face in square
cm is :

efkeâmeer efhejeefce[ keâe DeeOeej 16 mesceer Yegpee Jeeuee Jeie& nw~ Ùeefo
Gmekeâer TBÛeeF& 15 mesceer nes, leye efleÙe&keâ he=‰ #es$eheâue %eele keâjW?
(a) 136 (b) 544 (c) 800 (d) 1280

7. Area of the base of a pyr a mid is 57 sq. cm and height is 10 cm,
then its vol ume (in cm3), is

efhejeefce[ kesâ DeeOeej keâe #es$eheâue 57 mesceer2 leLee TBÛeeF& 10 mesceer
nw~ DeeÙeleve %eele keâjWw?
(a) 570 (b) 390 (c) 190 (d) 590

8. The base of a right prism is an equi lat eral tri an gle of side 8 cm
and height of the prism is 10 cm. Then the vol ume of the
prism is

efkeâmeer efØepce keâe DeeOeej 8 mesceer Yegpee Jeeuee meceyeeng ef$eYegpe lekeâ
TBÛeeF& 10 mesceer nw~ efØepce keâe DeeÙeleve %eele keâjW?
(a) 320 3 cu bic cm (b) 160 3 cu bic cm
(c) 150 3 cu bic cm (d) 300 3 cu bic cm

9. If  the slant height of a right pyr a mid with square base is 4
metre and the to tal slant sur face of the pyr a mid is 12 square
metre, then the ra tio of to tal slant sur face and area of the base
is:

efkeâmeer efhejeefce[ keâer efleÙe&keâ GBâÛeeF& 4 ceeršj leLee kegâue efleÙe&keâ he=‰
#es$eheâue 12 2m leLee DeeOeej Skeâ Jeie& nw~ leye efleÙe&keâ he=‰ #es$eheâue
leLee DeeOeej keâe #es$eheâue keâe Devegheele %eele keâjW?
(a) 16 : 3 (b) 24 : 5 (c) 32 : 9 (d) 12 : 3

10. The base of right prims is a tri an gle whose per im e ter is 28 cm
and the inradius of the tri an gle is 4 cm. If the vol ume of the
prims is 366 cc, then its height is

efkeâmeer efØepce keâe DeeOeej 28mesceer heefjceehe Jeeuee Skeâ ef$eYegpe nw,
efpemekesâ Devle Je=òe keâer ef$epÙee 4 mesceer nw~ Ùeefo efØepce keâe DeeÙeleve
366 mesceer3 nes, leye efØepce keâer TBÛeeF& %eele keâjeW?
(a) 6 cm (b) 8 cm (c) 4 cm (d) None

11 If the base  of a right pyr a mid is tri an gle of sides 5 cm, 12 cm
and 13 cm and its vol ume is 330 cm, then its height (in cm)
will be

efkeâmeer efhejeefce[ keâe DeeOeeje 5 mesceer, 12 mesceer leLee 13 mesceer Yegpee
Jeeuee ef$eYegpe nw~ efhejeefce[ keâe DeeÙeleve 330 mesceer3 nw, leye
efhejeefce[ keâer TBÛeeF& %eele keâjes?
(a) 33 (b) 32 (c) 11 (d) 22

12. A right prims stands on a base of 6 cm side equi lat eral tri an gle
and its vol ume is 81 3 cm3. the height (in cm) of the prims is

6 mesceer Yegpee Jeeues meceyeeng ef$eYegpe keâes DeeOeej ceevekeâj Skeâ efØepce
yeveeÙee ieÙee leLee DeeÙeleve 81 3 mesceer3 nw~ efØepce keâer TBÛeeF& %eele
keâjW?
(a) 9 (b) 10 (c) 12 (d)15

13. A right pyr a mid stands on a square base of di ag o nal
10 2 cm. If the height of the pyr a mid is 12 cm, the
area (in cm2) of its slant sur face is
10 2 mesceer efJekeâCe& Jeeues Jeie& keâes DeeOeej ceevekeâj Skeâ efhejeefce[
yeveeÙee ieÙee~ Ùeefo efhejeefce[ keâer TBÛeeF& 12 mesceer nw, efleÙe&keâ he=<"
keâe #es$eheâue %eele keâjW~
(a) 520 (b) 420 (c) 360 (d) 260
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14. If the al ti tude of a right prims is 10 cm and its base is an
equi lat eral tri an gle of side 12 cm, then its to tal sur face area
(in cm2) is

efkeâmeer efØepce keâe Meer<e&uecye 10 mesceer leLee Gmekeâe DeeOeej 12 mesceer
Yegpee Jeeuee meceyeeng ef$eYegpe nw~ mechetCe& he=‰ #es$eheâue %eele keâjW?
(a) ( )5 3 3 (b) 36 3 (c) 360 (d) 72 5 3( )

15. A right pyr a mid stands on a square base of side 16 cm and its
height is 15 cm . The area (in cm2) of its slant sur face is

efkeâmeer efhejeefce[ keâe DeeOeej 15 mesceer Yegpee keâe Jeie& leLee TBÛeeF&
15 mesceer nw~ efleÙe&keâ he=‰ keâe #es$eheâue %eele keâjW?
(a) 514 (b) 544 (c) 344 (d) 444

16. A right pyr a mid 6 m high has a square base of which the
di ag o nal is 1152 m. Vol ume of the pyr a mid is

1152 ceer. efJekeâCe& Jeeues Jeie& hej efmLele Skeâ efhejeefce[ keâer TBÛeeF&
6 ceer nw~ efhejeefce[ keâe DeeÙeleve %eele keâjW?
(a) 144 m3 (b) 288 m3 (c) 576 m3(d) 1152 m3

17. The to tal  sur face  area  of a reg u lar tri an gu lar pyr a mid with
each edges of length 1 cm is?

Skeâ meceef$eYegpeekeâej efhejeefce[ keâe mebhetCe& he=‰ #es$eheâue keäÙee nesiee
efpemekeâer meYeer YegpeeSB 1 mesceer uebyeer nes?
(a)

4
2

2 cm2 (b) 3 cm2 (c) 4 cm2 (d) 4 3 cm2

18. Base of a right pyr a mid is a square of side 10 cm. If the height
of the pyr a mid is 12 cm, then its to tal sur face area is

Skeâ uebye efhejeefce[ keâe DeeOeej 10 mesceer Yegpee keâe Jeie& nw~ Ùeefo
efhejeefce[ keâer TBÛeeF& 12 mesceer nw, lees kegâue he=‰erÙe #es$eheâue efkeâlevee
nesiee?
(a) 360 cm2 (b) 400 cm2 (c) 460 cm2 (d) 260 cm2

19. Ease of a prism of height 10 cm is square. To tal sur face area of
the prism is 192 sq.cm. The vol ume of the prism is

10 mesceer TBÛeeF& Jeeues efØepce keâe DeeOeej Jeiee&keâej nw~ efØepce keâe
kegâue he=‰erÙe #es$eheâue 192 Jeie& mesceer nw~ efØepce keâe DeeÙeleve nw
(a) 120 cm3 (b) 640 cm3 (c) 90 cm3 (d) 160 cm3

20. The sides of a tri an gle are 7 cm, 8 cm, 9 cm, then the area of
the tri an gle (in cm2) is

Skeâ ef$eYegpe keâer YegpeeSB 7 mesceer , 8 mesceer, 9 mesceer nw, lees ef$eYegpe
keâe #es$eheâue(mesceer2ceW) efkeâlevee nesiee?
(a) 12 5 (b) 6 5 (c) 24 5 (d) 30 5

21. A cy lin dri cal rod of ra dius 30 cm and length 40 cm is melted
and made into spher i cal balls of ra dius 1 cm. The num ber of
spher i cal balls is.

30 mesceer ef$epÙee keâer Deewj 40 mesceer uebyeer yesueveekeâej ÚÌ[ keâes
ieueeÙee peelee nw Deewj 1 mesceer ef$epÙee keâer ieesefueÙeeB yeveeF& peeleer nw~
ieesefueÙeeW keâer mebKÙee efkeâleveer nesieer?
(a) 40000 (b) 90000 (c) 27000 (d) 36000

22. The ra dii of the base of a cyl in der and a cone are equal and
their vol umes are also equal. Then the ra tio of their heights is

Skeâ efmeueW[j Deewj Skeâ Mebkegâ kesâ leue keâer ef$epÙee meceeve nw Deewj
Gvekeâe DeeÙeleve Yeer meceeve nw~ Gvekeâer TBÛeeF& keâe Devegheele keäÙee
nesiee?
(a)  1 : 2 (b) 2 : 1 (c) 1 : 4 (d) 1 : 3

23. The base of a right prism, whose height is 2 cm, is a square. If
he to tal sur face area of the prism is 10 cm2. Then its vol ume
is:

mece efØepce keâe efpemekeâer GBâÛeeF& 2 mesceer nw, DeeOeej Jeie& nw~ Ùeefo
efØepce keâe kegâue melen #es$eheâue 10 mesceer nw, lees Gmekeâe DeeÙeleve
keäÙee nesiee?
(a) 2 cm3 (b) 1 cm3 (c) 3 cm3 (d) 3 cm3

24. The ra dius of a wire is de creased to one third. If vol ume
re mains the same, length will in crease by :

efkeâmeer leej keâer ef$epÙee Skeâ-efleneF& keâce keâj oer peeleer nw~ Ùeefo
DeeÙeleve Mes<e  jns lees uebyeeF& efkeâleveer yeÌ{ peeSieer?
(a) 3 times (b) 1 times (c) 9 times (d)6 times

25. A sphare is cir cum scribed and in scribed about two dif fer ent
cubes re spec tively. Find the ra tio of vol ume of these cubes.

Skeâ ieesuee oes efJeefYeVe IeveeW keâes ›eâceMe: yeenj SJeb Devoj mes mheMe&
keâjlee nw~ Fve IeveeW kesâ DeeÙeleve keâe Devegheele %eele keâjW?
(a) 1 3 3: (b) 2 2 1: (c) 3 1: (d) 2 1:

26. The  ra dii of a sphare and cyl in der are  6 cm each. If their
vol umes are equal , then the curved sur face area of the
cyl in der is :

Skeâ ieesues Deewj Skeâ efmeueQ[j keâer ef$epÙeeSb 6 mesceer nQ~ Ùeefo Gvekesâ
DeeÙeleve yejeyej nes, lees yesueve keâe Ûe›eâ he=‰ #es$eheâue efkeâlevee
nesiee?
(a) 32 cm2 (b) 96 cm2 (c) 44 cm2(d) 54 cm2

27. The sum of the length, breadth and depth of a cuboid is 19 cm
and its di ag o nal is 5 5 cm. Its sur face are is-

Skeâ IeveeYe keâer uebyeeF& ÛeewÌ[eF& Deewj ieneF& keâe Ùeesie 19 mesceer nw
Deewj Fmekeâe efJekeâCe& 5 5 mesceer nw Fmekeâe he=‰ #es$eheâue nw-
(a) 125 cm2 (b) 236 cm2 (c) 95 5 cm2(d) 361 cm2

28. The area of a rhom bus of which one side is 25 cm and
di ag o nal is 30 cm is :

25 mesceer Yegpee Deewj 30 mesceer efJekeâCe& Jeeues meceÛelegYeg&pe keâe
#es$eheâue efkeâlevee nesiee?
(a) 600 sq cm (b) 750 sq cm (c) 500 sq cm (d) 550 sq cm

29. A star ing of length 24 cm is bent first into a square and then
into a right -an gled tri an gle by keep ing one side of the square
fixed as its base. Then the area of tri an gle equals to :

24 mesceer uecyeer Skeâ leej keâes ceesÌ[keâj Jeie& Deewj efheâj mecekeâesCe
ef$eYegpe yeveeÙee peelee nw, Deewj Jeie& keâer Skeâ Yegpee keâes ef$eYegpe keâe
DeeOeej jKee peelee nw~ ef$eYegpe keâe #es$eheâue keäÙee nesiee?
(a) 24 cm2 (b) 60 cm2 (c) 40 cm2 (d) 28 cm2

  Answer key

1. (c) 2. (c)  3. (a) 4. (d) 5. (c) 6. (b) 7. (c)  8. (b) 9. (a) 10. (d)
11. (a) 12. (a) 13. (d) 14. (d)  15. (b)  16. (d)  17. (b)  18. (a)  19. (d)  20. (a)

 21. (c)  22. (d)  23. (a) 24. (c)  25. (a)  26. (b)  27. (b)  28. (a)  29. (a)
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14. If the al ti tude of a right prims is 10 cm and its base is an
equi lat eral tri an gle of side 12 cm, then its to tal sur face area
(in cm2) is

efkeâmeer efØepce keâe Meer<e&uecye 10 mesceer leLee Gmekeâe DeeOeej 12 mesceer
Yegpee Jeeuee meceyeeng ef$eYegpe nw~ mechetCe& he=‰ #es$eheâue %eele keâjW?
(a) ( )5 3 3 (b) 36 3 (c) 360 (d) 72 5 3( )

15. A right pyr a mid stands on a square base of side 16 cm and its
height is 15 cm . The area (in cm2) of its slant sur face is

efkeâmeer efhejeefce[ keâe DeeOeej 15 mesceer Yegpee keâe Jeie& leLee TBÛeeF&
15 mesceer nw~ efleÙe&keâ he=‰ keâe #es$eheâue %eele keâjW?
(a) 514 (b) 544 (c) 344 (d) 444

16. A right pyr a mid 6 m high has a square base of which the
di ag o nal is 1152 m. Vol ume of the pyr a mid is

1152 ceer. efJekeâCe& Jeeues Jeie& hej efmLele Skeâ efhejeefce[ keâer TBÛeeF&
6 ceer nw~ efhejeefce[ keâe DeeÙeleve %eele keâjW?
(a) 144 m3 (b) 288 m3 (c) 576 m3(d) 1152 m3

17. The to tal  sur face  area  of a reg u lar tri an gu lar pyr a mid with
each edges of length 1 cm is?

Skeâ meceef$eYegpeekeâej efhejeefce[ keâe mebhetCe& he=‰ #es$eheâue keäÙee nesiee
efpemekeâer meYeer YegpeeSB 1 mesceer uebyeer nes?
(a)

4
2

2 cm2 (b) 3 cm2 (c) 4 cm2 (d) 4 3 cm2

18. Base of a right pyr a mid is a square of side 10 cm. If the height
of the pyr a mid is 12 cm, then its to tal sur face area is

Skeâ uebye efhejeefce[ keâe DeeOeej 10 mesceer Yegpee keâe Jeie& nw~ Ùeefo
efhejeefce[ keâer TBÛeeF& 12 mesceer nw, lees kegâue he=‰erÙe #es$eheâue efkeâlevee
nesiee?
(a) 360 cm2 (b) 400 cm2 (c) 460 cm2 (d) 260 cm2

19. Ease of a prism of height 10 cm is square. To tal sur face area of
the prism is 192 sq.cm. The vol ume of the prism is

10 mesceer TBÛeeF& Jeeues efØepce keâe DeeOeej Jeiee&keâej nw~ efØepce keâe
kegâue he=‰erÙe #es$eheâue 192 Jeie& mesceer nw~ efØepce keâe DeeÙeleve nw
(a) 120 cm3 (b) 640 cm3 (c) 90 cm3 (d) 160 cm3

20. The sides of a tri an gle are 7 cm, 8 cm, 9 cm, then the area of
the tri an gle (in cm2) is

Skeâ ef$eYegpe keâer YegpeeSB 7 mesceer , 8 mesceer, 9 mesceer nw, lees ef$eYegpe
keâe #es$eheâue(mesceer2ceW) efkeâlevee nesiee?
(a) 12 5 (b) 6 5 (c) 24 5 (d) 30 5

21. A cy lin dri cal rod of ra dius 30 cm and length 40 cm is melted
and made into spher i cal balls of ra dius 1 cm. The num ber of
spher i cal balls is.

30 mesceer ef$epÙee keâer Deewj 40 mesceer uebyeer yesueveekeâej ÚÌ[ keâes
ieueeÙee peelee nw Deewj 1 mesceer ef$epÙee keâer ieesefueÙeeB yeveeF& peeleer nw~
ieesefueÙeeW keâer mebKÙee efkeâleveer nesieer?
(a) 40000 (b) 90000 (c) 27000 (d) 36000

22. The ra dii of the base of a cyl in der and a cone are equal and
their vol umes are also equal. Then the ra tio of their heights is

Skeâ efmeueW[j Deewj Skeâ Mebkegâ kesâ leue keâer ef$epÙee meceeve nw Deewj
Gvekeâe DeeÙeleve Yeer meceeve nw~ Gvekeâer TBÛeeF& keâe Devegheele keäÙee
nesiee?
(a)  1 : 2 (b) 2 : 1 (c) 1 : 4 (d) 1 : 3

23. The base of a right prism, whose height is 2 cm, is a square. If
he to tal sur face area of the prism is 10 cm2. Then its vol ume
is:

mece efØepce keâe efpemekeâer GBâÛeeF& 2 mesceer nw, DeeOeej Jeie& nw~ Ùeefo
efØepce keâe kegâue melen #es$eheâue 10 mesceer nw, lees Gmekeâe DeeÙeleve
keäÙee nesiee?
(a) 2 cm3 (b) 1 cm3 (c) 3 cm3 (d) 3 cm3

24. The ra dius of a wire is de creased to one third. If vol ume
re mains the same, length will in crease by :

efkeâmeer leej keâer ef$epÙee Skeâ-efleneF& keâce keâj oer peeleer nw~ Ùeefo
DeeÙeleve Mes<e  jns lees uebyeeF& efkeâleveer yeÌ{ peeSieer?
(a) 3 times (b) 1 times (c) 9 times (d)6 times

25. A sphare is cir cum scribed and in scribed about two dif fer ent
cubes re spec tively. Find the ra tio of vol ume of these cubes.

Skeâ ieesuee oes efJeefYeVe IeveeW keâes ›eâceMe: yeenj SJeb Devoj mes mheMe&
keâjlee nw~ Fve IeveeW kesâ DeeÙeleve keâe Devegheele %eele keâjW?
(a) 1 3 3: (b) 2 2 1: (c) 3 1: (d) 2 1:

26. The  ra dii of a sphare and cyl in der are  6 cm each. If their
vol umes are equal , then the curved sur face area of the
cyl in der is :

Skeâ ieesues Deewj Skeâ efmeueQ[j keâer ef$epÙeeSb 6 mesceer nQ~ Ùeefo Gvekesâ
DeeÙeleve yejeyej nes, lees yesueve keâe Ûe›eâ he=‰ #es$eheâue efkeâlevee
nesiee?
(a) 32 cm2 (b) 96 cm2 (c) 44 cm2(d) 54 cm2

27. The sum of the length, breadth and depth of a cuboid is 19 cm
and its di ag o nal is 5 5 cm. Its sur face are is-

Skeâ IeveeYe keâer uebyeeF& ÛeewÌ[eF& Deewj ieneF& keâe Ùeesie 19 mesceer nw
Deewj Fmekeâe efJekeâCe& 5 5 mesceer nw Fmekeâe he=‰ #es$eheâue nw-
(a) 125 cm2 (b) 236 cm2 (c) 95 5 cm2(d) 361 cm2

28. The area of a rhom bus of which one side is 25 cm and
di ag o nal is 30 cm is :

25 mesceer Yegpee Deewj 30 mesceer efJekeâCe& Jeeues meceÛelegYeg&pe keâe
#es$eheâue efkeâlevee nesiee?
(a) 600 sq cm (b) 750 sq cm (c) 500 sq cm (d) 550 sq cm

29. A star ing of length 24 cm is bent first into a square and then
into a right -an gled tri an gle by keep ing one side of the square
fixed as its base. Then the area of tri an gle equals to :

24 mesceer uecyeer Skeâ leej keâes ceesÌ[keâj Jeie& Deewj efheâj mecekeâesCe
ef$eYegpe yeveeÙee peelee nw, Deewj Jeie& keâer Skeâ Yegpee keâes ef$eYegpe keâe
DeeOeej jKee peelee nw~ ef$eYegpe keâe #es$eheâue keäÙee nesiee?
(a) 24 cm2 (b) 60 cm2 (c) 40 cm2 (d) 28 cm2

  Answer key

1. (c) 2. (c)  3. (a) 4. (d) 5. (c) 6. (b) 7. (c)  8. (b) 9. (a) 10. (d)
11. (a) 12. (a) 13. (d) 14. (d)  15. (b)  16. (d)  17. (b)  18. (a)  19. (d)  20. (a)

 21. (c)  22. (d)  23. (a) 24. (c)  25. (a)  26. (b)  27. (b)  28. (a)  29. (a)
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 Practice set-1
1. Find the unit digit ( ) ( )3694 6151793 317  ( ) ?841 941

( ) ( )3694 6151793 317  ( )841 941 ceW FkeâeF& keâe Debkeâ
%eele keâjW~
(a) 5 (b) 3 (c) 4 (d)

2. Find the unit place ( ) ( ) ( )17 11 71999 1999 1999 
( ) ( ) ( )17 11 71999 1999 1999  ceW FkeâeF& keâe Debkeâ %eele
keâjW~
(a) 0 (b) 1 (c) 2 (d) 7

3. Find the unit digit of 3 4 6 7 8 96 7 3 4 2 5    
3 4 6 7 8 96 7 3 4 2 5     ceW FkeâeF& keâe Debkeâ %eele keâjW~
(a) 6 (b) 9 (c) 0 (d) 2

4. Find the unit digit s digit of the ex pres sion of the
25 36 226251 528 853  ?
25 36 226251 528 853  JÙebpekeâ ceW FkeâeF& keâe Debkeâ %eele
keâjW~
(a) 4 (b) 3 (c) 6 (d) 5

5. Find the units digit of the ex pres sion
11 12 13 14 15 161 2 3 4 5 6     ?
11 12 13 14 15 161 2 3 4 5 6     JÙebpekeâ ceW FkeâeF&
keâe Debkeâ %eele keâjW~
(a) 1 (b) 9 (c) 7 (d) 0

6. What is the num ber of unit place in ( )329 23 is?
( )329 23 ceW FkeâeF& keâe Debkeâ %eele keâjW~
(a) 1 (b) 7 (c) 9 (d) 3

7. The unit’s digit in the prod uct ( ) ( )4387 621245 72  is?
( ) ( )4387 621245 72 kesâ iegCeveheâue ceW FkeâeF& keâe Debkeâ %eele
keâjW~
(a) 1 (b) 2 (c) 5 (d) 7

8. The unit’s digit in the prod uct 7 6 371 63 65 
7 6 371 63 65  kesâ iegCeveheâue ceW FkeâeF& keâe Debkeâ %eele keâjW~
(a) 1 (b) 2 (c) 3 (d) 4

9. The digit is unit’s place of the num ber
( ) ( ) ( ) ( )1570 1571 1572 15732 2 2 2    is?
( ) ( ) ( ) ( )1570 1571 1572 15732 2 2 2   ceW FkeâeF&
keâe Debkeâ %eele keâjW~
(a) 4 (b) 1 (c) 2 (d) 3

10. Find the unit digit of the prod uct of all the el e ments of
the set which con sists all the prime num ber be tween 1
and 99999?
1 mes 99999 kesâ yeerÛe keâer meYeer DeYeepÙe mebKÙeeDeeW kesâ iegCeveheâue
ceW FkeâeF& keâe Debkeâ %eele keâjW~
(a) 9 (b) 7 (c) 0 (d) N.O.T.

11.

Find the num ber of ze roes at the end of the prod uct
125!
125! ceW MetvÙekeâes keâer mebKÙee %eele keâjW~
(a) 9 (b) 9 (c) 10 (d) 11

12. Find the num ber of ze roes at the end of the prod uct
1000!
1000! ceW MetvÙekeâes keâer mebKÙee %eele keâjW~
(a) 200 (b) 249 (c) 248 (d) 250

13. Find the num ber of ze roes at the end of the prod uct
1132!
1132! ceW MetvÙekeâes keâer mebKÙee %eele keâjW~
(a) 280 (b) 271 (c) 281 (d) 272

14. Find the num ber of ze roes at the end of the prod uct
2700!
2700! ceW MetvÙekeâes keâer mebKÙee %eele keâjW~
(a) 673 (b) 670 (c) 669 (d) 675

15. Find the num ber of ze roes at end of the prod uct
2 4 6 48 50   . . . ?
2 4 6 48 50   ... ? MetvÙekeâes keâer mebKÙee %eele keâjW~
(a) 6 (b) 12 (c) 7 (d) 5

16. Find the num ber of ze roes at the end of the prod uct
41 42 109 110  . . . , ?
41 42 109 110  ..., MetvÙekeâes keâer mebKÙee %eele keâjW~
(a) 26 (b) 9 (c) 17 (d) 25

17. Find the num ber of ze roes at the end of the prod uct
1 2 3 4 5 492 3 4 5 49    . . . ?
1 2 3 4 5 492 3 4 5 49    ... MetvÙekeâes keâer mebKÙee %eele
keâjW~
(a) 225 (b) 250 (c) 240 (d) 245

18. Find the num ber of ze roes at the end of the prod uct
1 2 3 4 11 2 3 4 10! ! ! ! !. . . ?  
1 2 3 4 11 2 3 4 10! ! ! ! !...   MetvÙekeâes keâer mebKÙee %eele
keâjW~
(a) 51 (b) 10 (c) 5! (d) 10!

19. Find the num ber of fractors of 1728?
1728 kesâ iegCeveKeÌ[eW keâer mebKÙee %eele keâjW~
(a) 28 (b) 29 (c) 30 (d) 31

20. Find the num ber of fractor of 1420?
1420 kesâ iegCeveKeb[eW keâer mebKÙee %eele keâjW~
(a) 12 (b) 13 (c) 14 (d) 15

21. Find the num ber of Di vi sors of 10800?
10800 kesâ YeepekeâeW keâer mebKÙee %eele keâjW~
(a) 30 (b) 60 (c) 120 (d) 180
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22. Find the No. of prime fac tor of 240?
240 kesâ DeYeepÙe iegCeveKeb[eW keâer mebKÙee %eele keâjW~
(a) 4 (b) 5 (c) 6 (d) 8

23. Find the No. of prime fac tor, ( ) ( ) ( )30 25 1226 51 23 
( ) ( ) ( )30 25 1226 51 23   ceW DeYeepÙe iegCeveKeb[eW keâer mebKÙee
%eele keâjW~
(a) 249 (b) 250 (c) 255 (d) 260

24. Find the No. of prime fac tor ( ) ( ) ( )30 22 1515 11 24 
( ) ( ) ( )30 22 1515 11 24   ceW DeYeepÙe iegCeveKebÌ[eW keâer mebKÙee
%eele keâjW~
(a) 110 (b) 115 (c) 120 (d) 125

25. In a di vi sion sum, the di vi sor is 10 times the quo tient
and 5 times the re main der. If the re main der is 48, the
div i dend is :
efJeYeepeve keâer Øeef›eâÙee cebs Yeepekeâ Yeeieheâue keâe 10 iegvee nQ Deewj
Mes<eheâu keâe 5 iegvee nw Ùeefo Mes<eheâue 48 nQ, lees YeepÙe keäÙee nesiee~
(a) 808 (b) 5008 (c) 5808 (d) 8508

26. The di vi sor is 321, the quo tient 11 and the re main der
260, Find the div i dend?
Yeepekeâ 321, Yeeieheâue 11 Deewj Mes<eheâue 260 nQ, lees YeepÙe
keäÙee nesiee~
(a) 3719 (b) 3971 (c) 3791 (d) 3179

27. The sum of 20 odd nat u ral num ber is equal to :
20 efJe<ece Øeeke=âeflekeâ mebKÙeeDeeW keâe Ùeesie yejeyej nw~
(a) 210 (b) 300 (c) 400 (d) 240

28. When a num ber is di vided by 56, the re main der
ob tained is 29. What will be the re main der when the
num ber is di vided by 8?
peye Skeâ mebKÙee keâes 56 mes Yeeie efoÙee peelee nw, lees Mes<eheâue 29
Øeehle neslee nQ, Ùeefo mebKÙee keâes 8 mes Yeeie efoÙee peeS lees Mes<eheâue
keäÙee nesiee~
(a) 4 (b) 5 (c) 3 (d) 7

29. A num ber when di vided suc ces sively by 4 and 5 leave
the re main der 1 and 4 re spec tively. When it is
suc ces sively di vided by 5 and 4 the re spec tive
re main ders will be :
Skeâ mebKÙee keâes peye 4 Deewj 5 mes Gòejesòej Yeeie efoÙee peelee nw, lees
Mes<eheâue ›eâceMe: 1 Deewj 4 Øeehle neslee nw~ Ùeefo Fmes 5 Deewj 4 mes
Gòejesòej Yeeie efoÙee peeS lees Mes<eheâue ›eâceMe: keäÙee nesiee~
(a) 4, 1 (b) 3, 2 (c) 2, 3 (d) 1, 2

30. The least num ber, which must be added to 6709 to
make is ex actly di vis i ble by 9, is
Jen vÙetvelece mebKÙee keäÙee nQ, efpemes 6709 ceW pees[ves hej 9 mes
hetCe&le: efJeYeeefpele nes—
(a) 5 (b) 4 (c) 7 (d) 2

31. A num ber when di vided by 6 leaves re main der 3. When
the square of the same num ber is di vided by 6, the
re main der is :
Skeâ mebKÙee keâes peye 6 mes Yeeie efoÙee peelee nQ lees Mes<eheâue 3 Øeehle
neslee nw, peye Gme mebKÙee kesâ Jeie& keâes 6 mes Yeeie osieW lees Mes<eheâue
keäÙee nesiee~
(a) 3 (b) 5 (c) 25 (d) 33

32. A num ber di vided by 13 leaves a re main der 1 and if the
quo tient, thus ob tained, is di vided by 5, we get a
re main der of 3. What will be the re main der if the
num ber is di vided by 65?
Skeâ mebKÙee keâes 13 mes Yeeie osves hej Mes<eheâue 1 Øeehle neslee nQ~
peye Øeehle Yeeieheâue ceW 5 mes Yeeie efkeâÙee peelee nw lees Mes<eheâue 3
Øeehle neslee nQ, Ùeefo mebKÙee ceW 65 mes Yeeie efkeâÙee peeS lees Mes<eheâue
keäÙee nesiee~
(a) 28 (b) 16 (c) 18 (d) 40

33. When ‘n’ is di vis i ble by 5 the re main der is 2. What is the
re main der when n2 is di vided by 5?
peye ‘ ’n  keâes 5 mes Yeeie efoÙee peelee nQ, lees Mes<eheâue 32 Øeehle neslee
nQ~ Ùeefo n2 keâes 5 mes Yeeie efoÙee peelee nQ, lees Mes<eheâue 2 Øeehle
neslee nQ~ Ùeefo n2 keâes 5 mes Yeeie efoÙee peelee nQ lees Mes<eheâue keäÙee
nesiee~
(a) 2 (b) 5 (c) 1 (d) 4

34. Find the Remaidner when 6732 is di vided by 68
6732 keâes 68 mes efJeYeeefpele keâjves hej Mes<eheâue %eele keâjW~
(a) 67 (b) 66 (c) 1 (d) 0

35. Find the Re main der 197130 is di vided by 196
197130 keâes 196 mes efJeYeeefpele keâjves hej Mes<eheâue keäÙee nesiee~
(a) 1 (b) 195 (c) 7 (d) 5

36. Find the remaidner when ( )12 2313 13  is di vided by 11
peye ( )12 2313 13  keâes 11 mes efJeYeeefpele efkeâÙee peelee nQ, leye
Mes<eheâue %eele keâjW~
(a) 2 (b) 1 (c) 0 (d) 3

37. Find the Re main der than 2591 is di vided by 255
peye 2591 keâes 255 mes efJeYeeefpele efkeâÙee peelee nQ, leye Mes<eheâue
%eele keâjW~
(a) 225 (b) 128 (c) 127 (d) 64

38. Find the re main der when 1 2 3 4 5 6 7 8 9 1 0 1 1 2 1 3 1
4  is di vide by 8
1 2 3 4 5 6 7 8 9 1 0 1 1 2 1 3 1 4 keâes 8 mes efJeYeeefpele
keâjves hej Mes<eheâue keäÙee nesiee~
(a) 4 (b) 2 (c) 6 (d) 3

39. Find the re main der when 4142434445464748 4950 is
di vided by 16
41424344454647484950 keâes 16 mes efJeYeeefpele keâjves
hej Mes<eheâue keäÙee nesiee~
(a) 5 (b) 2 (c) 3 (d) 4

40. Find the Re main der with 91929394959699798 99 is
di vided by 16
91929394959699798999 keâes 16 mes efJeYeeefpele keâjves
hej Mes<eheâue keäÙee nesiee~
(a) 3 (b) 13 (c) 11 (d) 8

41. Find the re main der when 555555…244 times is di vided
by 37
peye 555555…244 yeej keâes 37 mes efJeYeeefpele efkeâÙee peelee nQ,
leye Mes<eheâue %eele keâjW~
(a) 18 (b) 5 (c) 36 (d) 0
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42. Find the re main der when 888888…363 times is di vided
by 37
peye 888888…184 yeej keâes 37 mes efJeYeeefpele efkeâÙee peelee nQ,
leye Mes<eheâue %eele keâjW~
(a) 1 (b) 8 (c) 36 (d) 7

43. Find the Re main der when 888 222222 888  is di vided
by 5
peye 888 222222 888  keâes 5 mes efJeYeeefpele efkeâÙee peelee nQ,
leye Mes<eheâue, %eele keâjW~
(a) 0 (b) 1 (c) 3 (d) 4

44. If ( )x  2  is a fac tor of ( ),x qx q2 3 2   then the value of
q is :
Ùeefo ( ),( )x x qx q  2 3 22  keâe Skeâ iegCeveKeb[ nQ, leye k
keâe ceeve %eele keâjW~
(a) 2 (b) –2 (c) –1 (d) 1

45. If x x k100 992  , is di vis i ble by ( )x  2  then the value
of p is
Ùeefo x x k x100 992 1  ,( ) mes efJeYeepÙe nQ, leye k keâe ceeve
%eele keâjW~
(a) 7 (b) –3 (c) 2 (d) –2

  Answer key

1. (d) 2. (b)  3. (a) 4. (b) 5. (b) 6. (d) 7. (d)  8. (d) 9. (a) 10. (c)
11. (c) 12. (b) 13. (c) 14. (a)  15. (a)  16. (c)  17. (b)  18. (c)  19. (a)  20. (a)

 21. (b)  22. (c)  23. (a) 24. (b)  25. (c)  26. (c)  27. (c)  28. (b)  29. (c) 30. (a)
 31. (d) 32. (d)  33. (d)  34. (c)  35. (a)  36. (a)  37. (b)  38. (b)  39. (c) 40. (c)
 41. (b) 42. (b)  43. (a)  44. (c)  45. (a)
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 Practice set-2
1. Find the unit digit of the prod uct of the all the el e ments

of the set which con sists all the prime num bers greater
than 2 but less than 222.
Gme meYeer DeYeepÙe mebKÙeeDeeW kesâ mecegÛÛeÙe pees 2 mes DeefOekeâ uesefkeâve
222 mes keâce nw, kesâ iegCeveheâue ceW FkeâeF& keâe Debkeâ %eele keâjW~
(a) 4 (b) 5 (c) 0 (d) N.O.T.

2. Find the last digit of the ex pres sion :
1 2 3 4 1002 2 2 2 2    . . .
1 2 3 4 1002 2 2 2 2    ...  JÙebpekeâ keâe Debeflece Debkeâ
%eele keâjW~
(a) 0 (b) 4 (c) 6 (d) 8

3. Find the unit digit of 13 68 24 5724 57 13 68  
 1234 5678
13 68 24 5724 57 13 68    1234 5678 ceW FkeâeF&
keâe Debkeâ %eele keâjW~
(a) 4 (b) 7 (c) 0 (d) 8

4. The unit digit of the ex pres sion
1 2 3 4 5 6 7 8 9 10

100
        

1 2 3 4 5 6 7 8 9 10
100

          JÙebpekeâ ceW FkeâeF& Debkeâ

%eele keâjW~
(a) 7 (b) 9 (c) 8 (d) N.O.T.

5. Find the unit digit of ex pres sion
888 222 666 9999235 9235 2359 9999! ! ! !  
888 222 666 9999235 9235 2359 9999! ! ! !  
JÙebpekeâ ceW FkeâeF& Debkeâ %eele keâjW~
(a) 5 (b) 9 (c) 3 (d) none

6. The last digit of the fol low ing ex pres sion is :
( !) ( !) ( !) ( !) . . . ( !)1 2 3 4 101 2 3 4 10    
efvecve efoÙes ieÙe JÙebpekeâ ceW Debeflece Debkeâ nQ—
( !) ( !) ( !) ( !) ... ( !)1 2 3 4 101 2 3 4 10    

(a) 4 (b) 5 (c) 6 (d) 7
7. The last 5 dig its of the fol low ing ex pres sion will be

( !) ( !) ( !) ( !) ( !) ( !)1 2 3 4 5 105 4 3 2 1 5     
( !) ( !) ( ) ( !)100 1000 1000 10004 3 2  
efvecveefueefKele JÙebpekeâ ceW Debeflece 5 Debkeâ nesiee
(a) 45939 (b) 00929 (c) 20929
(d) can’t be de ter mined

8. The unit digit of the fol low ing ex pres sion
( !) ( !) ( !) ( !) . . .( !)1 2 3 4 9999 98 97 96 1     is :
( !) ( !) ( !) ( !) ...( !)1 2 3 4 9999 98 97 96 1     JÙebpekeâ
ceW Debeflece Debkeâ nw—
(a) 8 (b) 6 (c) 2 (d) all of these

9. The last digit of the ex pres sion
4 9 4 9 4 92 3 4 5 6      ...  4 999 100 is
4 9 4 9 4 92 3 4 5 6      ...  4 999 100 JÙebpekeâ
ceW Debeflece Debkeâ nQ—
(a) 4 (b) 6 (c) 9 (d) 1

10. 4 9 4 9 4 9 4 92 3 4 5 6 99 100       . . .  is
4 9 4 9 4 9 4 92 3 4 5 6 99 100       ...  JÙebpekeâ
ceW Debeflece keâe Debkeâ nw—
(a) 0 (b) 3 (c) 5 (d) none

11. The unit digit of 2 3 4 5 6 73 4 5 6 7 84 5 6 7 8 9
      is

2 3 4 5 6 73 4 5 6 7 84 5 6 7 8 9
      ceW FkeâeF& keâe Debkeâ

nQ~
(a) 0 (b) 5 (c) can’t be de ter mined
(d) nonee of these

12. Find the num ber ze roes at the end of the prod uct 3200
× 1000 × 4000 × 32000 × 1500
MetvÙekeâeW keâer mebKÙee %eele keâjW~ 3200 × 1000 × 4000 ×
32000 × 1500
(a) 15 (b) 2 (c) 16 (d) 14

13. Find the num ber ze roes at the end of the prod uct
1 2 3 4 102 2 3 4 4   . . .
MetvÙekeâes keâer mebKÙee %eele keâjW~ 1 2 3 4 102 2 3 4 4   ...

(a) 10 (b) 15 (c) 5 (d) N.O.T.
14. Find the num ber ze roes at the end of the prod uct

2 4 6 8 10 200    . . .
MetvÙekeâeW keâer mebKÙee %eele keâjW~ 2 4 6 8 10 200    ...
(a) 49 (b) 24 (c) 25 (d) 50

15. Find the num ber ze roes at the end of the prod uct
1 3 5 7 99 64   . . .
MetvÙekeâeW mebKÙee %eele keâjW~
1 3 5 7 99 64   ...
(a) 23 (b) 6 (c) 0 (d) 5

16. Find the num ber zero at the end of the prod uct of
2 5222 555
MetvÙekeâeW keâer mebKÙee %eele keâjW~ 2 5222 555
(a) 222 (b) 555 (c) 777 (d) 333

17. Find the num ber ze roes at the end of the prod uct
2 5 2 5 2 2 5 2 51 2 3 5 5 7 8 9 10       
MetvÙekeâeW keâer mebKÙee %eele keâjW~
2 5 2 5 2 2 5 2 51 2 3 5 5 7 8 9 10       
(a) 30 (b) 25 (c) 55 (d) 50

18. Find the num ber ze roes at the endof the prod uct
( )( )3 3 3 2 2120 2123 122 121 121 119   
( )( )3 3 3 2 2120 2123 122 121 121 119     MetvÙekeâeW keâer
mebKÙee %eele keâjW~
(a) 1 (b) 0 (c) 119 (d) 120

19. Find the num ber ze roes at the end of the prod uct
( )( )8 8 8 3 3 2123 122 121 223 222 221   
( )( )8 8 8 3 3 2123 122 121 223 222 221     MetvÙekeâeW keâer
mebKÙee %eele keâjW~
(a) 1 (b) 2 (c) 0 (d) 3

20. Find the No. Prime fac tor 180
180 ceW DeYeepÙe iegCeveKebÌ[eW keâer mebKÙee %eele keâjW~
(a) 4 (b) 5 (c) 6 (d) 7
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21. Find the No. of prime fac tor of 536
536 ceW DeYeepÙe iegCeveKeb[eW keâer mebKÙee %eele keâjW~
(a) 4 (b) 5 (c) 6 (d) 3

22. Find the No. of Prime fac tor of 1044
1044 ceW DeYeepÙe iegCeveKebÌ[eW keâer mebKÙee %eele keâjW~
(a) 4 (b) 5 (c) 10 (d) 9

23. Find the NO. of Prime Fac tor of
( ) ( ) ( ) ( )56 36 42 1320 31 13 21  
( ) ( ) ( ) ( )56 36 42 1320 31 13 21    kesâ DeYeepÙe
iegCeveKebÌ[eW keâer mebKÙee %eele keâjW~
(a) 240 (b) 242 (c) 264 (d) 248

24. Find the to tal num ber of Prime Fac tors of
2 6 5 10 11 2171 31 7 11 10 12    
2 6 5 10 11 2171 31 7 11 10 12      kesâ kegâue DeYeepÙe
iegCeveKebÌ[eW keâer mebKÙee %eele keâjW~
(a) 142 (b) 144 (c) 140 (d) 146

25. Find the sum of odd fac tors of 544
(i) Num ber of all fac tors
(ii) Num ber of even fac tors
(iii) Num ber of odd fac tors
544 kesâ efJe<ece iegCeveKebÌ[eW keâe Ùeesie %eele keâjW~
(a) 18, 9, 9 (b) 18, 10, 8 (c) 18, 8, 10 (d) 18, 12, 6

26. For the num ber 760
(i) The sum and Num ber of all fac tors

kegâue iegCeveKebÌ[eW keâer mebKÙee
(ii) The sum and Num ber of even factord

mece iegCeveKeb[eW keâer mebKÙee
(iii) The Sum and Num ber of odd fac tors

efJe<ece iegCeveKeÌ[eW keâer mebKÙee
27. Which of the fol low ing num ber is NOT di vis i ble by 18?

efvecve ceW mes keâewve-meer mebKÙee 18 mes efJeYeeefpele veneR nw~
(a) 54036 (b) 50436 (c) 34056 (d) 65043

28. If n is in te ger, then ( )n n3   is al ways di vis i ble by :
Ùeefo n Skeâ hetCeeËkeâ nQ, lees ( )n n3   ncesMee efkeâmemes efJeYeeefpele
nesiee~
(a) 4 (b) 5 (c) 6 (d) 7

29. If two num bers are each di vided by the same di vi sor, the
re main ders are re spec tively 3 and 4, If the sum of the
two num bers be di vided by the same di vi sor, the
re main der is 2. The di vi sor is :
Ùeefo oes mebKÙeeDeeW ceW ØelÙeskeâ keâes meceeve Yeepekeâ mes Yeeie osves hej
Mes<eheâue ›eâceMe: 3 Deewj 4 Øeehle neslee nQ~ Ùeefo oesveeW mebKÙeeDeeW kesâ
Ùeesie keâes meceeve Yeepekeâ mes Yeeie osves hej Mes<eheâue 2 Øeehle neslee nQ,
lees Yeepekeâ keäÙee nesiee~
(a) 9 (b) 7 (c) 5 (d) 3

30. A num ber when di vided by 5 leaves re main der 3. What
is the re main der when the square of the same num ber is
di vided is :
oes mebKÙeeDeeW keâes peye 5 mes Yeeie efoÙee peelee nQ, lees Mes<eheâue : 3
Øeehle neslee nQ~ Ùeefo oesveeW mebKÙee kesâ Jeie& keâes 5 mes efJeYeeefpele efkeâÙee
peeS, lees Mes<eheâue keäÙee nesiee~

(a) 1 (b) 2 (c) 3 (d) 4
31. Two num bers, when di vided by 17, leaves remaidner 13

and 11 re spec tively. If the same of those two num bers is
di vided by 17, the re main der will be :
oes mebKÙeeDeeW keâes peye 17 mes Yeeie efoÙee peelee nw, lees Mes<eheâue
›eâceMe: 13 Deewj 11 Øeehle neslee nQ~ Ùeefo oesveeW mebKÙeeDeeW kesâ Ùeesie
keâes 17 mes Yeeie efoÙee peeS lees Mes<eheâue keäÙee nesiee~
(a) 13 (b) 11 (c) 7 (d) 4

32. When a num ber is di vided by is 387, the re main der
ob tained is 48. If the same num ber is di vided by 43, the
re main der ob tained will be?
peye Skeâ mebKÙee keâes 387 mes Yeeie efoÙee peelee nQ, lees Mes<eheâue 48
Øeehle neslee nQ~ Ùeefo Gmeer mebKÙee keâes 43 mes Yeeie efoÙee peeS lees
Mes<eheâue keäÙee nesiee~
(a) 0 (b) 3 (c) 5 (d) 35

33. A num ber when di vided by 91 gives a remaidner 17.
When the same num ber is di vided by 13, the re main der
will be :
peye Skeâ mebKÙee keâes 91 mes Yeeie efoÙee peelee nw, lees Mes<eheâue 17
Øeehle neslee nw~ Ùeefo Gmeer mebKÙee keâes 13 mes Yeeie efoÙee peeS lees
Mes<eheâue keäÙee nesiee~
(a) 15 (b) 10 (c) 20 (d) 17

34. Which of the fol low ing num bers will al ways di vide a
six-digit num ber of the form xyxyxyx (where
1 1 9   x y )
efvecve ceW mes keâewve-meer mebKÙee 6 Debkeâes keâer mebKÙee keâes ncesMee
efJeYeeefpele keâjsieer pees efkeâ Fme Øekeâej xyxyxy ceW nQ~ peneB
1 1 9   x y
(a) 1010 (b) 10101 (c) 11011 (d) 11010

35. A num ber x when di vided by 289 leaves 18 as the
remaidner. The same num ber when di vided by 17
leaves as a re main der. The value of y is
peye Skeâ mebKÙee keâes x keâes 289 mes Yeeie efoÙee peelee nw, lees
Mes<eheâu 18 Øeehle neslee nw~ Ùeefo Gmeer mebKÙee keâes 17 mes Yeeie efoÙee
peeS lees Mes<eheâue y kesâ ™he ceW Øeehle neslee nQ, lees y keâe ceeve keäÙee
nesiee~
(a) 5 (b) 2 (c) 3 (d) 1

36. Find the Re main der when 1330 1356 1363  
1368 1397  is di vided by 13
peye 1330 1356 1363   1368 1397  mes efJeYeeefpele
efkeâÙee peelee nw, leye Mes<eheâue %eele keâjW~
(a) 7 (b) 9 (c) 11 (d) 8

37. Find the Re main der 43197  is di vided by 7
43197  mes efJeYeeefpele keâjves hej Mes<eheâue %eele keâjW~
(a) 42 (b) 41 (c) 1 (d) 6

38. Find the re main der when 212223242526272 82930 is
di vided by 8
21222324252627282930 keâes 8 mes efJeYeeefpele keâjves hej
Mes<eheâue keäÙee nesiee~
(a) 5 (b) 2 (c) 3 (d) 4

39. Find the re main der when 777777…363 times is di vided
by 11
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peye 777777…363 yeejs keâes 11 mes efJeYeeefpele efkeâÙee peelee nQ,
leye Mes<eheâue %eele keâjW~
(a) 0 (b) 7 (c) 1 (d) 3

40. Find the re main der when 999999999 is di vided by 13
peye 999999999 keâes 13 mes efJeYeeefpele efkeâÙee peelee nQ, peye
Mes<eheâue %eele keâjW~
(a) 8 (b) 11 (c) 5 (d) 12

41. Find the re main der when 54124 is di vided by 17
54124 keâes 17 mes efJeYeeefpele keâjves hej Mes<eheâue keäÙee nesiee~
(a) 4 (b) 5 (c) 3 (d) 15

42. Find the re main der 2222 55555555 2222  is di vided by
7
peye 2222 55555555 2222  keâes 7 mes efJeYeeefpele efkeâÙee
peelee nQ, leye Mes<eheâue %eele keâjW~
(a) 0 (b) 2 (c) 4 (d) 5

43. If ( )x x p3 25 4   is di vis i ble by ( ),x  2  then the value
of p is
Ùeefo ( )( )x x p x3 25 4 2    mes efJeYeepÙe nQ, leye keâe ceeve
%eele keâjW~
(a) 7 (b) 2 (c) 3 (d) 7

  Answer key

1. (c) 2. (a)  3. (a) 4. (c) 5. (b) 6. (d) 7. (b)  8. (c) 9. (b) 10. (a)
11. (a) 12. (d) 13. (b) 14. (b)  15. (b)  16. (a)  17. (b)  18. (a)  19. (b)  20. (b)

 21. (a)  22. (b)  23. (c) 24. (c)  25. (b)  26. (*)  27. (d)  28. (c)  29. (c) 30. (d)
 31. (c) 32. (c)  33. (b)  34. (b)  35. (d)  36. (b)  37. (c)  38. (b)  39. (b) 40. (b)
 41. (a) 42. (a)  43. (a)
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 practice set-1
1. A num ber 20 is di vided into Four Parts that are in AP

such that the prod uct of the first and fourth is to the
prod uct of the sec ond and third is 2 : 3. Find the Larg est
parts.
mebKÙee 20 keâes Ûeej YeeieeW ceW yeebše ieÙee nQ pees meceevlej ßesCeer ceW
nQ~ Ùeefo Gvekeâj ØeLece Deewj ÛeewLes Yeeie keâe iegCeveheâue mes otmejs
Deewj leermejs Yeeie keâe iegCeveheâue keâe Devegheele 2 3: nes, lees meyemes
yeÌ[e Yeeie %eele keâjW~
(a) 12 (b) 4 (c) 8 (d) 9

2. Find the value of 25

1
3

1
9

1
27

   





...

efvecveefueefKele keâe ceeve %eele keâerefpeS~ 25

1
3

1
9

1
27

   





...

(a) 5 (b) 6 (c) 7 (d) 8
3. ( . . . ) ( . . . )666 8882n digit n digit  is equal to

( ...666 n Dekebâ )2  ( ...888 n Debkeâ ) yejeyej nesiee~

(a) ( )10 1
4
9

n  (b) ( )10 1
4
9

2n 

(c)
4
9

10 1
4
9

( )n  (d)
4
9

10 1( )n 

4. A ball is thrown from a height of 500m on the ground.
The ball bounce 4/5 times of Ist ev ery lasat bounce then
cal cu late the to tal Dis tance the ball it stop.
Skeâ ieWo keâes 500 ceeršj T@ÛeeF& mes veerÛes Oejleer hej heWâkeâer peeleer nw,
ieWo ØelÙeskeâ yeej 3 5/ iegvee efheÚues GÚeue kesâ yejeyej keâer leguevee ceW
GÚueleer nQ, lees ieWo ®keâves lekeâ kegâue efkeâleveer otjer leÙe keâjsieer~
(a) 4500 m (b) 4400 m (c) 4600 m(d) 4700 m

5. The side of square is 16 cm In fi nite squares are made by
join ing the mid points of the square. Cal cu late the area
of all the squares made
Skeâ Jeie& keâer Yegpee 16 mesceer nQ leLee Jeie& kesâ YegpeeDeeW kesâ ceOÙe efyebog
keâes efceueekeâj Devvele Jeie& yeveeÙee peelee nQ, lees Fme Øekeâej yeves
ØelÙeskeâ Jeie& keâe kegâue #es$eheâue keâe Ùeesie %eele keâjW~
(a) 513 cm 2 (b) 512 cm 2

(c) 511 cm 2 (d) 514 cm 2

6. A num ber of a squares are de scribed whose per im e ters
are in G.P. Then their sides will be in
kegâÚ Jeie& efpevekesâ heefjceehe iegCeesòej ßesCeer ceW nQ lees yeleeFS Gvekeâer
YegpeeÙeW efkeâmeer ßesCeer ceW nesieer~
(a) A.P (b) G.P. (c) H.P. (d) none

7. Find the sum to n terms of the se ries 11 103 1005  
…
efvecveefueefKele ßesCeer ceW n heoeW keâe Ùeesieheâue %eele keâjW~

(a)
10
9

10 1 2( )n n  (b)
10
9

10 1 2( )n n 

(c)
10
9

10 1( )n n  (d)
10
9

10 1( )n n 

8. Find t10 and s10 for the fol low ing se ries. 1 8 15 22, , , …
efvecveefueefKele ßesCeer keâe t10 Deewj s10 %eele keâjeW~
1 8 15 22, , , …
(a) 64, 325 (b) 64, 318
(c) 57, 325 (d) 57, 318

9. Find t 24 and s24 for the fol low ing se ries. 3 13 23 33, , ,
…
efvecveefueefKele ßesCeer keâe t24 Deewj s24 %eele keâjeW~
3 13 23 33, , ,  …
(a) 233, 2842 (b) 230, 2832
(c) 230, 2842 (d) 233, 2832

10. Find t7  and s7  for the fol low ing se ries
1 3 9 27, , , ...
efvecveefueefKele ßesCeer keâe t7 Deewj s7  %eele keâjeW~
1, 3, 9, 27 …

(a) 729
1
2

3 17, ( ) (b) 243
1
2

3 18, ( )

(c) 728
1
2

3 17, ( ) (d) 243,
1
3

3 18( )

11. Find t24 and s24 for the fol low ing se ries

18 9
9
2

, , ...

efvecveefueefKele ßesCeer keâe t24 Deewj s24 %eele keâjeW~ 18 9
9
2

, , ,...

(a) 18
1
2

36 1
1

2

23

22





 









, (b) 18

1
2

36 1
1

2

22

24





 









,

(c) 18
1
2

36 1
1

2

24

24





 









, (d) 18

1
2

36 1
1

2

23

24





 









,

12. Find the sum of all num bers di vis i ble by 6 in 100 to 400
100 mes 400 kesâ yeerÛe 6 mes efJeYeeefpele meYeer mebKÙeeDeeW keâe
Ùeesieheâue %eele keâerefpeS~
(a) 12450 (b) 12550 (c) 12400 (d) 12456

13. How many terms of the se ries   12 9 6, , , … Must be
taken that the sum may be 54?
efvecveefueefKele ßesCeer ceW efkeâleves heo nesieW efpemeceW ßesCeer   12 9 6, ,
… keâe Ùeesie 54 neW~
(a) 15 (b) 18 (c) 14 (d) 12

14. Find the Ist terms an A.P. whsoe 8th  and 12th  terms are
re spec tively 39 & 59
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meceevlej ßesCeer keâe ØeLece heo %eele keâerefpeS Ùeefo Gmekeâe 8Jee@ heo
leLee 12Jee@ heo ›eâceMe: 39 leLee 59 nes~
(a) 5 (b) 6 (c) 4 (d) 3

15. A num ber 15 is di vided in three parts which are in A.P.
and the sum of their squares is 83. Find the small est no.
15 keâes leerve YeeieeW ceW Fme Øekeâej yeebše ieÙee nw pees meceevlej ßesCeer
ceW nQ~ Ùeefo Gvekesâ JeieeX keâe Ùeesie 83 nes lees meyemes Úesše Yeeie %eele
keâjeW~
(a) 5 (b) 3 (c) 6 (d) 8

16. The num ber of terms of the se ries 54 51 48   …such
that the sum is 513 is
ßesCeer ceW heoeW keâer mebKÙee %eele keâerefpeS Ùeefo ßesCeer
54 51 48  … keâe Ùeesie 513 nes~
(a) 18 (b) 19
(c) Both a and b (d) 15

17. A boy agrees to work at the rate of one ru pee on the first
day, two ru pees on the sec ond day, four ru pees on the
third day and does on. How much will the boy et if he
start work ing of the 1st fo Feb ru ary and fin ishes on the
20th of Feb ru ary?
Skeâ ueÌ[keâe efkeâmeer keâeÙe& keâes keâjves kesâ efueS henues efove 1 ®0
otmejs efove 2 ®0 leermejs efove 4 ®0…Fmeer Øekeâej ueslee nw, lees
ueÌ[kesâ keâes kegâue Øeehle jeefMe %eele keâerefpeS Ùeefo Jen 1 heâjJejer mes
keâeÙe& ØeejbYe keâjlee nw leLee 20 heâjJejer keâes keâeÙe& meceehle keâj oslee
nwb~
(a) 220 (b) 2 120  (c) 2 1519  (d) 219

18. If the fifth term of a G.P. is 81 and first term is 16, what
will be the 4th terms of the G.P.?
Ùeefo G.P. keâe hee@ÛeJee heo 81 nes leLee ØeLece heo 16 nes, lees G.P.
keâe ÛeewLee heo %eele keâerefpeS~
(a) 36 (b) 18 (c) 54 (d) 24

19. The sum of the first four terms of an A.P. is 28 and sum
of the first eight terms of the same A.P. is 88. Find the
sum of the first 16 terms of the A.P.?
A.P. kesâ ØeLece 4 mebKÙeeDeeW keâe Ùeesie 28 nes leLee ØeLece 8
mebKÙeeDeeW keâe Ùeesie 88 nes, lees ØeLece 16 heoeW keâe Ùeesieheâue %eele
keâerefpeS~
(a) 346 (b) 340 (c) 304 (d) 268

20. Find the num ber of terms of the se ries
1
81

1
27

1
9

, , . . .


729

efvecveefueefKele ßesCeer ceW heoeW keâer mebKÙee %eele keâerefpeS~
1

81
1

27
1
9

, , ...


729

(a) 11 (b) 12 (c) 10 (d) 13
21. A man saves Rs. 1000 in Jan u ary 2014 and in creases his

sav ing, by Rs. 50 ev ery month over the pre vi ous month.
What is the an nual sav ing for the man in the yrs 2014?
Skeâ JÙeefkeäle 100 ®0 peveJejer 2014 cebs yeÛele keâjlee nw leLee
ØelÙeskeâ ceen 50 ®0 efheÚues ceen keâer leguevee ceW DeefOekeâ pecee keâjlee
nw, lees Gmeves Je<e& 2014 ceW efkeâleveer yeÛele keâer~

(a) Rs. 4200 (b) Rs. 4500
(c) Rs. 4000 (d) Rs. 4100

22. Af ter strik ing a floor a rub ber ball re bounds (7/8) th of
the height from which it has fallen. Find the to tal
dis tance that it trav els be fore com ing to rest, if it is
gently dropped from a height is 420 metres.
Skeâ ieWo keâes 420 ceeršj T@ÛeeF& ceW veerÛes Oejleer hej heWâkeâe peelee nQ~
Ùen ieWo ØelÙeskeâ yeej Deheves efheÚues GÚeue keâe 7/8 GÚeue uesleer nQ
lees ieWo ™keâves lekeâ kegâue efkeâleveer otjer ceeršj ceW leÙe keâjsieer~
(a) 2940 (b) 6300 (c) 1080 (d) 3360

23. If the mth term of an A.P. is
1
n

 and nth term is
1
m

 then

find the sum to mn th  term

Ùeefo A.P. keâe 1
n
 heo nes Deewj nth  heo 1

m
 nes, lees mnth  heo keâe

Ùeesieheâue %eele keâerefpeS~
(a)

1
4

1( )mn  (b)
1
4

1( )mn 

(c)
1
2

1( )mn  (d)
1
2

1( )mn 

24. The first and the last terms of an A.P. are 107 and 253. If
there are five terms in this se quence, find the sum of
se quence?
A.P. keâe ØeLece leLee Debeflece heo ›eâceMe: 107 leLee 253 nes Ùeefo
Gmekesâ heebÛe heo ëe=bKeuee ceW nes lees Fmekeâe Ùeesieheâue %eele keâerefpeS~
(a) 1080 (b) 720 (c) 900 (d) 620

25. De ter mine the first of the geo met ric pro gres sion, the
sum of whosefirst term and third term is 40 and the sum
of the sec ond term and fourth term is 80.
G.P. keâe ØeLece heo %eele keâerefpeS Ùeefo Fmekesâ ØeLece leLee leermejs heo
keâe Ùeesieheâue 40 nes Deewj otmejs leLee ÛeewLes heo keâe Ùeesieheâue 80
nes~
(a) 12 (b) 8 (c) 16 (d) 4

26. Find the Arith me tic mean of the fol low ing se ries.
20, 23, 26, 29
efvecveefueefKele ßesCeer keâe meceevlej ceeOÙe %eele keâerefpeS~
20, 23, 26, 29

(a) 49 (b)
25
2

(c)
49
2

(d) 59

27. A boy drawn n squares with sides 1, 2, 3, 4, 5, … in
inches. The av er age area cov ered by these n squares will
be
Skeâ ueÌ[keâe n Jeie& yevelee nw efpemekeâe heefjceehe YegpeeSb 1, 2, 3, 4,
5, … FbÛe ceW nQ, lees n Jeie& Éeje yeves ceeOÙe #es$eheâue keâe ceeve %eele
keâjW~
(a)

n 







1
2

(b)
n n















1
2

2 1
3

(c)
n n















1
2

2 1
3

(d)
n n





 









1
2

1
2 1

3
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 practice set-2
1. If the sum of first 11 terms of A.P. is equal to sum of first

19 terms of that A.P. find the sum of first 30 terms of
that A.P.?
Ùeefo meceevlej ßesCeer kesâ ØeLece 11 heoeW keâe Ùeesie Gmekesâ ØeLece 19
heoeW keâe Ùeesie kesâ yejeyej nes lees meceevlej ßesCeer kesâ ØeLece 30 heoeW
keâe Ùeesie %eele keâerefpeS~
(a) 1 (b) 3 (c) 5 (d) 4

2. How many term of an AP must be taken for their sum to
be equal to 120 if its third term is 9 and the dif fer ence
be tween the sev enth and the sec ond term is 20?
meceevlej ßesCeer kesâ efkeâleves heoeW keâe Ùeesieheâue 120 kesâ yejeyej
nesiee~ Ùeefo Fmekeâe leermeje heo 9 leLee meeleJeW leLee otmejs heo kesâ
yeerÛe Deblej 20 neW~
(a) 6 (b) 9 (c) 7 (d) 8

3. What will be the sum of n terms of the se ries
8 88 888   . . .?
efvecveefueefKele ßesCeer kesâ n heoeW keâe Ùeesieheâue %eele keâerefpeS
8 88 888   ...

(a)
8 10 9

81
( )n n

(b)
8 10 10 9

81

1( )n n  

(c) 8 10 101( )n  (d) 8 10 101( )n 
4. A ball the thrown from a height of 600 m on the ground

the ball bounce 2/3 times of its ev ery last Bounce then
cal cu late the to tal dis tance the ball till It stop.
Skeâ ieWo keâes 600 ceeršj T@ÛeeF& mes veerÛes Oejleer hej heWâkeâer peeleer nw,
ieWo ØelÙeskeâ yeej 2/3 iegvee efheÚues GÚeue kesâ yejeyej keâer leguevee ceW
GÚueleer nQ, lees ieWo ®keâves lekeâ kegâue efkeâleveer otjer leÙe keâjsieer~
(a) 4000 m (b) 3000 m (c) 6000 m(d) 5000 m

5. The sides of a right an gles  are 6, 8 and 10 cm
re spec tively. A new right an gled  is made by join ing the
mid-points of ball the side. This pro cess countnues for
in fi nite the cal cu late the area of all the  so made.
mecekeâesCe  keâer YegpeeSs ›eâceMe: 6, 8 leLee 10 mesceer0 nQ Fme 
kesâ YegpeeDeeW kesâ ceOÙe efyebog keâes efceueekeâj Skeâ veÙee  yeveeÙee peelee nw
leLee Ùen Øeef›eâÙee Deveble yeej oesnjeÙeer peeleer nQ, lees Fme Øekeâej yeves
 keâe kegâue #es$eheâue %eele keâerefpeS~
(a) 32 cm 2 (b) 34 cm 2 (c) 35 cm 2 (d) 36 cm 2

6. If A is the sum of the n terms of the se ries 1
1
4

1
16

   . . .

and B is the sum of 2n terms of the se ries 1
1
2

1
4

   . . .

then find the value of A/B?

Ùeefo ßesCeer ceW A n,  heoeW kesâ Ùeesie kesâ yejeyej nes 1 1
4

1
16

  ...

Deewj B n,2  heoes kesâ Ùeesie kesâ yejeyej nes 1 1
2

1
4

   ... lees A
B

keâe ceeve %eele keâjW~
(a) 1/3 (b) 1/2 (c) 2/3 (d) 3/4

7. Two num bers A and B are such that their GM is 20%
Lower than their AM. Find the Ra tio B/W the num bers.
oes mebKÙee A leLee B keâe iegCeesòej ceeOÙe Gmekesâ meceevlej ceeOÙe mes
20% keâce nes, lees AB keâe Devegheele %eele keâerefpeS~

(a) 3 : 2 (b) 3 : 1 (c) 4 : 1 (d) 2 : 1
8. Find t20  and s20 for the follwoing se ries. 2 8 14 20, , , , . . .

efvecveefueefKele ßesCeer keâe t20 Deewj s20 %eele keâjes~
2 8 14 20, , , ,...
(a) 116, 1172 (b) 110, 1180
(c) 116, 1180 (d) 110, 1172

9. Find t18 and s22 for the fol low ing se ries.
Se ries 3 1 5 9, , , . . .
efvecveefueefKele ßesCeer keâe t18 Deewj s22 %eele keâjes~ 3, 1, 5, 9…
(a) 65, 858 (b) 60, 850 (c) 60, 868(d) 65, 850

10. Find the t20 & s20 for the fol low ing se ries. 2, 8, 32…
efvecveefueefKele ßesCeer keâe t20 Deewj s20 %eele keâjes~ 2 8 32, , …

(a) 2
2
3

4 139 20, ( ) (b) 2
4
3

4 140 20, ( )

(c) 2
2
3

4 138 21, ( ) (d) 2
2
3

4 141 20, ( )

11. Find t30  and s30 for the fol low ing se ries. 64, 16, 4, 1 …
efvecveefueefKele ßesCeer keâe t30 Deewj s30 %eele keâjes~ 64,16, 4,
1…

(a)
1

4

64 1
1
4

1
1
4

26

30

,























(b)

1

4

64 1
1
4

1
1
4

26

30

,
























(c)
1

4

64 1
1
4

1
1
4

26

30

,

 





















(d)

1

4

64 1
1
4

1
1
4

26

30

,

 






















12. How many nat u ral be tween 300 to 500 are mul ti ple of
7?
300 mes 500 kesâ yeerÛe 7 kesâ iegCepe kesâ meYeer mebKÙee kesâ heo %eele
keâerefpeS~
(a) 29 (b) 28 (c) 27 (d) 30

13. Find the value of Ex pres sion 1 6 2 7 3 8      . . . to
100 terms
efvecveefueefKele ßesCeer keâe ceeve %eele keâerefpeS~
1 6 2 7 3 8      . . . to 100
(a) – 250 (b) – 500 (c) – 450 (d) – 300

14. There is an AP 1, 3, 5, ... which term of this AP is 55.?
meceevlej ßesCeer 1, 3, 5,… keâe keâewve-mee heo 55 nesiee~
(a) 27 th (b) 26 th (c) 25 th (d) 28th

15. The sum of terms of the se ries 54 51 48   ... such
that the sum is 513 is
meceevlej ßesCeer ceW ØeLece 16 heoeW keâe Ùeesieheâue %eele keâerefpeS Ùeefo
Gmekesâ ØeLece leLee leermejs heo ›eâceMe: 5 leLee 15 neW~
(a) 600 (b) 765 (c) 640 (d) 680

16. A man Re ceives Rs. 60 for the first week and Rs. 3 more
each week than the pre ced ing week. How much does he
earn by the 20th  week?
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Skeâ Deeoceer ØeLece mehleen ceW 60 ®0 Øeehle keâjlee nw Deewj yeeo
ØelÙeskeâ mehleen 3 ®0 efheÚues mehleen mes DeefOekeâ Øeehle keâjlee nQ, lees
Jen 20 JeW mehleen lekeâ kegâue efkeâlevee Øeehle keâjsiee~
(a) Rs. 1770 (b) Rs. 1620
(c) Rs. 1890 (d) Rs. 1790

17. The 4th  and 10 th  term of a GP are 1/3 and 243
re spec tively. Find the 2nd term?
GP keâer 4th  leLee 10t  heo ›eâceMe 1/3 leLee 243 nes, lees
2nd heo %eele keâerefpeS~
(a) 3 (b) 1 (c) 1/27 (d) 1/9

18. The 7th and 21th term of an AP are 6 and – 22
re spec tively. Find the 26th term.
AP keâe 7th leLee 21th heo ›eâceMe: 6 leLee 22 nes, 2nd lees
heo %eele keâerefpeS~
(a) 34 (b) 32 (c) 12 (d) 10

19. The sum of 5 num ber is AP is 30 and the sum of their
square is 220. Which of the fol low ing is the third term?
AP kesâ ØeLece 5 mebKÙeeDeeW keâe Ùeesie 30 nes leLee Gvekesâ JeieeX keâe
Ùeesie 220 nes, lees leermeje heo %eele keâerefpeS~
(a) 5 (b) 6 (c) 8 (d) 10

20. What is the max i mum sum of the term in the Arith me tic

progession 25 24
1
2

24 1
1
2

, , . . . ,

meceevlej ßesCeer keâe kegâue Ùeesie %eele keâerefpeS 25 24
1
2

24 1
1
2

, , ... ,

(a) 637
1
2

(b) 625 (c) 662
1
2

(d) 650

21. An equi lat eral tri an gle is drawn by join ing the
mid points of the sides of an other equi lat eral tri an gle. A
third equi lat eral tri an gle is drawn in side the sec ond one
join ing the mid points of the sides of th sec ond
equi lat eral tri an gle, and the pro cess con tin ues
in fi nitely. Find the sum of the per im e ters of all the
equi lat eral tri an gles, If side of the larg est equi lat eral
triangle is 24 units.
meceyeeng  kesâ YegpeeDeeW kesâ ceOÙeefyebog keâes efceueekeâj Skeâ veÙee 
yeveeÙee peelee nw~b leLee Ùen Øeef›eâÙee Deveble yeej oesnjeÙeer peeleer nQ, lees
Fme Øekeâej yeves  keâe kegâue heefjceehe %eele keâerefpeS Ùeefo yeÌ[s ef$eYegpe
keâer Yegpee keâe ceeve 24 FkeâeF& neW~
(a) 288 units (b) 72 units
(c) 36 units (d) 144 units

22. Find the value of ex pres sion
1 6 2 7 3 8      ...
(a) 250 (b) 500 (c) 450 (d) 300

23. Find the sum of the in te gers be tween 1 and 200 that are
mul ti ples of 7?
1 leLee 200 kesâ yeerÛe meYeer hetCeeËkeâ keâe Ùeesieheâue %eele keâerefpeS pees
7 kesâ iegCepe neW~
(a) 2742 (b) 2842 (c) 2642 (d) 2546

24. Jack and Jil were play ing math e mat i cal puz zles with
each other. Jill drew a square of sides 8 cm and then
kept on draw ing squares in side the squares by join ing
the mid points of the squares. She con tin ued this
pro cess in def i nitely. Jill asked jack to de ter mine the sum
of the area of all the squares that she drew. If jack
an swered cor rectly then what would be his an swer?
peskeâ Deewj peerue Deeheme ceW ieefCeleerÙe hensueer Kesueles nQ~ peerue 8
mesceer Yegpee Jeeueer Jeie& yevelee nw leLee Jeie& kesâ YegpeeDeeW kesâ ceOÙe efyebog
keâes pees[keâj veÙee Jeie& yevelee nQ Ùen Øeef›eâÙee Jen Deveble lekeâ
oesnjelee nQ~ peerue peskeâ mes meYeer JeieeeX kesâ #es$eheâue keâe Ùeseie yeleeves
keâes keânlee nQ~ Ùeefo peskeâ mener Gòej oslee nQ~ lees Gmekeâe mener Gòej
keäÙee nesiee~
(a) 128 (b) 64 (c) 256 (d) 32

25. The sum of an in fi nite GP whose com mon ra tio is and
the sum of the first two terms is 24. What will be the
third term?
GP kesâ Debvele heoes keâe Ùeesieheâue 32 nQ efpemekeâe meeJe& Devegheele 1
mes keâce nQ leLee Fmekesâ yeerÛe ØeLece oes heoeW keâe Ùeesieheâue 24 nes, lees
leermeje heo %eele keâerefpeS~
(a) 2 (b) 16 (c) 8 (d) 4

26. What will be the value of n n n1 2 1 4 1 8/ / /. . . . .
efvecveefueefKele keâe ceeve %eele keâerefpeS n n n1 2 1 4 1 8/ / /. . ...
(a) n2 (b) n (c) n3 2/ (d) n3

27. If the arith me tic mean of the num ber x x x1 2 3, , ... xn  is
x, then the arith me tic mean of the num ber
ax b ax b ax bn   , , ,2 3 … ax bn  , where a and b are
two con stants, would be ?
Ùeefo x x x1 2 3, , ...xn  keâe meceevlej ceeOÙe x nes lees keâe
ax b ax b ax bn   , , ,2 3 … ax bn   meceevlej ceeOÙe keäÙee
nesiee ÙeneB a leLee b oes efmLejebkeâ neW~
(a) x (b) nax nb (c) ax (d) ax b

 answer key  (Practice set-1)

1. (c) 2. (a)  3. (b) 4. (a) 5. (b) 6. (b) 7. (b)  8. (a) 9. (d) 10. (a)
11. (d) 12. (a) 13. (d) 14. (c)  15. (b)  16. (c)  17. (b)  18. (c)  19. (c)  20. (a)

 21. (b)  22. (b)  23. (c) 24. (c)  25. (b)  26. (c)  27. (b)

 answer key  (Practice set-2)

1. (a) 2. (d)  3. (b) 4. (b) 5. (a) 6. (c) 7. (c)  8. (c) 9. (a) 10. (a)
11. (d) 12. (a) 13. (a) 14. (d)  15. (d)  16. (a)  17. (c)  18. (b)  19. (d)  20. (a)

 21. (d)  22. (a)  23. (b) 24. (a)  25. (d)  26. (b)  27. (d)
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 Table
Directions (1-4): The table given here shows
production of five type of cars by a company in the
year 1989 to 1994. Study the table and answer
questions.

PRODUCTIONS OF CARS BY A COMPANY

Year 1998 1990 1991 1992 1193 1994 To tal

P 8 20 16 17 21 6 88

Q 16 10 14 12 12 14 78

R 21 17 16 15 13 8 90

S 4 6 10 16 20 31 87

T 25 18 19 30 14 27 133

To tal 74 71 75 90 80 86 476

1. In which year the pro duc tion of cars of all types taken
to gether was ap prox i mately equal to the av er age of the
to tal pro duc tion dur ing the pe riod?
efvecve ceW mes efkeâme Je<e& ceW meYeer Øekeâej keâer keâejeW keâe kegâue Glheeove,
oer ieF& meceÙeeJeefOe ceW kegâue Glheeove kesâ Deewmele kesâ yejeyej nes~
(a) 1989 (b) 1991 (c) 1993 (d) 1994

2. In which year the to tal pro duc tion of cars of types P and
Q to gether was equal to the to tal pro duc tion of cars of
types R and S to gether?
efvecve ceW mes efkeâme Je<e& ceW P leLee Q ØekeâejeW keâer keâejeW keâe kegâue
Glheeove, keâej R leLee S kesâ kegâue Glheeove kesâ yejeyej nes
(a) 1990 (b) 1991
(c) 1994 (d) None of the above

3. Dur ing the pe riod 1989-94, In which type of cars was a
con tin u ous in crease in pro duc tion ?
Je<e& 1989-94 keâer meceÙeeJeefOe ceW efvecve cebs mes efkeâme keâej keâe
Glheeove ueieeleej yeÌ{e nes~
(a) P (b) Q (c) R (d) S

4. The pro duc tion of which type of car was 25% of the
to tal pro duc tion of all types of cars dur ing 1993?
oer ieF& meceÙeJeefOe, efkeâme keâej keâe Glheeove Je<e& 1993 ceW kegâue
Glheeove keâe 25% nw~
(a) S (b) R (c) Q (d) P

Direction (5-9) : Read the following table and answer
the questions below it:

RUPEES (IN CRORES) YEARS

Banks 1995 1996 1997 1998

A 18 23 45 30

B 27 33 18 41

C 29 29 22 17

D 13 19 28 32

To tal 87 104 113 120

5. In which year the dis burse ment of loans by all the banks
com bined to gether was near est to the av er age
dis burse ment  of loans over the years?
efkeâmeer Je<e& ceW meYeer yeQkeâes Éeje kegâue efceueekeâj oer ieF& $e+Ce jeefMe
Ghejeskeäle Je<eeX cebs oer ieF& Deewmele $e+Ce kesâ efvekeâšlece nw?
(a) 1995 (b) 1996
(c) 1997 (d) 1998

6. What was the per cent age in crease of dis burse ment of
loan of all banks to gether from 1997 to 1998?
1997 mes 1998 ceW meYeer yeQkeâeW Éeje efceueekeâj oer ieF& kegâue $e+Ce
jeefMe ceW Je=efæ keâe ØeefleMele keäÙee nw?
(a) 6% (b) 6

22
113

 % (c) 6
11

113
% (d) 7

11
113

%

7. In which year was the to tal dis burse ment of laons of
banks A and B ex actly equal to the to tal dis burse ment of
loans of banks C and D?
efkeâme Je<e& ceW yeQkeâ A Deewj B Éeje oer ieF& kegâue $e+Ce jeefMe yeQkeâ C
Deewj D Éeje oer ieF& kegâue $e+Ce jeefMe kesâ "erkeâ yejeyej Leer?
(a) 1995 (b) 1996
(c) 1998 (d) None of these

8. In which of the fol low ing banks there was as con tin ued
in crease in loan dis burse ment through out the years?
efvecveefueefKele ceW mes efkeâme yeQkeâ ceW efoS ngS Je<eeX kesâ oewjeve oer ieF&
$e+Ce jeefMe ceW efvejblej Je=efæ nesleer jner?
(a) A (b) B (c) C (d) D

9. In which bank was the loan dis burse ment more than
30% of the dis burse ment of all banks com bined
to gether in 1998?
1998 ceW efkeâme yeQkeâ Éeje oer ieF& $e+Ce jeefMe meYeer yeQkeâeW Éeje
kegâue efceueekeâj oer ieF& $e+Ce jeefMe kesâ 30 ØeefleMele mes DeefOekeâ Leer?
(a) A (b) B (c) C (d) D
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Direction (10-14): A table showing the percentage of
the total poFpulation of a state be age groups for the
year 1991 is given below. Answer the questions given
below it.

Age group (in yrs) Per cent

Up to 15 30.00

16-25 17.75

26-35 17.25

36-45 14.50

45-55 14.25

56-65 5.12

66 & above 1.13

To tal 100.00

10. Which age group ac counts for the max i mum pop u la tion
in the State?
pevemebKÙee keâe keâewve-mee DeeÙeg «eghe, jepÙe keâer meJee&efOekeâ Deeyeeoer
yeveelee nw~
(a) 16- 25 (b) 26- 35 (c) 36- 45 (d) 56- 65

11. Out of ev ery 4200 per sons, the num ber of per sons
be low 26 years is:
4200 DeeoefceÙeeW ceW mes, efkeâleves JÙeefkeäle nw pees 26 meeue mes keâce
DeeÙeg kesâ nQ~
(a) 2006 approx (b) 1260 approx
(c) 746 approx (d) 515 approx

12. There are 200  mil lion peo ple be low 36 years. How
many mil lions (approx) peo ple are in the age group 56-
66?
Ùeefo 36 Je<e& keâer DeeÙeg kesâ veerÛes 200 efceefueÙeve Deeyeeoer nes, lees
DeeÙeg Jeie& 56-66 kesâ ueesieeW keâer mebKÙee yeleeÙeW~
(a)30.07 (b) 15.75 (c) 12.72 (d) 59.30

13. If there are 10 mil lions peo ple in the age group 56 years
and above, what is the dif fer ence be tween the num ber
of peo ple in the age group 16 – 25 and 46- 55 ?
Ùeefo 56 Je<e&, Ùee Gmemes DeefOekeâ DeeÙeg Jeie&, ceW kegâue 10000 ueesie
nes, lees DeeÙeg Jeie& (16-25) leLee (46-55) kesâ yeerÛe pevemebKÙee
keâe Devlej yeleeÙes~
(a) 6.8 mil lions (b) 5.6 mil lions
(c) 28.4 mil lions (d) 34.7 mil lions

14. If the dif fer ence be tween the num ber of peo ple in the
age groups of peo ple in the age group (46- 55) and
(26-35) is 11.75 mil lions then the to tal pop u la tion of
the state is ap prox i mately:
Ùeefo DeeÙeg Jeie&, (46-55) leLee (26-35) kesâ yeerÛe ueesieeW keâer
pevemebKÙee ceW Devlej 11.75 efceefueÙeve nes, lees jepÙe keâer kegâue
pevemebKÙee yeleeÙes
(a) 360.23 mil lions (b) 391.67 mil lions
(c) 400 mil lions (d) 460.67 mil lions

Directions (15-17) : Study the following table carefully
and answer the questions given below it.

efvecveefueefKele leeefuekeâe keâe meeJeOeeveerhetJe&keâ DeOÙeÙeve keâerefpeS Deewj
Fmekesâ veerÛes efoS ieS ØeMveeW kesâ Gòej oerefpeS-

The ta ble gives the per cent age of marks scored by six
stu dents in dif fer ent sub jects. The to tal marks in each
sub ject is also given with the sub ject.
leeefuekeâe ceW Ú: efJeÅeeefLe&ÙeeW Éeje Deueie-Deueie efJe<eÙeeW ceW Øeehle
DebkeâeW keâes oMee&Ùee ieÙee nw~ ØelÙeskeâ efJe<eÙe kesâ meeLe Gme efJe<eÙe keâe
kegâue Debkeâ efoÙee ieÙee nw~

Stu dents Eng
(100)

Hindi
(100)

Sci ence
(150)

His
(60)

Math
(150)

Geo
(50)

Ankur 68 75 82 60 96 55

Jatin 88 73 85 65 88 65

Manoj 75 56 72 75 75 80

Kalpana 70 66 80 80 72 92

Charu 72 60 68 74 68 75

Dheeraj 85 70 90 70 74 70

15. What is ap prox i mate over all per cent age ob tained by
Charu in the ex am i na tion ?
hejer#ee ceW Ûee™ Éeje Øeehle kegâue efceueekeâj ØeefleMele ueieYeie keäÙee
nw?
(a) 78 (b) 69 (c) 75 (d) 71

16. The marks ob tained by Ankur in Ge og ra phy are
ap prox i mately what per cent of the marks as it is
ob tained by Kalpana in Hindi ?
Debkegâj Éeje Yetieesue ceW Øeehle Debkeâ, keâuhevee Éeje efnvoer ceW Øeehle
Debkeâ keâe efkeâlevee ØeefleMele nQ~
(a) 45 (b) 33 (c) 50 (d) 60
(e) None of these

17. What is the over all per cent age of marks ob tained by
Kalpana in His tory and Ge og ra phy to gether ?
keâuhevee Éeje Fefleneme Deewj Yetieesue cebs kegâue efceueekeâj Øeehle DebkeâeW
keâer ØeefleMelelee keäÙee nw?
(a) 73.40 (b) 71.80 (c) 70.50 (d) 68.80

Directions (Q.18-21) : Study the following table
carefully to answer the question given below it:
efveÛes oer ieF& meejCeer keâe DeOÙeÙeve keâerefpeS leLee ØeMveeW kesâ Gòej
oerefpeS

Num ber of can di dates ap peared, qual i fied and se lected
in a com pet i tive ex am i na tion from five states A, B, C, D,
and E over the years 1994 to 1998

ÙeesiÙe Meeefceue, leLee ÛeÙeefvekeâ DeYÙeeefLe&ÙeeW keâer mebKÙee pees Skeâ
ØeefleÙeesieer hejer#ee ceW heeBÛe jepÙeeW A B C D, , , leLee E 1994 mes
1998 ceW Meeefceue ngS
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A = Ap peared; Q = Qual i fied; S = Se lected

18. What is the av er age num ber of can di dates ap peared
over the years for State B?

jepÙe B ceW meYeer Je<eeX ceW GheefmLele Deewmeleve DeYÙeeefLe&ÙeeW keâer mebKÙee
keäÙee nw?
(a) 8900 (b) 7900 (c) 7400 (d) 8100

19. What ap prox i mately in the per cent age of to tal num ber
of can di dates se lected to the to tal num ber of can di dates
qual i fied for all the five states to gether dur ing the year
1996 ?

Je<e& 1996 ceW heeBÛeeW ceW kegâue ÙeesiÙelee Øeehle DeYÙeeefLe&ÙeeW ceW mes kegâue
ÛeÙeefvele DeYÙeeefLe&ÙeeW keâer mebKÙee keâe ueieYeie ØeefleMele keäÙee nw?
(a) 11% (b) 15% (c) 12% (d) 16%

20. For which of the fol low ing years is the per cent age of
can di dates se lected over the num ber of can di dates
qual i fied the high est for state C ?

jepÙe C ceW kegâue ÙeesiÙelee Øeehle DeYÙeeefLe&ÙeeW ceW mes ÛeÙeefvele meyemes
DeefOekeâ DeYÙeeLeea nw?
(a) 1997 (b) 1995 (c) 1996 (d) 1994

21. For which of the fol low ing states the av er age num ber of
can di dates se lected over the years is the max i mum?

efkeâme jepÙe ceW Skeâ Je<e& ceW ÛeÙeve nesves Jeeues efJeÅeeefLe&ÙeeW keâer mebKÙee
meyemes DeefOekeâ nw
(a) A (b) E (c) C (d) D

(e) B

 answer key

1. (c) 2. (d)  3. (d) 4. (c) 5. (b) 6. (b) 7. (d)  8. (d) 9. (b) 10. (a)
11. (a) 12. (b) 13. (b) 14. (b)  15. (b)  16. (b)  17. (b)  18. (b)  19. (a)  20. (d)

 21. (b)

DATA INTERPRETATION (DeeBkeâÌ[e efveJe&Ûeve) 53

State
Years

A B C D E

A Q S A Q S A Q S A Q S A Q S

1194 4500 600 75 6400 540 60 5200 350 55 7100 650 75 6400 700 75

1995 5700 485 60 7800 720 84 6500 525 65 6800 600 70 8200 680 85

1996 8500 950 80 7000 650 70 4800 400 48 5600 620 85 7500 720 78

1997 7200 850 75 8800 920 86 7400 560 70 7500 800 65 7800 810 82

1998 9000 800 70 9500 850 90 7500 640 82 4800 500 48 8000 850 94



 bar graph

Directions 1-5: The following bar chart shows the
sales of a company XYZ (in Rs. Crore). Study the chart
and answer the following questions.

1. To tal sales in 2nd and 3rd years to gether is :
otmejer leLee leermejer meeue ceW kegâue efceueekeâj efkeâleveer efye›eâer ngF&
(a) Rs. 2688 crores (b) Rs. 2888 crores
(c) Rs. 2788 crores (d) Rs. 2488 crores

2. The 2nd high est sale is in the year:
efÉleerÙe DeefOekeâlece efye›eâer efkeâme Je<e& ngF&?
(a) 10 (b) 9 (c) 8 (d) 7

3. The 2nd least sale is in the year ?
efÉleerÙe vÙetvelece efye›eâer efkeâme Je<e& ngF&
(a) 2 (b) 3 (c) 6 (d) 4

4. The mean of the high est and the low est sale (in Rs.
Crore) is
DeefOekeâlece leLee vÙetvelece efye›eâer keâe ceeOÙe yeleeÙeW (keâjesÌ[ ceW)
(a) 4922.5 (b) 4827 (c) 4365 (d) 4922

5. The sale in the year 4 is less than the sale in the year 8
by
ÛeewLeW Je<e& keâer ieF& efye›eâer Dee"JeW meeue ceW keâer ieF& efye›eâer mes efkeâleves
®heÙes keâce nQ
(a) Rs. 3608 crores (b) Rs. 3504 crores
(c) Rs. 3127 crores (d) Rs. 3427 crores

Directions 6-10: The following is a horizontal bar
diagram showing the accidents in which two wheelers
are involved with other objects.Study the diagram and
answer the question.

6. The dif fer ence in per cent age be tween the ac ci dents
in volv ing two wheel ers and other ob jects is re spec tively.
oes heefnÙee JeenveeW SbJe JeenveeW Éeje nesves Jeeueer ogIe&šveeDeeW kesâ yeerÛe
efkeâleves ØeefleMele keâe Devlej nQ
(a) 77% more (b) 77% less
(c) 54% more (d) 54% less

7. 60% of the ac ci dents are in volved due to
kegâue ogIe&šveeDeeW keâe 60 ØeefleMele efvecve JeenveeW mes neslee nw
(a) cars, buses, tanker lorry and pe des tri ans
(b) cars, tanker lorry, bi cy cles and sta tion ary ve hi cles
(c) two wheel ers, cars, buses and sta tion ary ve hi cles
(d) two wheel ers, cars, buses and tanker lorry

8. If the data of the bar di a gram is rep re sented by a pie
chart, and the an gle of a sec tor of he pie chart is 36º,
then this sec tor rep re sents the ac ci dents in volv ing
Ùeefo efoÙes ieÙes yeej «eeheâ keâes heeF& Ûeeš& kesâ Éeje oMee&Ùee peeS Deewj
heeF& Ûeeš& hej yeveves Jeeuee Skeâ keâesCe 36°, nes lees yeleeÙeW Jen keâewve
meer keâce nes mekeâleer nw
(a) Pe des tri ans (b) bi cy cles
(c) buses (d) sta tion ary ve hi cles

9. The per cent age of ac ci dents in which pe des tri ans and
cy clists are in volved is
hewoue leLee meeFefkeâue mes nesves Jeeueer ogIe&šveeDeeW keâe ØeefleMele efkeâlevee nw
(a) 24% (b) 6% (c) 60% (d) 20.4%

10. The per cent age by which the ac ci dents in volv ing buses
is less than the ac ci dents in volv ing tanker lorry is
yeme Éeje nesves Jeeueer ogIe&šveeDeeW keâej Éeje nesves Jeeueer ogIe&šveeDeeW mes
efkeâleves ØeefleMele keâce nw?
(a) 6% (b) 4% (c) 40% (d) 28%

Directions  11-12 : The following bar diagram depicts
figures for some agricultural imports from January
May, 2008, Answer (as closely as possible) the
questions using the date provided here.
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11. What is the av er age cost of po tato im port in Feb ru ary
and March ?

heâjJejer leLee ceeÛe& ceen ceW DeeÙeele DeeuetDeeW keâer Deewmele keâercele
yeleeÙeW
(a) 3,960 (b) 5,960

(c) Rs. 1,280 (d) Rs. 4,440

12. What was the to tal csot (in Rs.) of wheat im port in
March

ceeÛe& ceen ceW DeeÙeele ieWnt keâer kegâue keâercele yeleeÙeW
(a) 3,212 (b) Rs. 5,616

(c) 7,042 (d) 2,224

Directions : In question nos. 13-16, Given here a
multiple bar diagram of the scores of four players in
two innings. Study the diagram and answer the
questions.
ÙeneB Ûeej efKeueeefÌ[ÙeeW keâer oes heeefjÙeeW kesâ mkeâesj keâe yeÜ yeej-«eeheâ
efoÙee ieÙee nw~ DeejsKe keâe DeOÙeÙeve keâjW Deewj ØeMveeW keâe Gòej oW~

13. The av er age run of two in nings of the player who scored
high est in av er age is:

oes heeefjÙeeW ceW GÛÛelece Deewmele mkeâesj Øeehle keâjves Jeeues efKeueeÌ[er keâe
Deewmele jve nw—
(a) 75 (b) 85 (c) 80 (d) 70

14. The av er age run in two in nings of the player who has
scored min i mum at the sec ond in nings is:

otmejer heejer ceW meyemes keâce mkeâesj Øeehle keâjves Jeeues efKeueeÌ[er kesâ
oesveeW heeefjÙeeW kesâ Deewmele jve nw
(a) 50 (b) 60 (c) 40 (d) 30

15. The av er age score in sec ond in nings con trib uted by the
four play ers is:

otmejer heejer ceW ÛeejeW efKeueeefÌ[ÙeeW keâe Deewmele mkeâesj nw
(a) 30 (b) 60 (c) 40 (d) 50

16. The to tal scores in the first in nings con trib uted by the
four play ers is:

henueer heejer ceW ÛeejeW efKeueeefÌ[ÙeeW Éeje efceuekeâj yeveeÙee ieÙee kegâue
mkeâesj nQ
(a) 220 (b) 200 (c) 210 (d) 190

Directions (17-21) : Study the following graphs
carefully and answer the questions given below:

Value of im ports and ex ports by a com pany over
the years Value of im ports (in Rs. crore)

17. The value of ex port in 1996 was what per cent age of the
av er age value of im ports in the years, 1994, 1995 and
1997 ?

Je<e& 1996 ceW efveÙee&le, meve 1994, 1995 leLee 1996 ceW
DeeÙeele keâe Deewmeleve ØeefleMele keäÙee Lee?
(a) 200 (b) 100

(c) 300 (d) None of these

18. The value of ex ports in 1994 was ex actly what
per cent age of the value of im ports in the same years ?

meve 1994 ceW efveÙee&le Gmeer Je<e& ceW DeeÙeele keâe ØeefleMele keäÙee Lee?
(a) 125 (b) 160

(c) 200 (d) None of these

19. What was the ap prox i mate dif fer ence be tween the
value of av er age ex ports and the value of av er age
im ports of the given years ?

Deewmeleve efveÙee&le leLee DeeÙeele ceW efoÙes ieÙes Je<eeX ceW ueieYeie keäÙee
Devlej Lee?
(a) Rs. 85 cr (b) Rs. 100 cr

(c) Rs. 75 cr (d) Rs. 90 cr
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20. In which of the fol low ing years was the dif fer ence
be tween the value of ex ports and the value of im ports
ex actly Rs. 100 crore ?

efvecve ceW mes efkeâme Je<e& ceW efveÙee&le leLee DeeÙeele ceW Devlej 100 keâjesÌ[
Lee?

(a) 1993 (b) 1996 (c) 1995 (d) 1997

21. What was the per cent age in crease in the value of
ex ports from 1995 to 1996 ?

meve 1995 mes 1996 ceW efveÙee&le keâe ØeefleMele keäÙee Lee?
(a) 150 (b) 100 (c) 75 (d) 50

 Answer key

1. (b) 2. (a)  3. (b) 4. (b) 5. (b) 6. (d) 7. (c)  8. (d) 9. (a) 10. (b)
11. (a) 12. (b) 13. (d) 14. (c)  15. (c)  16. (c)  17. (d)  18. (d)  19. (a)  20. (b)

 21. (d)
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 line Graph
Directions 1-4 : A motorist and a scooterist made a
journey of 120 km at the same time and from the same
place. The graph shows the progress of the journey
made by each person.Study the graph and answer the
questions.

1. At what time did the mo tor ist meet the scooterist?

efkeâme meceÙe hej ceesšj meeFefkeâue Jeeuee mketâšj Ûeeuekeâ mes efceuee?
(a) 10:30 am (b) 10:45 am

(c) 10:15 am (d) 10:20

2. What was the speed of the scooterist dur ing the
jour ney? (in kmph)

kegâue Ùee$ee kesâ oewjeve mketâšj Ûeeuekeâ keâer ieefle yeleeÙeW (efkeâceerIeCšs
ceW)
(a) 45 (b) 48 (c) 42 (d) 46

3. The scooterist com pletes the jour ney (in hours)

(a) 3 (b) 2 (c) 2
1
2

(d) 3
1
2

4. How far from the start, did the mo tor ist met the
scooterist ? (in km)

ceesšj meeF&efkeâue Ûeeuekeâ ØeejbYe mes efkeâleveer otjer hej mketâšj Ûeeue mes
efceuee (efkeâceer ceW)
(a) 75 (b) 70 (c) 90 (d) 80

5. The fol low ing graph  rep re sents the max i mum and
min i mum tem per a ture re corded ev ery day in a cer tain
week. The day on which the dif fer ence be tween the
max i mum and min i mum tem per a ture  was maximum is

veerÛes oMee&Ùeee ieÙee «eeheâ, efkeâmeer Skeâ mehleen ceW Øeefleefove efjkeâe[&
efkeâÙes DeefOekeâlece leLee vÙetvelece leeheceeve keâes oMee&lee nQ Jen efove
keâewve mee nw efpemeceW DeefOekeâlece leLee efvecvelece leeheceeve kesâ yeerÛe
Devlej DeefOekeâlece nw?

(a) Wednes day (b) Sat ur day

(c) Sunday (d) Mon day

 Directions 6-7: Study the following graph and answer
the questions.

6. If the im ports of com pany X in 2007 were in 2007 were
in creased by 40% what would be the ra tio of ex ports to
the in creased im ports

Ùeefo keâcheveer X keâe Je<e& 2007 ceW DeeÙeele 40 ØeefleMele yeÌ{ peelee
nw, lees efveÙee&le keâe yeÌ{s ngÙes DeeÙeele mes Devegheele yeleeÙes
(a) 1.25 (b) 1.75

(c) 0.25 (d) 0.75

7. In 2005, the ex ports of  com pany X were dou ble that of
com pany Y in that year. If the im ports of com pany X
dur ing the year were Rs. 180 crores, what was the
amount (in crore Rs.) of im ports of com pany Y dur ing
the year ?

Je<e& 2005 ceW keâcheveer X keâe efveÙee&le keâcheveer Y mes ogiegvee nw~ Ùeefo
Fme Je<e& ceW keâcheveer X keâe DeeÙeele ®0 180 keâjes[ Lee, lees yeleeÙes
Fme Je<e& keâcheveer Y keâe DeeÙeele efkeâlevee Lee? (keâjesÌ[ ceW)
(a) 212 (b) 210

(c) 315 (d) 282
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Directions : (8-12) : Study the following graph carefully
and answer the questions given below it:

The num ber of stu dents who joined are left the
school in the be gin ning of year for six years,
from 1993 to 1998. Ini tial strength of the
school in 1992 = 1500

8. What was the incresedecrease in strength of the school

from 1994 to 1995 ?

mketâue keâer Meefkeäle ceW 1994 mes 1995 lekeâ keäÙee keâceerJe=efæ Leer?
(a) in crease by 100 (b) De crease by 100

(c) In crease by 200 (d) De crease by 200

9. For which of the fol low ing years, the per cent age risefall

in num ber of stu dents left from the pre vi ous years is the

high est ?

keâewve mes meve ceW, efheÚues meeue keâer leguevee ceW efJeÅeeefLe&ÙeeW keâer mebKÙee
ceW ØeefleMele Je=efækeâceer meJee&efOekeâ nw
(a) 1994 (b) 1995

(c) 1996 (d) 1997

(e) 1998

10. How many stu dents were three in the school dur ing the

year 1996 ?

meve 1996 kesâ oewjeve mketâue ceW efkeâleves efJeÅeeLeea Les
(a) 1495 (b) 1600

(c) 1550 (d) 1700

11. Dur ing which of the fol low ing pairs of years, the

strength of the school is equal ?

efvecve ceW mes efkeâme Je<e& kesâ peesÌ[s ceW mketâue keâer mebKÙee yejeyej Leer?
(a) 1994 and 1995 (b) 1995 and 1997

(c) 1996 and 1998 (d) 1995 and 1998

12. The num ber of stu dents in 1996 is ap prox i mately what

per cent of the num ber of stu dents in 1994 ?

1996 ceW efJeÅeeefLe&ÙeeW keâer mebKÙee, 1994 ceW efJeÅeeLeeaÙeeW keâer mebKÙee
keâe ueieYeie efkeâleves ØeefleMele nw?
(a) 85 (b) 117

(c) 95 (d) 103

Directions (13-17) : Study the following graph and
answer the following questions:

Fol low ing graph shows the cen tre’s rev e nue
ex pen di ture (in per cent age)

13. If Rs. 8,000 crore was ex pended on de fence in as
1997-98, find the to tal rev e nue ex pen di ture in the year
1996-97

Deiej meve 1997-98 ceW megj#ee ceW 8,000 keâjesÌ[ KeÛe& ngÙes lees
meve 1996-97 ceW kegâue efkeâleveer jsJesvÙet KeÛe& ngF&?
(a) Rs. 57,142 cr (b) Rs. 47,642 cr

(c) Rs. 54,442 cr (d) Data In ad e quate

14. Sub si dies dur ing 1995-96 is ap prox i mately what
per cent of the sub si dies dur ing 1999-2000 ?

meve 1995-96 keâer meymemeef[pe meve 1999-2000 keâer
meyeefme[erpe keâer ueieYeie efkeâleves ØeefleMele nw
(a) 95% (b) 100%

(c) 90% (d) Can’t be de ter mined

15. If the to tal rev e nue ex pen di ture in 1997-98 was Rs.
3,02,537 crore, what is the dif fer ence be tween the to tal
renenue ex pen di ture on oth ers and that on de fence?

meve 1997 mes 98 ceW šesšue jefJevÙet Skeämehesv[erÛej 3,02,537
keâjes[ Lee lees otmejs ef[hesâveme hej KeÛe& ngF& efjJesvÙet keâe Deblej
yeleeFÙes?
(a) Rs. 18,152.22 cr (b) Rs. 17,182.40 cr

(c) Rs. 60,507.4 cr (d) Can’t be de ter mined

16. The to tal rev e nue ex pen di ture on grants of state and
Uts is what per cent of the in ter est pay ment in the year
1996-97 ?

jepÙe Je Ùet0šer0Sme0 hej «eevšme hej KeÛe& kegâue efjJesvÙet meve
1996-97 ceW Fvšjsmš hescesvš keâe keäÙee ØeefleMele nw?
(a) 225% (b) 80%

(c) 44.45% (d) 36.45%

17. If the to tal rev e nue ex pen di ture on oth ers in 1998-99 is
Rs. 47,781 crore then what is the ap prox i mate rev e nue
ex pen di ture on grants to state and Uts in the same year?

Deiej meve 1998-99 ceW otmejs hej KeÛe& kegâue efjJesvÙet 47,781
keâjes[ Leer lees jepÙe Je Ùet0šer0Sme0 keâer «eebšme hej ueieYeie
efkeâleveer jsJesvÙet KeÛe& ngF&
(a) Rs. 52,270 cr (b) Rs. 59,250 cr

(c) Rs. 60,240 cr (d) Rs. 58,540 cr

Directions (18-22) : Study the following graph and
answer accordingly:
veerÛes efoS «eeheâ keâes heÌ{keâj ØeMveeW kesâ Gòej oerefpeS
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The fol low ing graph shows the per cent profit of a
com pany and its ex pen di ture (in Rs. lakh) over

the years

%profit 



Income Expenditure

Expenditure
100

18. In which of the fol low ing years was the
amount of profit the max i mum ?

efkeâme Je<e& ceW ueeYe keâer jkeâce meJee&efOekeâ Leer?
(a) 1996 (b) 2001 (c) 1998 (d) 2000

19. Ap prox i mately what was the av er age in come
of the given years (in lakhs) ?

meYeer meeueeW keâer Deewmeleve DeeÙe ueieYeie keäÙee Leer (ueeKe ceW)
(a) 170 (b) 160 (c) 180 (d) 150

20. In which of the fol low ing years was the
per cent age increasedecrease in per cent profit
from the pre vi ous year the max i mum ?

efkeâme meeue ceW ueeYe ceW ØeefleMele Je=efækeâceer efheÚues meeue keâer leguevee
ceW meJee&efOekeâ Leer?
(a) 1997 (b) 1998 (c) 1999 (d) 2000

21. What was the in come in 2002 (in Rs. lakhs) ?

2002 ceW kegâue DeeÙe keäÙee Leer? (ueeKe ceW)
(a) 110 (b) 230 (c) 220 (d) 210

(e) None of these

22. If the profit per cent age in 1998 had been 40%,
what would have been the in come in that
year?

Deiej 1998 ceW ueeYe ØeefleMele 40 ØeefleMele jner nesleer lees Gme Je<e&
ceW DeeÙe keäÙee ngF& Leer?
(a) Rs. 182 lakhs (c) Rs. 175.50 lakhs

(b) Rs. 190 lakhs (d) Rs. 180 lakhs

 anskwer key

1. (a) 2. (b)  3. (c) 4. (d) 5. (b) 6. (a) 7. (b)  8. (a) 9. (d) 10. (d)
11. (d) 12. (b) 13. (d) 14. (d)  15. (a)  16. (c)  17. (b)  18. (b)  19. (a)  20. (b)

 21. (d)  22. (a)
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 pie chart
Directions (1-5): Read the following pie- chart to
answer the questions given below it.

1. If the to tal amount spent dur ing the year 1998 was Rs.

46000 the amount spent on food, was :

Ùeefo Je<e& 1998 ceW kegâue KeÛe& ®0 46000 nes lees Yeespeve hej
efkeâleves ®heÙes KeÛe& efkeâÙes ieÙes
(a) Rs. 2000 (b) Rs. 10580

(c) Rs. 23000 (d) Rs. 2300

2. If the to tal amount spent was Rs. 46000, how much was

spent on cloth ing and hous ing to gether?

Ùeefo KeÛe& kegâue ®0 46000 nes lees keâheÌ[eW leLee efveJeeme hej kegâue
efkeâlevee KeÛe& efkeâÙee ieÙee
(a) Rs. 11500 (b) Rs. 1150

(c) Rs. 10000 (d) Rs. 15000

3. The ra tio of the to tal amount of money spent on

hous ing to that spent on ed u ca tion was:

neGefmebie hej efkeâÙes ieÙes KeÛe& keâe, efMe#ee hej efkeâÙes ieÙes KeÛe& mes
Devegheele yeleeÙes?
(a) 5 : 2 (b) 2 : 5 (c) 4 : 5 (d) 5 : 4

4. Graph shows that the max i mum amount was spent on:

efvecve ceW mes efkeâme ceo hej DeefOekeâlece ®heÙee KeÛe& efkeâÙee ieÙee
(a) Food (b) Hous ing

(c) Cloth ing (d) Oth ers

5. If the to tal ex pen di ture of the fam ily for the year 1998

was Rs. 46000, the fam ily saved dur ing the year.

Ùeefo Je<e& 1998 ceW, heefjJeej keâe meYeer ceoeW hej kegâue KeÛe& ®
46000 nes lees yeleeFÙesS Fme Je<e& heefjJeej keâer yeÛele efkeâleveer Leer~
(a) Rs. 1500 (b) Rs. 15000

(c) Rs. 6900 (d) Rs. 3067 approx

Direciton(6-8): The pie charts given show some
automobile parts manufactured by an authomobile
company at its Pune and Nagpur plants in the year
2009.

Study the pie charts and an swer the ques tions

6. If the Nagpur plant pro duced 8,00,000 tyres, then the
num ber of horns pro duced by it was.

Ùeefo veeiehegj mebÙe$e Éeje 8,00,000 šeÙej yeveeÙes ieÙes, lees yeleeÙes
Fme Ùeb$e Éeje efkeâleves YeeWhet Glheeoefle efkeâÙes ieÙes~
(a) 12,000 (b) 18,500

(c) 75,000 (d) 60,000

7. How many per cent more tubes were pro duced at the
Pune plant than those pro duced at the Nagpur plant?

hegCes mebÙeb$e ceW efkeâleves : DeefOekeâ šdÙetye veeiehegj mebÙeb$e keâer leguevee ceW
Glheeoefle efkeâÙes~
(a) 14 % (b) 12% (c) 8% (d) 3%

8. The ra tio of num ber of horns pro duced at Nagpur plant
to that pro duced at Pune plant is

veeiehegj leLeehegCes kesâ mebÙe$eeW Éeje Glheeoefle YeeshegDeeW keâer mebKÙee keâe
Devegheele yeleeÙes~
(a) 3 : 7 (b) 10 : 3 (c) 7 : 3 (d) 7 : 10

Directions 9-11 In question the pie-chart given here
shows expenditure incurred by a family on various
items and their savings. Study the chart and answer
the questions based on the pie-chart.
Fme heeF&-Ûeeš& ceW Skeâ heefjJeej Éeje efJeefYevve heoeW hej efkeâÙee ieÙee
KeÛe& Deewj Gvekeâer yeÛele keâes oMee&Ùee ieÙee nw~ Ûeeš& keâe DeOÙeÙeve keâjs
Deewj heeF&-Ûeeš& hej DeeOeeefjle ØeMveeW keâe Gòej oW~

9. If the monthly in come is Rs.36000  then the
yearly sav ings is:

Ùeefo ceeefmekeâ DeeÙe ®0 36000 nw lees Jeeef<e&keâ yeÛele nw—
(a) Rs. 72000 (b) Rs. 60000

(c) Rs. 74000 (d) Rs. 70000
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10. If the ex pen di ture on ed u ca tion is Rs. 1600 more than
that of hous ing then the ex pen di ture on food is:
Ùeefo efMe#ee hej KeÛe& cekeâeve KeÛe& mes ®0 1600 DeefOekeâ nw lees
Yeespeve KeÛe& nw
(a) Rs. 6000 (b) Rs. 12000
(c) Rs. 7000 (d) Rs. 3333

11. The ra tio of ex pen di ture on food to sav ings is:
Yeespeve KeÛe& Deewj yeÛele keâe Devegheele nw
(a) 2 : 1 (b) 3 : 1 (c) 3 : 2 (d) 10: 9

Directions (Q. 12-16) : Study the following graph and
answer accordingly:
The following graph shpws the regional distribution of
aid from DAC members
veerÛes efoS ieSs «eeheâ keâes heÌ{keâj ØeMveeW kesâ Gòej oerefpeS Ùen «eeheâ
DAC cescyeme& keâes #ew$eerÙe efJelejCe meneÙelee keâes oMee&lee nw

12. If the High-in come coun tries get Rs. 6.4 bil lion in aid in
2008, then aid re ceived by Mid dle East & North Af rica is
how much more than that by East Asia & Pa cific in the
same year ?
Deiej GÛÛe DeeÙe osMeeW keâes meved 2008 ceW 6.4 Dejye ®heÙes efceueles nQ
leye meved 2008 ceW efceef[ue F&mš leLee veeLe& Deheâjerkeâe keâes efceueer jeefMe
F&mš SsefMeÙee Je hesefmeefheâkeâ keâes efceueer jeefMe mes efkeâleveer pÙeeoe nw?
(a) Rs. 2.6 bil lion (b) Rs. 3.4 bil lion
(c) Rs. 3.6 bil lion (d) Rs. 2.4 bil lion

13. If the to tal aid re ceived by all the receipient coun tries in
2008 and 2013 is the same, then how many coun tries
got more aid in 2013 than in 2008?
Deiej meved 2008 Je meve 2013 ceW meYeer osMeeW keâes efceueer kegâue
jeefMe yejeyej nw lees meved 2013 cebs efkeâleves osMeeW keâes meve 2008 keâer
leguevee ceW pÙeeoe meneÙelee efceueer nw?
(a) Four (b) Three (c) Five (d) Two

14. If Latin Amer ica & Ca rib bean coun tries get Rs. 6 bil lion
in aid in 2013, then aid re ceived bu Sub-Sa ha ran Af rica
is what per cent more than East Asia & Pa cific ?
Deiej uewefšve Decesefjkeâe Je kewâjerefyeÙeve osMeeW keâes meve 2013 ceW 6
Dejye [euej ®0 efceues nes lees meye menejve keâer jeefMe F&mš FbefC[Ùee
Je hesefmeefheâkeâ mes efkeâleveer ØeefleMele pÙeeoe nw?
(a) 71.42% (b) 65.43% (c) 75.32% (d) 80.41%

15. If the to tal aid re ceived by all the coun tries in 2008 and
2013 was Rs. 50 bil lion and Rs.45 bil lion re spec tively,
then which group of coun tries show the min i mum
dif fer ence be tween 2013 and 2014 ?
Deiej meve 2008 Je 2013 ceW efJe%eeheve Éeje kegâue 50 efyeefueÙeve
leLee 45 efyeefueÙeve Øeehle ngS, leye keâcheveer keâe keâewve-mee Yeeie
2013-14 ceW meyemes keâce Devlej oMee&lee nw?
(a) Eu rope & Cen tral Asia
(b) High-in come coun tries
(c) South Asia
(d) Mid dle East & North Af rica
(e) Latin caribian Amer ica

16. The aids re ceived by Mid dle East & North Af rica in 2008
and by Eu rope & Cen tral Asia in 2013 are Rs. 10.5
bil lion and Rs. 2.4 bil lion re spec tively. What is the ra tio
be tween the to tal aid re ceived by all the coun tries in
2008 to that in 2013?
efceef[ue F&mš Je veeLe& DeØeâerkeâe leLee meve 2013 ceW Ùetjeshe Je mesvš̂ue
SsefMeÙee keâes efceueer meneÙelee ›eâceMe: 10.5 Dejye Je 2.4 Dejye
®heÙes jner nw~ meve 2008 ceW meYeer osMeeW Éeje Deefpe&le DeeÙe keâe meve
2013 ceW Deefpe&le DeeÙe mes keäÙee Devegheele nw?
(a) 6 : 5 (b) 3 : 2 (c) 5 : 6 (d) 2 : 3

Directions (17-21) : Study the following pie-charts
carefully and answer accordingly:

The fol low ing pie-charts show the num ber of stu dents
appearinf in IIT ex am i na tion from dif fer ent states in
two suc ces sive years. The to tal num ber of stu dents
ap pear ing in 2011 and 2012 was 2.50 lakhs and 2.40
lakhs re spec tively.

efveÛes efoÙee ieÙee heeF& Ûeeš& oes ›eâceeiele Je<eeX ceW efJeefYevve jepÙeeW mes
DeeF&0DeeF&0šer0 GcceeroJeejeW keâes oMee&lee nw~ 2011 ceW kegâue
2.50 ueeKe leLee 2012 ceW kegâue 2.40 ueeKe efJeÅeeLeea hejer#ee ceW
yew"W

17. In the case of which of the fol low ing states we get to see
the max i mum dif fer ence be tween the num ber of
stu dents ap pear ing in 2011 to that in 2012 ?

efvecve ceW mes efkeâme jepÙe mes efJeÅeeefLe&ÙeeW keâer mebKÙee ceW 2011 Je
2012 ceW meyemes pÙeeoe Devlej nw?
(a) UP (b) TN

(c) Rest (d) None of these
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18. The num ber of stu dents ap pear ing from Bihar in 2012
was per cent of that from WB in 2011 ?

2012 ceW efyenej mes Meeefceue efJeÅeeefLe&ÙeeW keâer mebKÙee 2011 ceW
WB kesâ efJeÅeeLeeaÙeeW keâer mebKÙee keâe efkeâleves ØeefleMele Leer?
(a) 96% (b) 90% (c) 111% (d) 94%

19. The to tal num ber of stu dents ap pear ing from Bihar and
UP to gether in 2011 is ap prox i mately equal to that from
which of the fol low ing pairs of states in 2012 ?

2011 ceW Ùet0heer0 Je efyenej mes kegâue efJeÅeeefLe&ÙeeW keâer mebKÙee
2012 ceW efkeâve oes jepÙeeW kesâ kegâue efJeÅeeLeeaÙeeW keâer mebKÙee kesâ
ueieYeie yejeyej nesieer?
(a) Delhi, TN (b) Delhi, Rest

(c) UP, WB (d) UP, Rest

20. If there were 3000 stu dents ap pear ing in the
ex am i na tion from Delhi in 2012, find the
per cent age num ber of stu dents ap pear ing
from Delhi in 2012.

Deiej 2012  ceW efouueer mes 3000 efJeÅeeLeea hejer#ee ceW yew"s lees
efouueer mes 2012 cebs efkeâleves ØeefleMele efJeÅeeLeeaÙeeW keâes ØeJesMe efceuee?
(a) 10% (b) 18% (c) 12% (d) 15%

21. The num ber of stu dents who ap peared in 2011 from
Bihar is ap prox i mately what per cent of that in 2012
from WB ?

2011 ceW efyenej mes efJeÅeeLeeaÙeeW keâer mebKÙee, 2012 ceW WB mes
efJeÅeeLeeaÙeeW keâer mebKÙee keâe ueieYeie efkeâleves ØeefleMele nw?
(a) 75% (b) 80% (c) 85% (d) 7

 anskwer key

1. (b) 2. (a)  3. (d) 4. (a) 5. (a) 6. (c) 7. (b)  8. (a) 9. (b) 10. (b)
11. (a) 12. (d) 13. (b) 14. (a)  15. (d)  16. (c)  17. (c)  18. (a)  19. (d)  20. (d)

 21. (b)
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